IR 3
XML BHEA A F X (ARESIREMEHRE)

(?xml version="1.0" encoding="UTF-87?>
<MCCI_IN200100UV01 ITSVersion="XML_1.0" xsi:schemalocation="urn:hl7-org:v3 MCCI_IN2001000V0l. xsd” xmlns="urn:hl7-org:v3”
xminsixsi="http://www. w3. org/2001/5MLSchema—instance™>
<id extension="N.1,2" root="2, 16. 840. 1. 113883. 3. 989.2.1.3. 22" />
<l— N.1.2: Batch Numher —>
{creationTime value="20101214151617"/>
¢1— N.1.5: Date_of Batch Transmission ——>
{responseModeCode code="D"/>
<interactionId extension="MCCI_IN200100GV01" root="2, 16, 840. 1, 113883. 1.6"/>
{name code="N.1,1" codeSystem="2, 16, §40. 1. 113883.3.989.2. 1. 1. 1" codeSystemVersion="1.017/>
¢l==N.1.1: Type of Messages in Batch —>
¢|— Message #1 —> :
<PORR_IN0O49016Uv>
{id extension="N.2.r.1” root="2. 16.840.1.113883.3.989.2.1. 3. 1"/>
{]— N.2.r.1: Message Identifier —>
{ereationTime value="20101214151617"/>
{1— N.2.r.4: Date of Message Creation —> .
{interactionId extension="PORR_IN049016UV" root="2, 16.840. 1, 113883. 1.6"/>
{processingCode code="P"/>
{processinglodeCode code="T"/>
{acceptAckCode code="AL"/>
{receiver typeCode="RCV™>
{device classCode="DEV" determinerCode="INSTANCE">
{id extension="N.2.r. 3" root="2.16.840.1. 113883.3.989.2.1.3.12"/>
<{l— N.2.1.3: Message Receiver Identifier —>
{/device> )
{/receiver>
{sender typeCode="SND">
<device classCode="DEV" determinerCode="INSTANCE">
<id extension="N.2.r.2" root="2.16.840. 1. 113883.3.989. 2. 1.3. 11"/>
<]— N.2.1.2: Wessage Sender Identifier —>
{/device>
{/sender>
{controlActProcess classCode="CACT” moodCode="EVN™>
{code code="PORR_TE049016U¥" codeSystew="2. 16.840. 1. 113883. 1. 18"/>
¢l— HLT Trigger Event ID —>
<effectiveTime value="20101214151617"/>
<]— C.1.2: Date of Creation —>
{subject typeCode="SUB]™>
<investigationEvent classCode="INVSTG"™ moodCode="EVN">
<id extension="C.1.1" root="2.16.840.1,113883.3.989.2.1.3.1"/>
<I==€.1.1: Sender's (case) Safety Report Unigque Identifier —>
<id extension="C.1,8.1" root="2.16.840.1.113883.3.980.2.1.3.2"/>
<l— C.1.8.1: Worldwide Unique Case Identification Number —>
<id extension="J2.1b" root="2.16.840.1.113883.3.989.5.1.3.2.3.1"/>
<|— @eaj2. 1b: WiES (#B5) —
<code code="PAT_ADV_EVNT” codeSystem="2. 16.840. 1. 113883.5.4"/>
<textrH. I</text>
¢l== 1. 1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant
Information —>
{statusCode code="active”/>
<I--8eaj2. 7.1 £T. KETES —
<effectiveTime>
<low value="20090101"/>
¢{!—— C.1.4: Date Report Was First Received from Source ——»
</effectiveTime>
<availabilityTime value="20090¢1017/>
<I— €, 1.5: Date of Most Recent Information for This Report -—>
<reference typeCode="REFR™>
{document classCode="DOC” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989.2. 1. 1. 27" codeSystemYersion="1. 0"



displayName="documentsHeldBySender” />
<titledC. L6, L, 1</title>
¢I=- C.1.6.1.1. 1: Documents Held by Sender (repeat as necessary) #1 —>
<text mediaType="application/pdf” representation="B64">C.1.6. L. r. 2<{/text)>
¢!— C.1.6.1.r.2: Included Documents #1 —>
{/document>
{/reference>
{reference typeCode="REFR">
<dogument classCode="DOC” moodCode="EVN™>
{code code="1" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 27" codeSystemVersion="1. 0"
displayName="documentsHeldBySender” />
<title>f. 1.8 11 3/titled
Q“CJﬁJmJIMWmmS&Mby&MM(mmﬂasmwmaﬂ#2">
{text mediaType="image/jpeg” representation="B64" compression="DF">C. 1. 6. 1.r.2¢/text>
<I— C.1.6.1.r.2: Included Documents #2 —>
{/document>
{/reference>

{reference typeCode="REFR">
<{decument classCode="DOC" moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883.3. 989, 2. I. 1. 27" codeSystemVersion="1.0"
displayName="1iteratureReference”/>
CtitledJ2. 17. r</title>
I— @geJ2. 17. r B/ FEOSE #1 —
<text mediaType="application/pdf” representation="B64">C. 4. r. 2</text)
{I— C.4.r.2: Included Documents #1 —>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
{}— C.4.r.1: Literature Reference(s) #1 —>
{participation typeCode="AUT"}
{assignedEntity classCode="ASSIGNED">
{represented0rganization classCode="0RG™ determinerCode="INSTANCE™>
<asLocatedEntity ¢lassCode="LOCE™>
{location classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="J2.15.1" codeSystem="1.0.3166.t.2.2"/>
<I-- geeJz. 15.r RXE #1 —>
{/location>
{/aslocatedEntity>
</representedOrganization’
{/assignedEntity>
{/participation>
</document>
{/reference>
{reference typeCode="REFR™>
{document classCode="DOC” woodCode="EVN™>
<code code="2" codeSystem="2. 16. 840. 1, 113883, 3.989. 2. 1, 1. 27" codeSystemVersion="1. 0"
displayName="1iteratureReference”/> ’
(title>J2. 17.r</title>
<I— 808J2.17.r RB/HMAOSE #2 —
<text mediaType="application/pdf” representation="B64">C.4.r. 2{/textd
¢l— €.4.1.2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
¢l-- C.4.r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{represented0rganization classCode="0RG" determinerCode="INSTANCE">
{asLocatedEntity classCode="LOCE">
{location classCode="COUNTRY" determinerCode="INSTANCE">
{code code="]2.15.+" codeSystem="1. 0. 3166. 1. 2.2/>
<1-- eaeJ2. 15.r L¥E #2 —
{/location>
{/asLocatedEntity>
{/representedOrganization>
{/assignedEntity>
{/participation®
</document>
{/reference>
{component typeCode="COMP">
{adverseBEventAssessment classCode="INVSTG” moodCode="EVN">
{subjectl typeCode="SBJ">
{primaryRole classCode="INVSR]">



<playerl classCode="PSN” determinerCode="INSTANCE™>
<name>D, 1¢/name>
<!— D.1: Patient (name or initials} —>
CadministrativeGenderCode code="D.5" codeSystem="1.0.5218"/>
{I—D.5 Sex —>
<birthTime value="200801017/>
{l--D.2, 1: Date of Birth —>
{deceasedTime value="20090101"/>
{l--D.9.1: Date of Death —>
{asIdentifiedEntity classCode="IDENT">
{id extension="D.1.1.17 root="2. 16.840. 1. 113883.3.989.2.1.3.77/>
<¢|— D.1.1.1: Patient Medical Record Number(s) and Scurce{s) of the Record Number (GP Medical
Record Number) —>
{code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 4™ codeSystemVersian="1.0"
displayName="GP" />
{/asldentifiedEntity>
<asTdentifiedEntity classCode="IDENT">
<id extension="D.1.1. 2" root="2.16.840. 1. 113883.3.989.2. 1. 3.8"/>
<!— .1, 1.2: Patient Medical Record Number(s} and Source(s) of the Record Number (Specialist
Record Number) =->
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 4" codeSystemVersion="1. 0"
displayName="Specialist”/>
¢/asldentifiedEntity>
<asIdentifiedEntity classCode="IDENT">
{id extension="D.1.1.3" root="2.16.840. 1. 113883.3.989.2.1.3.9"/>
<|— D.1.1, 3: Patient Medical Record Number (s) and Source(s) of the Record Number (Hospital Record
Number) —> :
{code code="3" codeSystem="2. 16.840. 1. 113883. 3. 989.2, 1. 1. 4" codeSystemVersion="1.0"
d1splayName— Hospital Record”/> '
</asldentifiedEntity>
<asldentifiedEntity classCode="IDENT">
<id extension="D. 1. 1.4" root="2. 16.840. 1. 113883. 3. 989. 2. 1. 3. 16" />
<|—— D.1.1.4: Patient Medical Record Number{s) and Source(s) of the Record Number (Invest1gat10n
Numbey) —>
{code code="4" codeSystem="2, 16.840. 1. 113883. 3.989. 2. 1. 1. 4" codeSystemVersion="1. 0"
displayName="Investigation”/>
{/asldentifiedEntity>
{role classCode="PRS™>
{code code="PRN" codeSystem="2. 16. 840. 1. 113883. 5.111"/>
{associatedPerson classCode="PSN” determinerCode="INSTANCE™>
<name>D. 10, 1{/nhame>
<1-- D.10. 1: Parent Identification —>
{administrativeGenderCode code="D.10.6" codeSystem="1.0.5218"/>
<!--D.10.6: Sex of Parent —>
<birthTime value="20090101"/>
<!--D.10.2.1: Date of Birth of Parent -~
{/associatedPerson>
<{subject0f2 typeCode="SB]™>
{observation classCode="0BS" moodCade="EVN">
{code code="3" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="age” />
<value xsi:type="PQ" value="10" unit="D.10.2.2b"/>
<I~-D.10.2.2a: Age of Parent (number) ——>
<l=——D.10.2.2b: Age of Parent (unit) —>
</observation>
{/subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
<code code="22" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="lastMenstrualPeriodDate”/>
Cvalue xsi:type="TS" value="20090101 />
<l-- D.10.3: Last Menstrual Period Date of Paremt —>
{/observationy
{/subjectOf2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS” meodCode="EVN">
<code code="7" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="bodyWeight”/>
Cvalue xsi:type="PQ" value="50" unit="kg"/>



<l-- B. 10, 4: Body Weight (kg) of Parent —>
</observation®
{/subject0f2>
{subject0f2 typeCode="SB]">
{cbservation classCode="0BS” moodCode="EVN">
{code code="17" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="height”/>
<value xsi:type="PQ" value="160" unit="en"/>
¢!-- D.10.5: Height (cm) of Parent —>
</observation>
</subject0f2>

<subjectOf? typoCodo="SB]™>
<organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 20" codeSystemVersion="1,0"
displayName="relevantHedicalHistoryAndConcurrentConditions”/>
{component typeCode="COMP">

{observation classCode="0BS" moodCode="EVN">

<code code=D. 10, 7. I.T. 10" codeSystem=" 2. 16. 840, 1. 113383.6. 163
codeSystemYersion="D. 10. 7. 1.r. 12" />
<I— D.10.7.1. 1. 1a: MedDRA Version for Medical History #1 ~—>
<!— D.10.7. 1. 1. Ib: Medical History {disease / surgical procedure/ etc.) (MedDRA code) #1 -

{effectiveTime xsi:type="IVL_TS">
<low value="200901017/>
<1—D.10,7.1.1r.2: Start Date #1 —>
<high value="200001017/>
<=~ D.10.7.1.r.4: End Date #1 —>
{/effectiveTime>
<outboundRelationship2 typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2. 16. 840. 1. 113883.3.989.2.1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="ED">D.10.7.1.1.5¢/value}
¢1-—D.10.7.1.1.5: Comments #1 —>
</observation>
{/outboundRelationship2>
{inboundRelationship typeCode="REFR™>
<observation ¢lassCode="0BS” moodCode="EYN")
{code code="13" codeSystem="2, 16. 840, 1. 113883, 3, 989. 2. 1. 1. 18" codeSystemYersion="1.1"
displayName="continuing”/>
' {value xsi:type="BL” value="true”/>
<1— D.10.7.1.r. 3: Continuing #1 —>
{/observation
</inboundRelationship)
{/observation>
</component>
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
<code code="D.10.7.1.r.1b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D. 10. 7. 1.r. 1a"/>
"<!— D.10.7. 1.r.1a: MedDRA Version for Medical History #2 —>
<!— D.10.7. 1. 1. 1b: Medical History (disease / surgical procedure/ etc.) (MedBRA code) #2 —
->
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
<|— D.10.7.1.xr. 2! Start Date #2 —
<high value="200901017/>
<|—D.10.7. L. r.4: End Date #2 —>
</effectiveTime>
<outboundRelationship2 typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN™>
{code code="10" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
{value xsiitype="ED">D. 10,7, 1.r.5¢/value>
<1—D.10.7. 1. r.5: Comments #2 ~=>
</observation>
{/outboundRelationship2>
{inboundRelationship typeCode="REFR">
{observation ¢lassCode="0BS” moodCode="EYN">



<code code="13" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 13" codeSystemVersion="1.1"
displayName="continving”/>
{value xsi:type="BL” value="true"/>
<!— D.10.7.1.r. 3: Continuing #2 >
{/observation>
</inboundRelationship>
{/observationd
</component>
{component typeCode="COMP”">
{observation classCode="0BS" moodCode="EVN">
‘ {code code="18" codeSystem="2, 16, 840, 1, 113883, 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="historyAndConcurrentConditionText”/>
{value xsi:type="ED">D. 10. 7. 2¢/value>
<1— B, 10, 7.2: Text for Relevant Medical History and Concurrent Conditions of Parent ——
{/observation>
{/component>
{/organizer>
{/subject0f2>
{subject0f2 typeCode="SB]">
<organizer classCode="CATEGORY” moodCode="EVN">
{code code="2" codeSystem="2, 16. 840, 1, 113883. 3, 989, 2. 1. 1, 20" codeSystemVersion="1. 0"
displayName="drugHistory”/>
{component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN™>
{effectiveTime xsi:type="IVL_TS">
<low value="20080101"/>
¢le= D.10.8. 7. 4: Start Date #1 —>
<high value="20090101"/>
<l— D.10.8.1.5: End Date #1 —>
{/effectiveTime>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST">
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{code code="D. 10.8.r.2b" codeSystem="TBD-MPID" codeSystemVersion="D.10.8.r1.2a"/>
<!— D.10.8.r. 2a: MPID Version Date / Number #1 —>
{!— D.10.8.x. 2b: Medicinal Product Identifier (MPID) #1 —>
<name>l. 10. 8. 1. 1{/name>
<}— D.10.8.x.1: Name of Drug as Reported #1 —>
</kindOfProduct>
{/instance0fKind>
{/consumable> )
{outboundRelationship2 typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2, 16. 840, 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
‘ <value xsi:type="CE” code="]. 10.8.r.6b" codeSysten="2. 16. 840. I. 113883. 6. 163~
codeSystemVersion="D. 10. 8.r.6a"/> .
<!-=D.10.8.1.6a: MedDRA Version for Indication #1 -
<|— D, 10.8.r.6b: Indication (MedDRA code) #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
<observation classCode="0BS” moodCode="EVN">
{code code="29" codeSystem="2, 16, 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1, 17
displayName="reaction”/> . ]
{value xsi:type="CE” code="D. 10.8.r.7b" codeSystem="2. 16, 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. 7Ta”/>
¢!— D.10.8.r.7a: MedDRA Version for Reaction 1 —>
¢!--D.10.8.1.7b: Reactions (MedDRA code) #1 —>
{/cbservation>
{/outboundRelationship2>
{/substanceAdministration>
</component>
{component typeCode="COMP™>
{substanceAdministration classCode="SBADM” moodCade="EVN">
{effectiveTime xsi:type="IVL.TS™>
<low value="20090101"/>
<l— D.10.8.r.4: Start Date #2 —>
<high value="20090101°/>



¢l~=D.10.8,1,5: End Date #2 —>
{/effectiveTime>
{consumable typeCode="CSM">
<instance0fKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<code code="D. 10.8.r. 3b” codeSystem="TBD-PhPID" codeSystemVersion="D. 10.8.r.3a"/>
<l-- D.10.8.r. 3a: PhPID Version Date / Number #2 —>
<!— 1,10, 8.r. 3b: Pharmaceutical Product Identifier (PhPID) #2 —>
<name>D. 10. 8. r. 1</name>
<l==D.10.B.r. }: Name of Drug as Reported #2 —>
</kind0fProduct>
¢/instanceCflind>
{/consumable
<outboundRelationship2 typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">

<code code="19" codeSystem="2. 16. 840. 1. 113883.3.989. 2, 1. 1. 19” codeSystemVersion="1.1"
displayName="indication”/>

- <value xsiitype= CE code="D,10.8.T.6b" codeSystem= 2.16.840. 1. 113883. 6, 163
codeSystemVersien="D. 10. 8. 1. 62" />
<|= D.10.8.r, 6a: MedDRA Version for Indication #2 ——>
<!-~D.10.8.r.6b: Indication (MedDRA code} #2 —>
</observation>
</outboundRelaticnship2>
<outbhoundRelationship2 typeCode="CAUS™>
{abservation classCode="0BS" moodCode="EVYN™>
{code code="29" codeSystem="2, 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="reaction”/>
<value xsi:type="CE" code="D. 10.8.r.7b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10, 8. x. 7a” />
<!— D.10.8.r. 7a: MedBRA Version for Reaction #2 —>
<!— D.10.8.r. 7Tb: Reactions (MedDRA code) #2 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
{/component}
{/organizer>
{/subjectOf2>
{roler
{/playerl>
{subject0f1 typeCode="SB]">
<researchStudy classCode="CLNTRL" moodCode="EVN">
{id extension="C.5. 3" reot="2. 16.840. 1. 113883.3.989. 2. 1. 3.5"/>
{!— C.5.3: Sponsor Study Number —)
{code code="C. 5.4" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 8" codeSystenVersion="1.0"/>
<!— (.5.4: Study Type Where Reaction(s} / Event(s) Were Observed —=>
{titledC. 5. 2¢/title>
¢(I— €.5.2: Study Name —>
Cauthorization typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN">
<id extension="C.6.1.r.1" root="2.16.840. 1. 113883. 3. 989.2. 1. 3.6"/>
<I-- C.5.1.r.1: Study Registration Number #1 —>
<author typeCode="AlT">
{territorialAuthority classCode="TERR">
{governingPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="C.5.1.r, 2" codeSystem="1.0, 3166, 1. 2. 27/>
<l-— C.5.1.r.2: Study Registration Country #1 —>
{/governingPlace>
</territorialAuthority>
{/author>
</studyRegistration>
{/authorization>
{authorization typeCode="AUTH">
{studyRegistration classCode="ACT" moodCode="EVN">
<id extension="C,5.1.r.1" root="2.16.840. 1. 113883. 3. 989. 2. 1. 3. 6"/>
<!— C.5.1.r.1 Study Registration Number #2 —>
{author typeCode="AUT™>
{territorialAuthority classCode="TERR™>
{governingPlace classCode="COUNTRY" determinerCode="INSTANCE">
{code code="C.5.1.1.2" codeSystem="1.0.3166.1.2.2"/>



¢{I==£.5.1.r.2: Study Registration Country #2 —>
{/governingPlace>
{/territorialAuthority>
</author> '
{/studyRegistration>
{/authorization>
{/researchStudy>
{/subject0f1> -
{subject0f2 typeCode="SBJ]">
<observation classCode="0BS" moodCode="EVN">
{code code="3" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="age”/> :
<value xsi:type="PQ" value="10" unit="D.2.2b"/>
<l— D.2.2a: Age at Time of Onset of Reaction / Event (number} —>
¢]— D.2.2b: Age at Time of Onset of Reaction / Event (unit) —->
<fobservation> .
</subject0f2>
{subject0f2 typeCode="SBI™>
{observation classCode="0BS" moodCode="EVN™> .
{code code="16" codeSystem="2, 16. B840, 1. 113863. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="D.2.2.1b"/>

¢{I— D.2.2.1a: Gestation Period When Reaction / Event Was Observed in the Foetus (number) —>
<l— D.2.2.1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit} —-->

{/observation}
{/subject(f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN™>
<code code="4" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="ageGroup”/>
{value xsi:type="CE” code="D, 2. 3" codeSystem="2. 16. 840, 1. 113883.3.989.2.1.1.9”
codeSystemVersion="1. 0"/> .
¢!— . 2.3: Patient Age Group (as per reporter) —>
{/observation>
</subject0f2>
{subject0f2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN">
{code code="7" codeSystem="2. 16.840. 1. 113883.3.989. 2, 1. 1. 19” codeSystemVersion="1. 1" "
displayName="bodyWeight*/> ‘
<value xsi:type="PQ" value="48.2" unit="kg"/>
{!— D.3: Body Weight (kg) ——>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN">
" <code code="17" codeSystem="2, 16. 840. I. 113883. 3. 939. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="height”/>
{value xsi:type="PQ" value="152" unit="cm"/>
<!— D.4: Height (cm) —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ">
<observation classCode="0BS" moodCode="EVN">
<code code="22" codeSystem="2. 16. 840. 1. 113883. 3, 389, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="lastMenstrualPeriodDate”/> .
{value xsi:type="TS" value="20090101"/>
{l=- D.6: Last Menstrual Pericd Date —
{/observation> -
{/subjectOf2>
(subjectOf2 typeCode="SB]™>
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 20” codeSystemVersion="1. 0"
displayName="relevantMedicalHistoryAndConcurrentConditions”™/>
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="E¥N">

!

' {code code="D.7.1.1. 1b” codeSystem="2. 16. 840, 1, 113883. 6. 163" codeSystemVersion="D. 7. l.r.1a" />

<I—D.7.1.r la: MedDRA Version for Medical History #1 —>

<l— D.7.L.r. 1b: Medical History (disease / surgical procedure / etc.) (MedDRA code) #1 —->

{effectiveTime xsi:type="IVL_TS™>



<low value="20090101"/>
<!— D.7.1. 1. 2: Start Date #1 —>
<high value="20090101"/>
<!— D.7.1.r.4: End Date #1 —>
¢/effectiveTime>
<outboundRelationship2 typeCode="COMP">
{observation classCode="0BS” moodCode="EVN™>
<code code="10" codeSystem="2. 15. 840, 1. 113883. 3. 989. 2, 1. i. 19" codeSystemVersion="1.1"
displayName="comment” />
<value xsi:type="ED">D.7.1.r.5¢/value>
<d— D.7.1.1.5: Comments #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="EXPL">
<observation classCode="0BS” moodCode="EVN"> .
{code code="38" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="familyHistory™/>

{valte xsi:type="BL” value="true"/>
<!— b,7.1,r.6: Family History 1 —>
{/observation>
¢/outboundRelationship2»
{inboundRelationship typeCode="REFR"> )
{observation classCode="0BS" moodCode="EVN™>
{code code="13" codeSystem="2. 16, 840, 1. 113883, 2. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”/>
{value xsi:type="BL" value="true”/>
<I— D.7.L 1.3 Continuing i —>
{/observation>
</inboundRelationship>
{/observation)
{/component>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN™>
{code code="D.T.l.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystenVersion="D.7.1.r.1a"/>
{!— D.7.1.r. la: MedDRA Version for Medical History #2 —>
{l==D.7. 1. r. 1b: Medieal history {disease / surgical procedure / etc.) (MedDRA code) #2 —>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
<I—D.7.1.r.2: Start Date 2 —>
<high value="20090101"/>
<l— D.7.1.r.4: End Pate #2 —>
<feffectiveTime> .
{outboundRelationship2 typeCade="COMP">
{observation classCode="0BS" mcodCode="EVN">
{code code="10" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="], 1~
displayName="comment”/>
{value xsi:type="ED">D. 7. 1.r.5{/value>
<I— D.7.1L.r.5: Comments #2 ——>
{/observation)
{/outboundRelationship2> -
<outboundRelaticnship2 typeCode="EXPL">
{observation classCode="0BS" moodCode="EVN">
<code code="38" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="familyHistory”/>
<value xsi:type="BL" value="true™/>
<!~ B.7.1.r.6: Family Bistory #2 —
{/observation>
{/outboundRelationship2>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code cade="13" codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="continuing”/> .
{value xsi:type="BL" value="true”/>
<I— D.7.1.1.3: Continuing #2 —>
{/observation>
</inboundRelationship>
{/observation>
{/component>
{commponent typeCode="COMP">



<observation classCode="0BS” moodCode="EVN">
{code code="18" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="historyAndConcurrentConditionText”/>
<value xsi:type="ED">D.7.2{/value>
{!-— D.7.2: Text for Relevant Medical History and Concurrent Conditions (not including reaction
/ event) —>
{/observation>
¢/component>
{component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
{code ¢code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="conconitantTherapy” />
{value xsi:type="BL" value="true”/>
{l=-=D.7.3: Concomitant Therapies —>
{/observation>
{/component>
<{/organizer>
{/sub jectOf2>
{subject0f2 typeCode="SB]">
{organizer classCode="CATEGORY” moadCode="EVN™>
{code code="2" codeSystem="2, 16, 840, 1, 113883. 3. 989. 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="drugHistory™/>
{component typeCode="COMP")>
{substanceAdministration classCode="SBADM” moodCode="E¥N">
{effectiveTime xsi:type="IVL_IS">
<low value="20090101"/>
¢l-~- D.8.r.4: Start Date #1 —>
<high value="200901017/>
{!— I 8.r.5: End Date #1 -->
{/effectiveTime>
{consumable typeCode="CSH™>
{instanceDfKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
<code code="D.8.r.2b" codeSystem="TBD-MPID” codeSystemVersion="D.8.r. 2a"/>
<!— D.8.r.2a: MPID Version Date / Number #1 —>
<!— B.8.r.2b: Medicinal Product Identifier (MPID) #1 —->
<name>D. 8. r. 1{/name>
<I— D.8 r. 1! Name of Drug as Reported #1 ——>
</kind0fProduct>
</instance0fKind>
{/consumable>
{outboundRelaticnship2 typeCode="RSON">
{observation classCode="0B5" moodCode="EVN">
{code cade="19" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystenVersion="1, 17
displayName="indication”/>
<value xsi‘type="CE” code="D.8.r.6b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. & r.6a"/>
<l=~ D.8.1r.6a: MedDRA Version for Indication #1 —
<!— D.8.r.6b: Indication (MedDRA code) #1 —>
{/observation>
{/outboundRelationship2>
<{outboundRelationship2 typeCode="CAUS™>
{observation classCode="0BS” moodCode="EVN">
<code code="29" codeSystem="2. 16. 840. 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemYersion="1, 1%
displayName="reaction”/> ‘
<value xsi:type="CE” code="D.B.r.7b"” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVYersion="D.8.r. 7a"/>
{l~~ D.8.1.Ta: MedDRA Version for Reaction #1 —>
¢}~ D.8.r.7b: Reaction (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
{/component>
{component typeCode="COMP™>
¢substanceAdministration classCode="SBADM” moodCode="EVN™)>
{effectiveTime xsi:type="IVL_TS"™>
{low value="20090101"/>
{!— D.8.r.4: Start Date #2 —>
<high value="200901017/>



¢!— D.8.r.5: End Date #2 —>
{/effectiveTine>
{consumable typeCode="CSHM™>
<instance0fKind classCode="INST"> ]
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
{code code="D.8.r.3b" codeSystem="TBD-PhPID" codeSystemVersion="D.8.r.3a"/>
<!— D, 8.1, 3a: PhPID Version Date / Number =~
<! D.8.r. 3b: Pharmaceutical Product Identifier (FWPID) #2 —>
<name>D. 8. r. 1{/nane>
<}— D.8.r.1: Name of Drug as Reported #2 —>
</kindOfProduct>
{/instancelfKind>
{/consumable>
{outboundRelationship? typeCode="RSON">
{observation classCode="0BS” mcodCode="EVN"}
{code code="19" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="indication”/> - : ’

<value xsi:type="CE" code="1.8.r.6b" codeSystem="2. 16. 840. 1. 113883, 6. 163
codeSystenVersion="D. 8.1, 6a" />
<!-- D.8.1.6Ga: HedDRA Version for Indication #2 —>
<|— D.8,1,Bb: Indication (MedDRA code) #2 ——>
</observation> )
{/outboundRelationship2>
<outhoundRelationship2 typeCode="CAUS™>
<observation classCode="0BS” moodCode="EVN™>
{code code="29" codeSystem="2, 16. 840, 1. 113883. 3, 989.2. 1. 1. 19* codeSystemVersion="1.1"
displayNane="reaction”/>
<value xsi:type="CE” code="D.8&.r.7h" codeSystem="2. 16, 840. 1. 113883. 6. 163"
cedeSystemVersion="D.8.r. 7a”/>
<I— D.8.r.7a: MedDRA Version for Reaction #2 —>
<= D.8.r.7h: Reaction (MedDRA code) #2 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
{/component>
{/organizer)
</subject0f2>
{subject0f2 typeCode="SB]">
<observation classCode="0BS" moodCode="EVN™>
{code code="32" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="reportedCauseQfDeath™/>
{value xsi:type="CE” code="D.9.2. r. 1b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D.9. 2. 1. 1a"™>
<I— D.9.2.r.1a: MedbRA Version for Reported Cause(s) of Death #1 —>
I==1.9.2.r. 1b: Reported Cause(s) of Death {MedDRA code) #1 --)
originalText>D.9. 2. r. 2{/original Text>
<I— [.9.2.r.2: Reported Cause(s} of Death (free text) #1 —>
</value> -
{/observation>
{/subject0f2>
{subjectOf2 typeCode="SB]">
{observation classCode="0BS” moodCade="EVN™)>
<code code="32" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 13" codeSystemVersion="1.1"
displayName="reportedCause0fDeath”/> ’
<value xsi:type="CE” code="D.9.2.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemYersion="D.9.2.r. 1a”>
<|— D.9.2.r. la: MedDRA Version for Reported Cause{s) of Death #2 —>
<I-- D.9.2.r. 1b: Reported Cause(s) of Death (MedDRA code) #2 —>
<originalText>D. 9. 2. 1. 2{/originalText>
<!— D.9.2.r.2: Reported Cause{s) of Death (free text) #2 —>
{fealue>
</observation>
{/subject0f2>
<subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
{code code="5" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="autopsy” />
{value xsi:type="BL” value="true”/>
{!1— D.9.3 Was Autopsy Done? —>



<outboundRelationship2 typeCode="DRIV™>
{observation classCode="0BS" moodCode="EVN">
{code code="8" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 13" codeSystenVersion="1. 1"
displayName="cause0fDeath”/>
{value xsi'type="CE" code="D.9.4.1.1b" codeSystem="2. 16.840. L. 113883. 6. 163"
codeSystemVersion="1. 9. 4.1.1a">
<I—D.9.4.r. 1la: MedDRA Version for Autopsy-determined Cause(s) of Death #1 —>
<I—D.9.4.r. 1b Autopsy-determined Cause(s) of Death (MedDRA code) #1 -->
<originalText>D. 9. 4. r. 2¢/originaiText>
<1-- D.9.4.7.2: Autopsy-determined Cause(s) of Death (free text) #1 ——>
</value>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="DRIV™>
{observation classCode="0BS" moodCode="EVN">
{code code="8" codeSysten="2.16, 840, 1. 113883. 3, 989. 2. 1. I. 19" codeSystemVersion="1.1"
displayName="cause0fDeath”/> .
{value xsi:type="CE” code="D.9.4.r.1b" codeSystem="2, 16.840. 1. 113883. 6. 163"
codeSystemVersion="D. 9, 4.1. la”> ' '
{l=~D.9.4 1. 1a: ModDRA Version for Autopsy-determined Cause(s) of Death #2 —
<I— D.9.4.r. Ib Autopsy-determined Cause(s) of Death (MedDRA code) #2 —>
{originalText>D. 9. 4. r. 2{/originalText>
<1—— D.9.4.r. 2: Autopsy-determined Cause(s) of Death (free text) #2 —>
<{fvalued
¢/observation>
¢/outboundRelationship2>
{/ohservation>
{/subject0f2>
{subject0f2 typeCode="SBI™>
{observation classCode="0BS™ moodCode="EVN">
<id root="154eh889-958b-45f2-a02f~42d4d6f465TE" />
<code code="29" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS">
{low value="20090101"/>
{l— E.i.4: Date of Start of Reaction / Event #I -->
<high value="20090102"/>
<I— E.i.5: Date of End of Reaction / Event #1 —>
{/effectiveTime>
{value xsi:type="CE” code="E.1i.2.1b" codeSystem="2. 16, 840. 1. 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a">
¢!—- E.i.2. la: MedDRA Version for Reaction / Event #1 —>
<}— E.i.2. 1b: Reaction / Event (MedDRA code) #1 —>
<originalText language="E. i.1.1b™>E.i.1.1a{/originalText>
(l—— E.i.1. la: Reaction / Event as Reported by the Primary Source in Native Language #1 —>
¢I--E.i. 1, 1b: Reaction / Event as Reported by the Primary Source Language #I —>
{/value>
<location typeCode="10C">
{ocatedEntity classCode="LOCE™> )
<locatedPlace classCode="COUNIRY” determinerCode="INSTANCE™>
<code code="E, i. 9" codeSystem="1.0.3166.1.2.2°/>
¢!—— E.i.9: Identification of the Country Where the Reaction / Event Occurred #1 ——>
{/locatedPlace>
</locatedEntity> ,
{/location>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EYN™>
{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
<value xsi:type="ED">E.1i.1.2¢/value
¢l-- E.i.1,2: Reaction / Event as Reported by the Primary Source for Translation #1 ——>
{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
<code code="37" codeSystem="2. 16, 840, 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter™/> .
<value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 10"
codeSystemVersion="1.0"/>



<!=- E.i.3.1: Term Highlighted by the Reporter #1 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="FERT">
<observation classCode="0BS” moodCode="EVN"> .
{code code="34" codeSystenm="2. 16. 840. 1. 113883.3.989,2. 1.1, 18"
displayName="resul tsInDeath”/>
{value xsi:type="BL” value="true”/>
¢i~- E.i.8.2a: Results in Death #1 -~
{/obsexrvation>
{/outboundRelationship2>
<outboundRelaticnship? tymeCode="TERT"
{observation classCode="0BS” moodCode="EVN">
{code code="21" codeSystem="2, 16, 840. 1. 113883, 3.989.2.1.1. 19"
displayName="1isLifeThreatening”/>
{value zsi:type="BL” nullFlaver="NI"/>
{I— E.i.3.2b: Life Threatening #1 —>

codeSystemVersion="1.1"

»

codeSystemVersion="1.1

{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT"> _
{observation classCode="0BS" moocdCode="EVN™>
{code code="33" codeSystem="2.16. 840, 1. 113883.3.989.2.1.1,19”
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL” value="true”/>
{!-- E.i.3.2c: Caused / Prolonged Haspitalisation §1 >
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
<code code="38" codeSystem="2. 16. 840, 1. 113883. 3, 989, 2. 1. 1. 19"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI1*/>
{!— E.i.3.2d: Disabling / Incapacitating #1-->
{/observation®
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
<code code="12" codeSystem="2. 16.840. 1. 113883.3.989.2.1. 1. 19"
displayName="congenitalAnonal yBirthDefect” />
{value xsi:type="BL” nuliFlavor="NI"/>
<{{— E.1i.3.2e: Congenital Anomaly / Birth Defect #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="26" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19"
displayName="otherMedicallyImportantCondition”/>
<valtte xsi:type="BL" value="true”/>
¢!-= E.i.3.2f: Other Medically Important Condition #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCade="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="27" codeSystem="2.16. 840. 1. 113883. 3. 989, 2. 1. 1. 19"
displayName="outcome™/>

codeSystemVersion=’1.;'

codeSystemVersion="1.1"

”»

codeSystemVersion="1. 1

»~

codeSystemVersion="1, 1

codeSystemVersion="1.1"

<value xsi:type="CE” code="E.i.7” codeSystem="2. 16. 840, 1, 113883.3.989.2. 1. 1. 11"

codeSystemVersion="1. 0"/>

/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
{code code="24" codeSystem="2. 16. 840. 1. 113883, 3, 9809.2.1.1. 19"
displayName="medicalConfirmationByHeal thProfessional”/>
<value xsi:type="BL" value="true”/>

<I-- E.1.7: Outcome of Reaction / Event at the Time of Last Observation #1 —

codeSystemVersion="1. 17

{l~- E.i.8: Medical Confirmation by Healthcare Professional #1 —>

{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">



{observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16. 840, 1. 113883, 3.988. 5.1.3. 2. 1. 10" codeSystemVersion="1.0"

displayName="3%%0 - BX&0" />

codeSystemVersion="1,0

{value xsi:type="CE" code="]2.14.i" codeSysten="2. 16. 840. 1, 113883.3.989.5.1.3,2.1.8"
"/
<l— @0872.14.1 A& - BEx #1 —>
{/observation> .
{/outboundRelationship2>

{/observation>
</subject0f2>

{sub
<o

displayName="reaction”

codeSystemVersion="E, i

ject0f2 typeCede="SB]">
bservation classCode="0BS" moodCode="EVN">
<id root="2baa2Bd6-cYeB-4e6c—93e8-5b860b3142207/>
{code code="29" codeSysten="2.16. 840, 1, 113883, 3. 989. 2. 1. 1. 19”7 codeSystemVersion="1.1"
/>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢]— E.i.4: Date of Start of Reaction / Event #2 ——>
<{width value="24" unit="E.i.6b"/>
¢l~= E.i.6a: Duration of Reaction / Event (number) #2 —>
¢|— E.i.,Bb: Duration of Reaction / Event (unit) #2 —>
{/effectiveTime>
{value xsi:type="CE" code="E.1i.2.1b" codeSystem="2. 16. 840. 1. 113883, 6. 163"
L2 1a™>
¢{1— E.i.2.la: MedDRA Version for Reaction / Event #2 —>
¢l== E.i.2.1b: Reaction / Event (MedDRA code) #2 ——
{originalText language="E.i.1l.1b">E.i. 1. }a{/originalText> .
¢l— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #2 —>
¢l— E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Language #2 ——>
{/value>
{location typeCode="LOC™>
{locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
¢l— E.i.9: Identification of the Country Where the Reaction / Event Ocourred #2 —>
{/locatedPlace>
{/locatedEntity>
</location?
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
{code code="30" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="reactionForTranslation”/>

displayName="termHighl

codeSystemVersion="1.0

{value xsi:type="ED"DE. i. 1. 2¢/value>
{l=~ E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #2 —>
{/cbservation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
{code cade="37" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
ightedByReporter”/>
{value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16,840, 1. 113883. 3. 989.2.1. 1. 10"
e )
<!— E,i.3,1:Term Highlighted by the Reporter {2 —>
</observationd
</outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
{observation classCode="0B3" moodCode="EVN">
<code code="34" codeSystem="2.16.840. I.113883. 3.989. 2.1. 1. 19" codeSystenVersion="1.1"

displayName="resultsInDeath”/>

displayName="isLifeThr

{value xsi:type="BL" value="true”/>
¢]—— E.1.3.2a: Results in Death #2 —>
{/observation>
</outbhoundRelationship2>
<outboundRelationship2 typeCode="PERT">
{chservation classCode="0BS” moodCode="EVN">
{code code="21" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
eatening” />
¢value xsitype="BL" nullFlavor="NI"/>
¢I-- E.i.3.2b: Life Threatening #2 —>



{/observatian>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
: <code code="33" codeSystem="2. 16. 840, 1, 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization™/>
{value xsi:type="BL" value="true”/>
<!— E.i.3.2c: Caused / Prolonged Hospitalisation #2 ==
{/observation®
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{obssrvation classCode="0BS" moodCods="EYN">
{code code="35" codeSystem="2. 16, 840, 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullflavor="NI"/>
<l-- E.i.3.2d: Disabling / Incapacitating #2 —>
{/cbservation>

{/outboundRelationshipZ>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="12" codeSysten~"2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlaver="NI"/>
<!— E.i.3.2e: Congenital Anomaly / Birth Defect #2 —>
</observation>
{/outboundRelationship2>
LoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2.16. 840. 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true"/>
<!-- E. i.3.2f: Other Medically Important Condition #2 —>
{/observation>
{/outboundRelaticnship2>
<outboundRelationship? typeCode="PERT"}»
{observation classCode="0BS” moodCode="EVN™>
{code code="27" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="outcome”/>
<value xsi:type="CE" code="E.i.7" codeSystem="2.16.840.1.113883.3.989.2.1.1.11"
codeSystemVersion="1. 07/> '
<I— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #2 —>
{/observation>
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT"}
<observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="medicalConfirmationByHeal thProfessional”/> '
{value xsi:type="BL" value="true”/}
<l E.i.8: Medical Confirmation by Healthcare Professional #2 —>
</observation> '
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
{code code="11" codeSystem="2. 16.840. 1. 113883, 3.989. 5.1.3.2. 1. 10" codeSystemVersion="1. 0"
displayName="740 - BE&n"/>
{value xsi:type="CE” code="J2.14.i" codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.8"
codeSystemVersion="1.0"/>
<!— @@aJ2.14.i F4 - Btan #2
</observation>
{/outboundRelationship2>
</observation
{/subject0f2>
<subjectOf2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN™>
{id root="3a8626¢cb~9f1b—dea8-Balf-e0ff34430adf”"/>
{code code="29" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1. 1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS™>
{width value="24" unit="E.i.6b"/>



<{}-- E,i.6a: Duration of Reaction / Event (number) #3 —>
¢}— E.i.6b: Duration of Reaction / Bvent (unit) #3 —>
<high value="20101201"/>
¢}— E.i.5: Date of End of Reaction / Event #3 —>
{/effectiveTime>
{value xsi:type="CE” code="E.i. 2. 1b" codeSystem="2. 16. 840. 1. 113883. 6, 163"
codeSystemVersion="E.i.2. 1a"> '
<!— E. 1.2, la: MedDRA Version for Reaction / Event #3 —>
¢{{— E.i.2.1b: Reaction / Event {(MedDRA code} #3 ——>
CoriginalText language="E.i. 1. 1b">E. i. 1. la¢/originalText>
¢!=—— E.i.l.la: Reaction / Event as Reported by the Primary Source in Native Language #3 —>
{{— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #3 -
{/value>
{location typeCode="LOC™>
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY™ determinerCode="INSTANCE™>
{code code="E.i.%" codeSystem="1.0.3166.1.2.2"/> .
{!— E.i.9: Identification of the Country Where the Reaction / Event Occurred #3 —>
{/locatedPlace>
¢/locatedEntity>
<{/location>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="30" codeSystemr="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" cedeSystemVersion="1.1"
displayName="reactionForTranslation”/>
{value xsi:type="ED">E.i.l.2¢/value>
¢{!— E.i.1.2: Reaction / Event as Reported by the Primsry Source for Translation #3 —>
</observation}
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation c¢lassCode="0BS" moodCode="EVN">
<code code="37" codeSystem="2. 16.840. 1. 113883. 3. 389. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter™/>
<value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16. 840. 1. 113883. 3.989.2.1. 1. 10"
codeSystemVersion="1.07/> e
{l-— E.i.3.1:Term Highlighted by the Reporter #3 —>
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.17
displayName="resultsInDeath”/>
{value xsi:type="BL" value="true”/>
{l-- E.i.3.2a: Results in Death #3 —
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
<code code="21" codeSystem="2. 16. 840. 1. 113883. 3.989.2.1.1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening™/>
{value xsi:type="BL” nullFlavor="NI"/>
{— E.i.3.2b: Life Threatening #3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
<code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL” value="true’/>
<l-— E.i.3.2¢: Caused / Prolonged Hospitalisation #3 —>
{/observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
<observation c¢lassCode="0BS” mocdCode="EVN™>
{code code="35" codeSystem="2.16.840, 1, 113883. 3.989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlavor="NI"/>
¢l-- E.i.3.2d: Disabling / Incapacitating #3 —>
{/observation>



{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="congenitalAnomalyBirthDefect” />
<value xsi:type="BL” nullFlavor="NI"/>
<l— E.i.3.2e! Congenital Anomaly / Birth Defect #3 —>
{/cbservation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moadCode="EVN">
{code code="26" codeSysteﬁ=”2.16.840.1.113883.3:989.2.1.1.19’ codeSystemVersion="1, 1"
displayName="otherMedicallyImportantCondition”/>
{value xsi:type="BL” value="true”/>
<!-— BE.i.3.2f: Other Medically Important Condition #3 -->
</observation>
{/outboundRelationship2>

- {outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCede="EVN">
<code code="27" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="outcone”/>
<value xsi:type="CE” cade="E.i.7" codeSystem="2. 16.840. 1. 113883, 3.989.2. 1. 1. 11~
codeSystetVersion="1.0"/>
¢I-- E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —>
{/observation}
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
{code code="24" codeSystem="2.16, 840, 1. 113883. 3,989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHeal thProfessional”/>
{value xsi:type="BL" value="true"/>
{l—— E.i.8: Medical Confirmation by Healthcare Professional #3 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989, 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="7%0 « FEE0"/>
{value xsi:type="CE" code="J2.14.1i" codeSystem="2. 16.840.1, 113883.3.089.5.1.5.2,1.8"
codeSystemVersion="1. 0" />
<l— @88J2.14.1 KA - BEAD #3 -
{/observation>
{/outboundRelationship2>
{/observation>
- </subjectOf2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN">
<id root="2¢99840f-08b4-499c—-80f f-ddR415f4fBa5" />
<code code="29" codeSystem="2.16.840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="reaction”/> :
{effectiveTime xsi:type="SXPR_15">
{comp xsi:type="IVL_TS™>
<low value="20090101"/>
¢(1-- E.i.4: Date of Start of Reaction / Event #4 ——>
<high value="201012017/>
¢{!— E.1i.5: Date of End of Reaction / Event #4 -~
</comp>
{comp xsi:type="IVL_TS” operator="A">
<width value="24" unit="E.i.6b"/>
¢!— E.i.6a: Duration of Reaction / Event {number) #4 —>
{l-~ E.1i.6b: Duration of Reaction / Event {unit} #4¢ —>
{/comp>
/effectiveTime>
{value xsi!type="CE” code="E.i.2. 1b" codeSystem="2, 16. 840. 1. 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a">
<!-~E. 1.2 la: MedDRA Version for Reaction / Event #4 —>
<I— E.i.2. 1b: Reaction / Event (MedDRA code) #4 ——>
CoriginalText language="E.i.l.1b">E.i.1, la{/originalText>
<!-- E.i. 1. la: Reaction / Event as Reported by the Primary Source in Native Language #4 -->



¢{— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #4 —>
</value>
<location typeCode="LOC™>
<{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY™ determinerCode="INSTANCE™>
{code code="E.1i.9" codeSystem="1.0. 3166.1.2.27/>
<{l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #4 ——>
{/locatedPlace)
</locatedEntity>
{/location>
<outboundRelationship2 typeCode— PERT™>
{observation e¢lassCode="0BS" moodCode="EVN">
<code code="30" codeSystem=”2.16.840.1.113883.3.989.2.1.1.19' codeSystemVersion="1, 1"

displayName="reactionForTranslation”/>

{value xsi:type="ED"E.i.L 2(/value)
{1=~ E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 -->
</ohservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="08S" moodCode="EVN">
<code code="37" codeSystem="2. 16. B40. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="termHighlightedByReporter”/>

<value xsi:type="CE" code="E.1i.3.1" codeSystem="2. 16.840. 1. 113883. 3.989.2. 1. 1. 10"

codeSystemVersion="1,0"/>

{!— E.i.3.1:Term Highlighted by the Reporter #4 —>
</observation?
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation ¢lassCode="0BS" moodCode="EVN">
{code code="34" codeSystem="2. 16. 840. 1, 113883. 3. 980. 2. 1. 1. 19" codeSystemVersion="1.1

»

displayName="resultsInDeath”/>

Cvalite xsitype="BL” value="true”/>
¢i-—- E.i.3.2a: Results in Death #4 —>
<{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation elassCode="0BS” moodCode="EVN™>
<code code="21" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1, 1. 19" codeSystemVersion="1.1

»

displayName="1isLifeThreatening”/>

{value xsi:type="BL" nullFlaver="NI"/>
{1-- E.i.3.2b: Life Threatening #4 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<{observation c¢lassCode="0BS" moodCode="EVN">
{code cade="33" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1

»

displayName="requiresInpatientHospitalization”/>

<value xsiitype="BL” value="true />
{1~ E.i.3.2c: Caused / Prolonged Hospitalisation #4 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
{code code="35" codeSystem="2. 16. 840. 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1

»

displayName="resultsInPersistentOrSignificantDisability”/>

{value xsi:type="BL” nullFlavor="NI"/>
{!-- E.i.3.2d: Disabling / Incapacltatlng #4 —>
</observation>
{/outhoundRelationship2>
{outboundRelationship? typeCode="PERT">
{observaticn classCode="0BS” moodCode="E¥N">
{code code="12" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="congenitalAnomalyBirthDefect” />

{value xsi:type="BL” nullFlavor="NI"/>
<!-— E.i.3.2e: Congenital Anomaly / Birth Defect #4 —>
{/observaticn
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">



{code code="26" codeSystem="2, 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19* codeSysteuVersion="1.1"
displayName="otherMedicallyInportantCondition”™/> .
{value xsi:type="BL" value="true"/>
<!— E.i.3.2f: Other Medically Important Condition #4 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2.16. 840. I, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayNeme="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2. I6. 840. 1. 113883.3.980.2.1. 1. 11"
cudeSystenVersion="1. 6"/
{l-~ E.1i.7: Qutcome of Reaction / Event at the Time of Last Observation #4 —>
{/observation>
{/outhoundRelationship2>
<outhoundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>

{code code="24" codeSystem="2. 16. §40. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="medicalConfirmationRyHealthProfessional”/>
<value xsi:type="BL" value="true”/>
¢l-— E.i.8: Medical Confirmation by Healthcare Professional #4 —>
{/observation>
</outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="11" codeSystem="2, 16, 840. 1. 113883. 3. 989.5.1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="&%0 - BL&D" />
<value xsi!type="CE” code="J2, 14.1” codeSystem="2. 16.840. 1. 113883.3.980.5.1.3,2. 1. 8"
codeSystemVersion="1.0"/> .
‘ <l— @8]2, 14. i 40 - BE4D #4 >
{/observation»
{/outboundRelationship2>
{/observation>
</subjectOf2>
<subject0f2 typeCode="SBJ">
<cbservation classCode="0BS" moodCode="EVN™>
<id root="1071064c-cf10-4a3b-83c1-34f9ddbTeabd”/> N
{code code="29" codeSystem="2. }6. 840. 1. 113883. 3.989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS">
{low value="20080191"/>
<{!— E.i.4:! Date of Start of Reaction / Event #5 >
{/effectiveTime>
<value xsi:type="CE" code="E.i. 2. 1b” codeSystem="2. 16, 840. 1. 113883. 6. 163"
codeSystemYersion="E. i. 2. 1a™>
<!— E.i.2 la: MedDRA Version for Reaction / Event #5 -->
<I-= E.1.2, 1b: Reaction / Event (MedDRA code) #5 —>
<originalText language="E.1i. 1.1b™>E. i.1.lal/originalText>
{I— E.i.1. la: Reaction / Event as Reported by the Primary Source in Native Language #5 —>
<!— E.i.1.1b! Reaction / Event as Reported by the Primary Source Language #5 —>
</value> )
<lacation typeCoede="LOC™>
<locatedEntity classCode="LOCE">
{locatedPlace classCode="COUNIRY” determinerCode="INSTANCE™>
{code code="E.i.9" codeSystem="1.0.3166.1.2.2"/>
{l-~ E.i.9: Tdentification of the Country Where the Reaction / Event Occurred #5 —
{/locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
{code code="30" codeSystem="2. 16. 840, 1, 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
{value xsi:type="ED"DE.1i. 1. 2<¢/value>
<!-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #5 —>
£/observation>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>



<code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter”/>
<{value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1, 1. 10“
codeSystemVersion="1. 0" /> '
{|— E.1i.3.1:Term Highlighted by the Reporter #5 —>
</observation>
{/outhoundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="34" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="resultsInDeath”/>
{value xsi:type="BL" value="true”/>
¢!— E.i.3.2a! Results in Death #5 —>
</ohservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN™>
{code code="21" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlaver="NI"/>
{l=-~ E. 1.3.2b: Life Threatening #5 -~>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="33" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL" value="true”/>
{l=-E.1.3.2¢: Caused / Prolonged Hospitalisation #5 —>
. </observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{eode code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI"/>
¢!— E.i.3.2d: Disabling / Incapacitating #5 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
Ccode code="12" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomal yBirthDefect” />
{value xsi:type="BL” nullFlaver="NI"/>
¢I— E.i.3.2e: Congenital Anomaly / Birth Defect #5 —>
{/observation>
{/outboundRelationship2>
{putboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
{code code="26" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL" value="true"/>
<!-— E, i.3.2f: Other Medically Important Condition #5 —>
{/observation>
<{/cutboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation cldssCode="0BS” moodCode="EVN™>
<code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"

”

displayName="outcome” />
{value xsi:type="CE” code="E.i.7" codeSystem="2.16.840.1.113883.3.989.2.1.1. 117
codeSystemVersion="1. 07 />
¢l— E.i.7: Qutcome of Reaction / Event at the Time of Last Observation #6 —>
{/observation)
</outboundRelationship2>
{outboundRelationship2 typeCcde="PERT">
{observation classCode="0BS” moodCode="EVN™>
{code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi‘type="BL” value="true”/>



<!-- E,i.8: Medical Confirmation by Healthcare Professional #5 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moudCode="EVN">
{code code="11" codeSystem=’2.15.840.1.113883.3.989.5.1.3.2.1.1Q’ codeSystemVersion="1, 0"
displayName="3R40 - BEE1"/>
{value xsi:type="CE" code="]2.14.1i" codeSystem="2. 16.840. 1. 113883.3.089.5.1.3.2, 1. 8"
codeSystemVersion="1. 0" />
<l @08J2.14.1 F5n - BEEdn #5 —>
{/observation>
</outboundieiationshipZ>
{/observation
{/subject0f2>
{subjectOf2 typeCode="SR]">
{observation classCode="0BS” moodCode="EVN™>
<id root="1f927283-10b6-4334-9d43~£025640FbI8E" /D

<code code="29" codeSystem="2. 16. 840. 1, 113883. 5. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS">
<high value="20090101%/>
<I-— E.i.4: Date of Start of Reaction / Event #s —>
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b" codeSystem="2.16, 840. 1. 113883. 6. 163"
codeSystemVersion="E. i, 2. 1a™>
{!— E.i.2. la: MedDRA Version for Reaction / Event #6 —>
<!=- E.i.2.1b: Reaction / Event (MedDRA code) #5 —>
<criginalText language="E.1i.1.1b"JE.1i. 1, 1a/originalText>
<I— E.i.1.1a! Reaction / Event as Reported by the Primary Source in Native Language #6 —>
<I-— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #6 —>
</value>
{location typeCode="LOC™> :
<locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.i.9" codeSystem="1,0,3166.1.2.2"/>
{!— E.i.9: Identification of the Cotntry Where the Reaction / Event Occurred #6 ——>
<{/locatedPlace>
</locatedEntity>
{/location>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="30" codeSystem="2. 16. 840.1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
{value xsi:type="ED"JE.1i.1.2¢/value}
¢{!-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #6 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
{code code="37" codeSystem="2. 16, 840, 1. 113883, 3.989, 2. 1. 1, 19" codeSystemVersion="1,1"
displayName="termHighlightedByReporter™/>
{value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16.840. 1.113883.3.989.2. 1. 1. 10"
codeSystemVersion="1. 0" />
(!— E.i.3.1:Term Highlighted by the Reporter #6 ——
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2. 16. 840. 1, 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
<value xsi:type="BL" value="true”/>
¢l=- E.i.3.2a: Results in Death #6 —>
{/observation’
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
Cobservation classCede="0BS" moodCode="EVN">
<code code="21" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
{value xsi:type="BL” nullFlavor="NI"/>



¢{!— E.i.3.2b: Life Threatening #6 —>
{/observation>
</cutboundRelationship2> ]
{outboundRelationship2 typeCode="PERT™>
{cbservation ¢lassCode="0BS" mocodCode="EVN">
{code code="33" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" value="true”/>
¢1-- E.i.3.2¢c: Caused / Prolonged Hospitalisation #6 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT*>
{observation classCode="0BS" moodCode="EVN">
<code code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI"/>
<I- E.i.3.2d: Disabling / Incapacitating #6 —>
{/observation
{/ountboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{vbservation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2. 16,840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢{!— E.i.3.2: Congenital Anomaly / Birth Defect #6 —>
<{/observation}
{/outboundRelaticnship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" mcodCode="EVN">
{code code="26" codeSystem="2. 16. 840, 1, 113883, 3, 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
{value xsi:type="BL" value="true”/>
¢{i—= E.i.3.2f: Other Medically Important Condition #6 —>
</ohservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moudCode="EVN"™>
<code code="27" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="outcome” />
<value xsi-type="CE” code="E.i.7" codeSystem="%. 16.840.1. 113883.3.989.2.1.1. 11"
codeSystemVersion="1.0"/>
<l— E.i.7: Qutcome of Reaction / Event at the Time of Last Observation #6 —>
{/ohservation>
</outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="24" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersian="1, 1"
displayName="medicalConfirmationBylealthProfessional”/>
{value xsi:type="BL" value="true”/>
{l— E.i.8: Medical Confirmation by Healthcare Professional 6 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 6. 1. 3. 2. 1. 1¢” codeSystemVersion="1.0"
displayName="4%0 - BE&n"/>
{value xsi:type="CE” code="]2,14.i" codeSystem="2. 16.840. 1. 113883, 3. 989.5.1.3.2. 1.8
codeSystemVersion="1,0"/>
<1-- 888)2. 14.1 kAN - BLEn #6 —>
</observation>
{/outboundRelationship2>
</observation>
</sub ject0f2>
C(subject0f2 typeCode="SBJ™>
{vbservation classCode="0BS” moodCode="EVN">
{id root="e0342969-38be~423f~h6bb—celdhc279d8e” />
<code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 988. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS">



<width value="24" unit="E. i.6b"/>
<I-- E.i.6a: Duration of Reaction / Bvent (number) #7 —>
<!-- E. i.6b: Duration of Reactien / Event (unit) #7 —>
{/effectiveTime>
<value x51:type="CE" code="E.i.2.1b" codeSysten="2. 16. 840. 1. 113883. 6, 163"
codeSystemVersion="E. i. 2. 1a™>
<!~ E.i.2.1a: MedDRA Version for Reaction / Event #7 —>
<!|— E.i.2. 1b: Reaction / Event (MedDRA code) #7 —>
{originalText language="E.i.l. 1b">E.i. 1. la¢/originalText>
<!~ E.i. 1. la: Reaction / Event as Reported by the Primary Source in Native Language ¥7 —>
<l— E.i. L 1b: Reaction / Bvent as Reported by the Primary Source Language §7 —>
valued
<location typeCode="LOC">
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.1i,9” codeSystem="1. 0. 3166.1.2.2"/>
<!— E. i.9: Identification of the Country Where the Reaction / Event Occurred #7 —

{/locatedPlace>
{/locatedEntity>
</location>
{outboundRelationship? typeCode="PERT")
{observation classCode="0BS” moodCode="EVN">
{code code="30" codeSystem="2. 16 840. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
{value xsi:type="ED™>E.i. 1. 2</value
¢!~ E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 —)
{fobservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
Ccode code="37" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
dispiayName="ternHighlightedByReporter™/>
{value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16.840, 1. 112883.3.989.2.1.1. 10"
codeSystemVersion="1.0"/>
<|-~ E.i.3. L:Term Highlighted by the Reporter #7 -=>
{/observation®
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
<code code="34" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="resultsInbeath”/>
{value xsi:type="BL” value="true”/>
{{-- E.i.3,2a: Results in Death #7 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EYN™> .
{code code="21" codeSystem="2, 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="isLifeThreatening”/>
{value xsi:type="BL” mullFlavor="NI"/>
<!— E.i.3.2b: Life Threatening #7 —
{/observation>
</outhoundRelationship2>
<outboundRelationshipZ typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
{code code="33" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/> ‘
{value xsi:type="BL" value="true”/>
¢{!— E.1i.3.2¢: Caused / Prolonged Hospitalisation #7 —>
</observatiaon>
{/outboundRelationship?>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS”™ macdCode="EVN™>
. <code code="35" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 197 codeSystemVersion="1, 17
displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL” nullFlavor="NI"/>
<!— E.i.3.2d: Disabling / Incapacitating #7 —>
</observation)
{/outboundRelationship2>



{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
{code code="12" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomal yBirthDefect”/>
<value xsi:type="BL" nullFlavor="NI"/> -
¢l=- E.i.3.2e: Congenital Anaomaly / Birth Defect #7 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
" <observation classCode="0BS” moodCode="EVN">
{code code="26" codeSystem="2. 16. 840, 1. 113883. 3. 889. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition” />
{value xsi:type="BL” value="true”/>
¢!— E.i.3.2f: Other Medically Important Condition #7 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<ocbservation classCode="0BS” moodCode="E¥N">
{caode code="27" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="outcome” />
{value xsi:type="CE" code="E. i, 7" codeSystem="2, 16, 840. 1. 113883.3.980.2.1.1. 11"
codeSystemVersion="1.0"/>
¢l=- E.i.7: Outcome of Reaction / Event at the Time of Last Observation #7 —)
</observation>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCade="EVN™>
{code code="24" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
<]-- E.i.8: Medical Confirmation by Healthcare Professional #7 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="7%%0 - BE&"/> .
{value xsi:type="CE” code="J2.14.1" codeSystem="2. 16.840. 1. 113883, 3.989.5. 1. 3. 2. 1. 8"
codeSystemVersion="1.0"/>
<l-- 88@J2. 14.1i R0 - BRSO #7 —>
</observation®
</outboundRelationship2>
{/observation>
{/subjectOf2>
<{subject0f2 typeCode="SBI">
{observation classCode="0BS" moodCode="EVN™>
<id root="al5he92-8070~426d-af04-6863263443e0"/>
<code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 13" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="IVL_TS"™>
Clow value="200301017/>
¢l-— E.i.4: Date of Start of Reaction / Event #8 —>
<width value="24" unit="E.i.6b"/>
{l-- E.i.6a: Duration of Reaction / Event (number) #8 —>
<I-- E.i.6b: Duration of Reaction / Event (unit) #8 —>
</comp>
{comp xsi:type="IVL_TS" operator="A">
<high value="201012017/>
¢!-- E.i.5: Date of End of Reaction / Event #8 —>
</comp>
{/effectiveTime>
{value xsi:type="CE” code="E.1i, 2, 1b” codeSystem="2. 16, 840, 1, 113883, 6, 163"
codeSystemVersion="E. i. 2. Ia™>
¢I-- E.i.2. la: MedDRA Version for Reaction / Event #8 —>
<l-- E.i.2,1b: Reacticn / Event (MedDRA code) H#8 —>
<originalText language="E.i.1. 1b">E. 1. 1. la¢/originalText>
<1-—— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #8 —>
<l-- E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Language #8 —>



</value>
{location typeCode="L0C">
¢locatedEntity classCode="LOCE"™>
<locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
{code code="E. i.9” codeSystem="1.0.3166.1.2, 2"/

<1— E.i.9: Identification of the Country Where the Reaction / Event Occurred #8 -—>

{/locatedPlace>
{/locatedEntity>
¢/location>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">

<code code="30" codeSystem="2. 16. 840, I, 1i3883. 3. 989, 2. 1. L. 19" codeSystemversion="1,1"

displayName="reactionForTranslation”/>
{value xsi:type="ED™)E.i. 1. 2¢/value)>

'¢]— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 ~->

{/observatiocn>
</fouthoundRelationship2>

{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>

<code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="termHighlightedByReporter™/>

<value xsi:type="CE" code="E.i.3.17 codeSystem="2. 16.840. 1. 113883. 3.989.2. 1. 1. 10"

codeSystemVersion="1. ¢"/>
{l=~ E.i,3.1:Term Highlighted by the Reporter #8 —>
{/observation®
{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

{code cede="34" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1

displayName="resultsInDeath”/>
<value xsi:type="BL" value="true”/>
{l=~ E.i.3 2a: Results in Death #8 —>
{/observation>
</outhoundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>

”»

<code code="21" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"

displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
<!— E.i.3.2b: Life Threatening 48 -—>
{/observationy
</outboundRelationship2>
{outboundRelationship? typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

{code code="33" codeSystem="2. 16.-840, 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="requiresInpatientHospitalization™/>
{value xsi:type="BL" value="true”/>
<!-- E.1i.3.2¢: Caused / Prolonged Hospitalisation B8 —
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>

{code code="35" codeSystew="2.16.840. 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1

dlsplayName— resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI"/>
¢lw= E.{i.3.2d: Disabling / Incapacitating #8 ——>
</observation)
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">

<code code="12" codeSystem="2. 16. B40. 1. 113883, 3. 985, 2. 1. L. 15" codeSystemVersion="1. 1

displayName="cangenitaldnomal yBirthDefect”/>
: {value xsi:type="BL” nullFlavor="NI"/>
¢!— E.i.3.2e: Congenital Anocmaly / Birth Defect H8 ——>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">

I3

I

{code code="26" codeSystem="2.16. 840, 1, 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"



displayName="otherMedicaliyInportantCondition”/>
<value xsi:type="BL" value="true”/>
<{1-— E.i.3.2f: Other Medically Important Condition #8 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
. <code code="27" codeSystem="2, 16. 840. 1. 113883. 3.989. 2. I, 1, 19" codeSystemVersion="1.1"
displayName="outcome” />
<value xsi:type="CE" code="E.i.7” codeSystem="2.16.840.1,113883.3,.989.2.1.1.11"
codeSystemVersion="1. 0"/
¢l== E.i.7: Outcoms of Reaction / Event at the Time of Last Observation #8 —>
¢/observation>
</outboundRelationship2>
{outboundRelationship2? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="24" codeSystem="2, 16, 840, 1. 113883, 3.989. 2. 1, 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmaticnByHeal thProfessional”/>
<value xsi:type="BL* value="true"/>
{l— E.i.8: Medical Confirmation by Healthcare Professional #8 —>
</observation>
<{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="350 - EE&"/> : '
{value xsi:type="CE” code="J2.14.i" codeSystem="2. 16.840. 1. 113883,2.989,5.1,3.2.1.8"
codeSystemVersion="1.07/>
<1-- @@djz. 14. i KM - BEAT #8 -
</observation>
</outboundRelationship2>
{/chservation>
{/subject0f2>
{subject0f2 typeCode="SB]™>
{organizer classCode="CATEGORY" moodCode="EVN">
{code code="3" codeSystem="2. 16, 840. 1. 113883. 3,989.2. 1. 1. 20" codeSystemVersion="1.0"
displayName="testsAndProceduresRelevantToThelnvestigation™/>
{eomponent typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
{code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2.2a">
<!— F.r.2. 2a: MedDRA Version for Test Name #1 —>
{l=— F.r.2.2b: Test Name (MedDRA code) #1 —>
<originalText>F. 1. 2. I{/originalText>
¢!— F.r.2.1: Test Name (free text) ®l —>
{/code>
{effectiveTime value="200901017/>
{!=— B.r.1: Test Date #1 —>
<value xsi:type="IVL_PQ">
{center value="10" unit="mg/d1"/>
¢l-— F.r.3.2: Test Result (value / qualifier) #i —>
{l=~ F.r.3.3: Test Result (unit) #1 —=>
{/value> )
{interpretationCode code="F.r.3.1" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 12"
codeSystemVersion="1. 0" />
{l— F.r.3.1: Test Result {cade) #1 —>
{referenceRange typeCode="REF¥">
{observationRange classCode="0BS" moodCode="EVN. CRT™>
{value xsi:type="PQ" value="40" unit="wg/d1"/>
¢!=— F.r.4: Normal Low Value #1 —>
<interpretationCode code="L" codeSystem="2. 16. 840. 1. 113883. 5. 83" />
</observationRange>
</referenceRange>
{referenceRange typeCode="REFV">
{observationRange classCode="0BS” moodCode="EVN.CRT">
<value xsi:type="PQ" value="110" unit="mg/d1"/>
<|— F.r.9: Normal High Value #1—>
{interpretationCode code="H" codeSystem="2.16.840. 1. 113883. 5. 83" />
{/observationRange>
{/referenceRange>



<outboundRelationship? typeCode="PERT">
<vbservation classCode="0BS" moodCode="EVN">
{cade code="10" codeSysten="2. 15. 840. 1. 113883. 3. 989.2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="comment” />
<value xsi:type="ED">F.r.6</value
<{l— F.r.6: Comments (free text) #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN™> .
<code code="25" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="moreInformationivailable™/>
{value xsi:type="BL" value="true”/>
<!=-F.r.7: More Information Available #1 -—>
{/observation)
{/outboundRelationship2>
{/observationd ~

{/component>
<{component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN"™>
{code ¢ode="F.r.2.2b" codeSysten="2. 16. 840, 1, 113883. 6. 163" codeSystexVersion="F.r. 2. 2a™>
<I-- F.r.2. 2a: MedDRA Version for Test Name 2 -->
{l-- F.r,2,2b: Test Name (MedDRA code) #2 —>
{originalText>F. 1. 2. 1{/original Text>
{1-- F.r.2.1: Test Name (free text) £2 —->
<{/code>
{effectiveTime value="20090101"/>
{I— F.r.1: Test Date #2 —>
<value xsi:type="IVL PQ">
{low nullFlavor="NINF~"/>
<high value="10" upit="mg/d1” inclusive="false”/>
{/value>
<!— F.r.3.2: Test Result (value / qualifier) #2 ——>
-~ F.r.3.3: Test Result (unit) #2 ——>
<!— LT 10 mg/dl #2 —>
</observation>
{/component>
<component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN™>
{code code="F.r. 2. 2b" codeSystem="2, 16.840. 1. 113883. 6. 163" codeSystemVersion="F. r. 2. 2a">
<l-- F.r.2.2a: MedDRA Version for Test Name #3 —>
{le- F.r.2,2b: Test Name (MedDRA code) #3 —>
{originalText>F. r. 2. 1¢/originalText>
¢l— F.r.2.1: Test Name {free text) H#3 —>
{/code>
{effectiveTime value="20090101%/>
!— F.r.1: Test Date #3 —>
{value xsi:type="IVL_PQ">
<lew nullFlavor="NINF"/>
<high value="10" unit="mg/d1” inclusive="true”/>
</value>
¢I-- F.r.3.2: Test Result (value / gualifier) #3 =)
¢l-— F.r 3.3: Test Result (unit) #3 ——>
<1-- LE 10 mg/dl #3——>
-{/observation>
{/component>
{component typeCode="COMP™)>
{observation classCode="0BS” moodCode="EWN">
{code code="F.r.2.2b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemYersion="F. r. 2 2a”>
¢!— B.r.2.2a: MedDRA Version for Test Name #4 —>
{I-- F.r.2.2b: Test Name (MedDRA code) #4 —>
CoriginalText>F.r. 2. 1</original Text>
{1-- F.r.2.1: Test Name (free text) #4 —>
{/code>
<effectiveTime value="20090101"/>
<{l-= F.r. 17 Test Date #4 —>
C¢value xsi:type="IVL_PQ™>
<low value="10" unit="mg/dl” inclusive="false”/>
<high nullFlavor="PINF"/>



</value>
<I-- F.r.3.2: Test Result (value / qualifier) #4 —>
¢I— F.r.3.3: Test Result {unit) #4 -->
<I—— GT 10 mg/dl #4 -=>
{/observation> :
</component>
{component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
{code code="F.r.2.2b" codeSystem="2. 16.B40. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
{!— PB.r.2, 2a: MedDRA Version for Test Name #5 ——>
{!— F.r.2.2b: Test Name (MedDRA code) #5 ——>
{originalText>F. r. 2, 1{/originalText>
<!— F.r.2.1: Test Neme (free text) #5 —>
</code>
{effectiveTime value="20090101"/>
{]==F.r.1: Test Date 5 —>
{value xsi:type="IVL_PQ™>
<low value="10" unit="mg/dl” inclusive="true”/>
<high nullFlavor="PINF"/>
{/value>
¢1— F.r.3.2: Test Result (value / qualifier} #5 —>
{1— F.r.3.3: Test Result (unit) #5 —>
<I-= GE 10 mg/dl #5 -
{/observation>
{/component>
<component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2, 16,840, 1. 113883, 6. 163" codeSystemVersion="F.r. 2. 2a">
<|—— F.r.2.2a: MedDRA Version for Test Name #6 —>
<I-- F.1.2.2b: Test Name (MedDRA code) #6 —>
<originalText>F. r. 2. 1{/originalText>
{l=~ F.r.2.1: Test Name {free text) #6 —>
{/code>
{effectiveTime value="20090101"/>
<1— F.r.1: Test Date #6 —>
{value xsi:type="ED">F.r.3.4<¢/value>
{l— F.r.3.4: Result Unstructured Data (free text) #6 —>
{/observation?
<{/component>
{/organizer>
{/subject0f2>
{subject(0fZ typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="4" codeSystem="2, 16. 840, 1. 113883. 3.989.2.1, 1. 20" codeSystemYersion="1, 0"
displayName="drugInformation”/>
{!== G.k Drug(s) Information {(repeat as necessary) #1 —>
{component typeCode="COMP">
{substanceAdministration c¢lassCode="SBADM™ moodCode="EVN">
{id root="3¢91b4d5-e039-4a7a—0c30-6T671h0efPed” />
{consumable typeCode="CSM">
{instance0OfKind c¢lassCode="INST™>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
{code code="G.k. 2. 1.1h" codeSystem="TBD-MPID” codeSystemVersion="G.k.2.1.1a"/>
¢l— G.k.2.1.1a: MPID Version Date / Number #1 —>
{l=- G.k.2.1. 1b: Medicinal Preduct Identifier (MPID} #1 —>
<name>G. k. 2. 2</name>
<!— G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 ——
<asManufacturedProduct classCode="MANU™>
{subjectOf typeCode="SB]"> .
{approval classCode="CNTRCT" moodCode="EVN">
<id extension="G.k.3.1" root="2,16.840.1.113883.3.980.2.1.3,4"/>
{I=~ G.k.3.1: Authorisation / Application Number #1 —->
<holder typeCode="HLD™>
{role classCode="HLD">
{playinglrganization classCode="0RG" determinerCode="INSTANCE">
<name>GC. k. 3. 3¢(/name>
4= G. k. 3.3: Name of Holder / Applicant #1 ——>
{/playingOrganization>’
{/role>



{/holder>
Cauthor typeCode="AUT™>
{territorialAuthority classCode="TERR">
{territory classCode="NAT" determinerCode="INSTANCE™>
{code code="G.k.3.2" codeSystem="1.0.3166.1,2.2"/>
<!—- G.k. 3.2: Country of Authorisation / Application #I ——>
{/territory>
{/territorialAuthority>
{/author>
<pertinentInformation typeCode="PERT™>
{policy classCode="POLICY" moodCode="EVN™>
<code code="JZ. 5.k~ codeSystem="2.16.840. 1. 1i3883. 3, 585,5.1.3,2. L. 4
codeSystemVersion="1.0"/>
l—esdy2. 5. k: ~RABERLSED) R/ELHE #1 —
<fpolicy>
</pertinentInformation®
{/approval>

{/subject0f>
{subjectOf typeCode="SBJ">
{characteristic classCade="0BS" moodCode="BVN™>
{code code="1" codeSystem="2, 16, 840, 1, 113883.3.989.5.1.3. 2, 1. 10”
codeSystemVersion="1. 0" displayName="$EEBZENRREL"/>
{value zsi:type="CE” code="J2.4. k" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1. 3"
codeSystemVersion="1. 0"/ ]
<l-- egaJ2. 4. k: MERLSORRES #1 —
{/characteristic>
{/subjectOf>
{/asManufacturedProduct>
<asSpecializedKind classCode="GEN">
<generalizedMaterialKind classCode="MAT" determinerCode="KIND">
{code> )
<originalText>J2. 12</originalText>
<1— eeJz. 12: WRENEES —
{/code> .
</generalizeddaterialKind>
</asSpecializedKind>
<ingredient classCode="ACTI">
{quantity>
<numerator value="10" unit="G.k.2.3.r. 3b"/>
<!— 6.k 2.3.r 3a: Strength {mmber) #1-1 -->
{l— G.k.2.3.r.3b: Strength {unit) H1-1 —>
{denominator value="17/>
{/quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G.k.2, 3.1.2b" codeSystem="TBD-Substance”
codeSystemVersion="G. k. 2.3.1.2a"/> .
{l-— 6.k.2.3.1.2a: Substance / Specified Substance TermID Version Date / Number #1-1
—
{}— G.k 2.3.1.2b: Substance / Specified Substance TermID #1-1 —>
<nanme>G. k. 2. 3. r. 1{/name>
{!— G.k.2.3.r.1: Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance>

{/ingredient>
<ingredient classCode="ACTI">
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
¢l-- 6.k. 2.3.1. 3a: Strength (number) #1-2 —>
<I— 6.k 2.3.7.3b: Strength (unit) #1-2 —>
{denominator value="1"/>
{/quantity>
ingredientSubstunce classCode="MMAT" determinerCode="KIND">
{code code="G.k.2.3,r,2b" codeSystem="TBD-Substance™

codeSystemVersion="G. k. 2. 3.r. 22"/
{l~= 6. k. 2,3, 1. 2a: Substance / Specified Substance TermID Version Date / Number H1-2
—>
<I— 6.k.2.3.1. 267 Substance / Specified Substance TermID #1-2 —>
<name>G. k. 2. 3. r. 1</name> ’
¢l— G.k.2.3.r.1: Substance / Specified Substance Name #1-2 —>
</ingredientSubstance>



</ingredient>
</kind0fProduct>
<{subjectOf typeCode="SB]">
{productEvent classCode="ACT" moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. I. 113883. 3. 989. 2. 1. 1. 18" codeSystenVersion="1.0"
displayName="retailSupply”/>
{performer typeCode="PRF">
¢assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
{addr>
{country>G. k. 2, 4¢/country>
¢!=- 6.k. 2. 4: Identification of the Country Where the Drug Was Obtained #1 ——
{faddr>
{/represented0rganization’
{/assignedEntity>
{/performer>
{/productEvent>
{/subjectOf>
' {subjectQf typeCode="SB]">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2, 16, 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10"
codeSystemVersion="1. 0" displayName="—RAEEHOAFER" />
{value xsi:type="CE” code="J2.6.k" codeSystem="2.16.840.1. 113883.3.989.5.1.3.2. 1.5"
codeSystemVersion="1, 0"/>
: I @eeJ2.6. k: —EAERKHOAFER 11 —
<{/observationEvent>
{/subjectOf>
{/instance0fKind>
{/consumable>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" wnit="G.k.9.i.3. 1"/
- {!== G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #1 —>
<{!— 6.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit}) Drug #1, Reaction #1 —>
{actReference classCode="0BS" moodCode="EVN"> .
<id root="154eb885-958b—45F2-a02f-42d4d6£4657F" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pavseQuantity value="10" wnit="G.k.9.i.3.2b"/>
<!— 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #1 —>
<!~ G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #1 —>
- <actReference classCode="0BS" moodCode="EVN">
<id root="134eb889-958b-45f2-a02f~42d4d6£4657f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>

<}=— G.k.9.i.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #2 —>
<!-- G, k.9.1,3, 1b: Time Interval between Beginning of Drug Administration and Start of

Reaction / Event (unit)} Drug #1, Reaction #2 —>
{actReference ¢lassCode="0BS" moodCode="EVN">
<id root="2baa28d6-c9eB~4e6c-33e9-~5b86053142207 />
</actReference>
{/outboundRelationshipi>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G. k. 9.i.3. 20"/ B
(l=— G6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction H2 —>
¢!-- G.k.9.1. 3. 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(uwnit) Drug #1, Reaction #2 - ‘
<actReference classCode="0BS” moodCodes"EVN™>
<id root="2baa28d6-c9eB-4ebc—93e9-5b860b314220" />
{/actReference>
(/outboundRelationshipl>



{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<!— G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #3 —>
¢!~ G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #I, Reaction #3 —>
{actReference classCode="0BS” moodCode="EVN™>
<id root="3a8626&b~9f1b—4ea8-8a0f-e0ff34430adf”/>
{/actReference>
{/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value-"10" unit-"G. k. 5.i.3.20"/>
<!~ 6.k 9.i.8.2a: Time Interval between Last Dose of Drug and Start of Reaction /' Event
(number) Drug #1, Reaction #3 —> ’ .
<!— 6.k 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #3 —
{actReference classCode="0BS” moodCode="EVN">

{id root="3a8626cb—9f1b~4ea8-8alf-e0Fff34430adf />
</actReference
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
<!— 6,k.9.1.3.1a’ Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #4 -
¢l~~ G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #4 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="2e99840f-08h4~499c—80ff-dd8415F4F8a5" />
{/actReference>
</outboundRelationshipl)
{outhoundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k 9.1i.3.2b"/>
<!~ G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction fid —>
{!— 6.k 9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction f#4 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="2e99840f-08b4-499c—B0ff~dd8415f4f8a5"/>
</actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.i.3. 16"/
<I=- G.k.9.1.3. la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #5 —>
<!-~ G.k.9.1.3, 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #1, Reaction #5 —>
: <actReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cf10-4a3b~83c1-34f9ddbTeabd” />
{/actReference’>
</outboundRelationshipl®
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k. 9.i.3.2b"/>
{!— G6.k.9.1i.3.2a: Time Interval between Last Dose of Prug and Start of Reaction / Event
(number) Drug #1, Reaction #5 —>
{l-~ 6.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
{unit) Drug #1, Reaction #5 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cf10-4a3b-~83c1-34f9ddbTeabd” />
¢/actReference
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.1.3. 1"
<!— G.k.9.4.3, 1a! Time Interval between Beginning of Drug Administration and _Start of
Reaction / Event {number) Drug #1, Reaction #6 —>
<{I— G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #I, Reaction #6 —) :
<actReference classCode="0BS” moodCode="EVN™>
<id root="1f927283-10b6-4334-9d43-e925640fh18E" />
{factReferenced



</outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G,k.9.i.3, 2b"/>

<~ G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #6 —>
¢I-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit} Drug #1, Reaction #6 —>
‘{actReference classCode="0BS" moodCode="EVN">
<id root="1£927283-10b6—4334-9c43-e925640fh18F" />
{/actReference>
{/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
{l—— 6.%.9.i.3. la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #7 —>
{}— G.k.9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit} Drug #1, Reaction #7 —)
{actReference classCode="0BS” moodCode="EVN">
{id raot="e0342969-38be-423f-bbbb—celdbc279d8e” />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢l-- G.k.9.i.3.2a¢ Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #1, Reaction #7 —>
{1~~ G, k.9.1,3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
{unit) Drug #1, Reaction H7T —>
{actReference classCode="0BS” woodCode="EVN">
<id root="e0342969-38be~423f-bfbb—celdbc279d8e” />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
{pausefQuantity value="10" unit="G.k.9.1i.3.1b"/>
{I— G.k. 2 i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #8 -->
. ¢l-— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #8 ——>
{actReference classCode="0BS” moodCode="EVN">
<id root="al5be022-8070-426d-af04-6863263443e0"/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{!l— G, k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #38 —>
<l— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
{unit) Drug #1, Reaction #8 -->
{actReference classCode="0BS” mocdCode="EVN">
{id root="alibe092-8070-426d-af04-6863263443e0"/>
{/actReference>
{/outboundRelationshipl>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="6" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 13" codeSystemVersion="1.1"
displayName="blinded”/>
{value xsi:type="BL" value="true”/>
¢1— G.k.2.5: Investigational Product Blinded #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 tvpeCode="COMP™>
{I-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-1 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8¢/text>
¢l— G.k.4.r.8: Dosage Text #l1-1 —>
{effectiveTime xsi:type="SXPR_T5">
{comp xsi:type="PIVL_TS"™>
<{period value="10" unit="G. k. 4.r.3°/>
<l=~ G.k.4.1.2: Number of Units in the Interval #1-1 —>
{l— G.k.4.1. 3: Definition of the Time Interval Unit #1-1 —>



{/comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
{l== G.k.4.1.4: Date and Time of Start of Drug #1-1 —>
<high value="20090101"/>
<!— G.k.4.1.5: Date and Time of Last Administration #1-1 —>
{/comp>
<comp xsi:type="IVL_TS” operator="A"}
{width value="4" unit="G.k. 4.r.6b"/>
«K}— G.k. 4.1.6a: Duration of Drug Administration (number) #1-1 —>
<{!— G. k. 4.r.6b: Duration of Drug Aduinistration {unit) #1-1 —>
{/comp>
{/effectiveTime>
{routeCode code="G.k.4.r.10.2b" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1. 14"
codeSystemVersion="G. k. 4.r. 10. 2a™>
{!-= G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #1-1 —>
<1— G.k.4.1.10. 2b: Route of Administration TermID #i-1 —>

{originalText»G. k. 4. x, 10. I{/original Text>
<I— 6.k.4.r. 10. 1 Route of Administration {free text) #1-1 —>
{/routeCode> )
<doseQuantity value="10" wnit="G.k. 4.r. 1b"/>
<I— G.k. 4. 1. 1a Dose (number) #1-1 —>
{I-~ G.k.4.7. 1b: Dose (unit) #1-1 ~>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{l— G.k.4.r.7: Batch / Lot Number #1-1 —>
</productInstanceInstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{fornCode code="G.k.4.r.%.2b" codeSystem="TBD-DoscForm”

codeSystemVersion="G. k. 4.r. 9. 2a™>
<{!— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-1 —>
<!— G.k. 4.7.9.2b: Pharmaceutical Dose Form TermID #1-1 —=>
CoriginalText>G. k. 4.r.9, 1{/originalText>
<!=- 6.k 4.7.9. 1! Pharmaceutical Dose Form (free text) fil-1 —> -
{/formCode>
</kind0fProduct>
{/instance0fKind>
{/consumable>

{inboundRelationhship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2.16.840. 1. 113883. 3.989.2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2.16.840. 1. 113883. 3.989.2.1. 1. 14"
codeSystemVersion="G. k. 4.r.11.2a™>
{l— G.k.4.r.11.2a: Parent Route of Administration TexrmID Version Date / Number H1-1
-
{!-—— G.k.4.r.11. 2b: Parent Route of Administration TermID #1-1 —>
{originalText>G. k. 4. r. 11. 1{/originalText>
{!— G.k.4.r.11.1: Parent Route of Administration (free text) #l-1 —>
{/value>
{/ohservation)
¢/inhoundRelationship>
{/substanceAdministration>
</outboundRelationship2> .
CoutboundRelationship2 typeCode="COMP™>
<!— G.k.4.1: Dosage and Relevant Information (repeat as necessary) #1-2 —>
- CsubstanceAdministration classCode="SBADM” moodCode="EVN"™>
{text>G. k. 4. 1. B</text)
<!— 6.k 4.1.8: Dosage Text #1-2 —>
{effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS">
{period value="10" unit="G.k.4.r.3"/>
{I- G.k.4.r.2: Number of Units in the Interval #$1-2 —>
{l=~ G.k.4.r.3: Pefinition of the Time Interval Unit #1-2 —>
{/comp>
{comp xsi:type="IVL_TS" operator="A">
ow value="200901017/> '



{!— G, k.4.r.4: Date and Time of Start of Drug #1~2 ~->
<high value="20080101"/>
<!—'G.k.4.r.5: Date and Time of Last Administration #1-2 —>
</comp>
{/effectiveTime>
{routeCode code="G. k. 4.r. 10.2b" codeSystem="2. 16.340. 1. 113883, 3. 989. 2. 1. 1. 14"
codeSystemVersion="6. k. 4. 1. 10. 2a">
<!— G.k. 4.1, 10, 2a: Route of Administration TermID Version Date / Number #1-2 —>
¢!—— G.k.4.1.10. 2b: Route of Administration TermID #1-2 —>
{originalText>G. k, 4, r, 10, 1<{/originalText>
¢l— G.k.4.r.10.1: Route of Administration (free text} #i-2 —>
</routeCode>
<doseQuantity value="10" tnit="G.k. 4. r. 1b"/>
¢I— G.k.4.r. la Dose (number) #1-2 -->
<!— G.k.4.r.1b: Dose {(unit) #1-2 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4, r. 7</lotNumberText>
{!— G.k.4,r.7: Batch / Lot Number #1-2 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.1. 9. 2a"™>
{!— G6.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 —>
¢!=— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-2 —>
<originalText>G. k. 4. 1. 9. 1{/original Text>
<l-— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-2 —>
¢/formCode>
</kind0fProduct>
</instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{cbservation classCode="0BS™ meodCode="EVN">
<code code="28" codeSystem="2. 16, 840, 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE" code="G.k.4.r.11.2b" codeSystem="2, 16. 840. 1. 113883. 3. 989, 2.1. 1, 14"
codeSystemVersion="G. k. 4.r. 11. 2a"> ’
{!=- G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number ¥1-2
'l
<!— G.k.4.r.11.2b! Parent Route of Administration TermID #1-2 —>
{originalText>G. k. 4. 1. 11. 1</originalText>
¢l—- G.k.4.r.11. 1: Parent Route of Administration (free text) #1-2 ~->
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
{l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-3 —>
<substanceAdministration classCode="SBADM” mocdCode="EVN">
{text>G. k. 4. 1. 8{/text>
¢l— G.k.4.r.8: Dosage Text #1-3 —>
{effectiveTime xsi:type="SYPR_TS™>
{comp xsi:type="PIVL_TS™>
{period value="10" unit="G.k.4.r.3"/>
{l—— G.k.4.r.2: Number of Units in the Interval #1-3 —>
<l— G.k.4.1.3: Definition of the Time Interval Unit #1-3 —>
</comp>
<comp xsi:type="IVL_TS” operator="4">
<low value="20090101"/>
<|— G.k.4.1.4: Date and Time of Start of Drug #1-3 >
<width value="4" unit="G. k. 4.r.6b"/>
¢{!— G.k.4.r.6a: Duration of Drug Administration (number) #1-3 ——>
<l— G.k.4.r.6b: Duration of Drug Administration (unit) #1-3 -=>
<{/comp>
{/effectiveTime>
{routeCode code="G.k. 4. r. 10. 2b” codeSﬁstetF"Z. 16, 840. 1, 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a">



{!— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-3 ~~>
<I— G.k.4.1.10.2b: Route of Administratioen TermID #1-3 ——>
CoriginalText>G. k. 4. r., 10, 1</originalText>
{!— G.k. 4.r.10.1: Route of Administration (free text) #1-3 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 16"/>
<i— G.k.4.r. lz Dose (number) #1-3 —
{d— G.k. 4.1 1b: Dose (unit) #1-3 —
{consumable typeCode="CSM">
<instance0QfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
(lotNumberText>G. k. 4. r. 7{/IotNumberText>
{!— G.k.4.1.7: Batch / Lot Number #1-3 —>
{/productlnstanceInstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND7>
{formCode code="G.k.4.r,9,2b" codeSystem="TBD-DoseForm”

codeSystemVersion="G. k. 4. 1. 9. 2a”>
{I— G.k.4.r.9. 2ax Pharmaceutical Dose Form TermID Version Date / Number #1-3 —>
¢! 6.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-3 —>
CoriginalText)>G. k. 4. 1. 9. 1{/originalText>
<{I— G.k.4.r.9.1: Pharmaceutical Dose Ferm (free text) #1-3 -->
</formCode>
</kind0fProduct>
</instance0fKind>
{/consumable>

<inbhoundRelationship typeCode="REFR">
{observation classCode="0B5" moodCode="EVN">
{code code="28" codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration”/> ,
{value xsi:type="CE” code="6.k 4.1.1L.2b" codeSystem="2. 16. §40. 1. 113883.3.989.2. 1. 1, 14"
codeSystemVersion="G. k. 4.r. 11. 2a™>
<l~= G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1-3
—>
{le- G.k.4.r.11. 2b: Parent Route of Administration TermID #1-3 —>
CoriginalText>G. k. 4. r. 11. 1{/originalText>
{l-- G.k. 4.1.11. 1: Parent Route of Administration {free text) #1-3 —>
{/value>
</observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
<= G.k.4.r: Dosage and Relevant Information (repeat as necessary} Hi-4 -->
{substanceAdministration c¢lassCode="SBAIM” moodCode="EVN">
{text>G. k. 4. r. 8</text)>
<l= G.k. 4. r.B: Dosage Text #1-4 —>
{effectivelime xsi:type="SYPR_TS™>
{comp xsi:type="PIVL_TS™>
{period value="10" unit="G.k 4.r.3"/>
{le~ G.k.4.1.2: Number of Units in the Interval #1-4 —>
<!— G.k.4.r.3: Definition of the Time Interval Unit #1-4 —
</comp>
{comp xsi:type="IVL_TS" operator="a">
<width value="4" unit="G.k. 4.r. 60"/
<l— G.k.4.1.6a: Duration of Drug Administration (number) #1-4 —>
<l— G.k.4.r.6b: Duration of Drug Administration (unit) #1-4 -
<high value="20090101"/> .
<]— G.k.4.r.5: Date and Time of Last Administration #l-4 —>
</comp>
{/effectiveTime>
{routeCode code="G. k. 4.1.10.2b" codeSysten="2. 16. 840. I. 113883. 3. 689, 2. 1. 1. 14"
codeSystenVersion="G. k. 4. r. 10. 2a™>
<!~ G. k. 4.r.10.2a: Route of Administration TermID Version Date / Number #1-4 —>
<!-~ G.k.4.1.10.2b: Route of Administration TermID §i~4 —>
<originalText>G. k. 4. r.10. 1</originalText>
{I-- G.k. 4.1.10. 1: Route of Administration {free text) #1-4 -
{/routeCade>
{doseQuantity value="10" unit="C.k. 4.r. 1b"/>
{le~ G.k.4.1r.1a Dose (number) H1-4 ——>



(I~ G.k.4.1.1b: Dose (unit) #1-4 —>
{consumable typeCode="CSM™>
<instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7{/lotNumberText>
<!— 6.k 4.%.7: Batch / Lot Number #1-4 —> v
<{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”

codeSystemVersion="G. k. 4.1.9.2a™>
¢!— G.k.4.1. 9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-4 —>
{1=- G.k.4.1.9. 2b: Pharmaceutical Dose Form TermID #1-4 ——>
<originalText>G. k. 4.r. 9. 1</originalText>
<!— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-4 —>
</formCode>
</kind0fProduct>
</instance0fKind>
{/consumable>

{inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883, 3.989. 2, 1. 1. 19" codeSystemVersion="1, 1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.1L.2b" codeSystem="2. 16,340, 1. 113883. 3. 989.2. 1. 1. 147
codeSystemVersion="G. k. 4. r. 11. 2a™>
¢l— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1-4
—.) N
<!— 6.k . 4.1.11. 2b: Parent Route of Administration TermlID #l~4 ~->
<originalText>G. k. 4. r. 11. 1</original Text>
<I=~ G.k. 4.1.11.1: Parent Route of Administration (free text) #1-4 —>
</value>
</observationd
{/inboundRelationship)
{/substanceAdministration>
{/outhoundRelationship2>
<outhoundRelationship2 typeCode="COMP™>
<{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-5 —>
<substanceAdministration classCods="SBADM” moodCode="EVN">
{textdG. k. 4. r. B{/text>
4= G.k.4.1.8: Dosage Text #1-5 —>
{effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="IVL_TS™>
<low value="20090101"/>
{l— G.k.4.r. 4: Date and Time of Start of Drug #1-5 —>
<high value="20090101"/>
¢{}— G. k. 4.r.5: Date and Time of Last Administration #1-5 —>
{/comp>
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
<I— G.k.4.r.6a: Duration of Drug Administration (number) #1-5 —-—>
{l=— G.k. 4. 1r.6b: Duration of Drug Administration (unit) #I-5 —>
</comp> '
{/effectiveTime>
<routeCode code="G. k. 4.r.10.2b" codeSystem="2, 16, 840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 10. 2a™>
¢I— G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #1-5 —>
{l== G.k.4.1.10. 2b: Route of Administration TermiD #1-5 —>
<originalText>G. k. 4. r. 10. 1</originalText>
<]— G.k.4.1.10.1: Route of Administration (free text) #1-5 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
{I— G.k. 4. r. la Dose (number} #1-5 —>
¢l— G.k.4.1.1b: Dose {unit) #1-5 -—>
{consumable typeCode="CSM">
{instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</1otNumberText>
<l-- 6.k. 4.1.7: Batch / Lot Number #1-5 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">



{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”™
codeSystemVersion="6.k. 4.r.9. 2a">
{l— 6.l 4.1,9, 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-5 —>
<!~ G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-5 —>
<originalText>G. k. 4.r. 9. 1</originalText>
<l== G. k. 4.r.9.1: Pharmaceutical Dose Form (free text) #i-5 —>
</formCode>
</kind0fProduct>
¢/instanceOfKind>
{/consumable)
{inboundRelationship typeCode="REFR™>
<abservation classCode="0B%" moodCode="EVN™>
{code code="28" codeSystem="2, 16,840, 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”/>
{value xsi:type="CE" code="G.k. 4.r, 11.2b" codeSystem="2. 16.840. 1. 113883. 3.989.2. 1. 1. 14"
codeSystemVersion="G. k. 4. 1. 11. 2a">
: €l-- G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-5

—>
{!— G.k.4.1. 11 2b: Parent Route of Administration TermID §i1-5 —>
CoriginalText>G. k. 4.1, 11, 1{/originalfext>
<!— G.k.4.1.11. 1: Parent Route of Administration (free text) #1-5 —~>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration?
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
¢!~~ G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-6 —>
<substanceAdministration classCode="SBABM™ moodCode="EVN™>
Ctext>G. k. 4. r. 8<{/text>
¢l=- G.k 4.1.8: Dosage Text §1-6 —>
KeffectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™>
{period value="10" unit="G. k. 4.r.3"/>
<l—— G.k.4,r.2: Number of Units in the Interval #i-6 —>
{l== G.k.4.r.3: Definition of the Time Interval Unit #1-6 —>
{/comp>
Ccomp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
1= G.k. 4.1.4: Date and Time of Start of Drug #1-6 ->
{width value="4" unit="G.k 4.1.6b"/>
¢!— G.k.4.1.82: Buration of Drug Administration (number) #1-6 -—>
<{l— G. k. 4.1.6b: Duration of Drug Administration (unit) #1-6 —>
</comp>
{comp xsi:type="IVL_TS3" operator="4">
<high value="20090101"/>
¢{|— G.k.4.r.5: Date and Time of Last Administration #1-6 —>
</comp>
{/effectiveTime>
{routeCode code="G.k.4.r. 10.2b" codeSystem="2. 16.840. 1. 113883, 3.989.2.1. 1. 14~
codeSystemVersion="G. k. 4. r. 10. 2a™>
<I— G.k. 4.7.10.2a: Route of Administration TermID Version Date / Number #1-6§ —>
<l— G.k.4.r. 10, 2b: Route of Administration TermID #1-6 —>
CoriginalText>G. k. 4. r, 10, 1</originalText>
<|— G.k 4.r.10. 1: Route of Administration (free text) #I1-6 —>
{/routeCode>
{doseQuantity value="10" unit="G. k. 4.r. 1b"/>
<— G.k. 4.1.1a Dose (number) #1-1 -->
<!— G.k.4.1.1b: Dose {unit) #1-1 —>
{consumable typeCode="CSM">
{instance0fKind classCode="INST™>
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNunberText>
<!— G.k.4.1.7: Batch / Lot Number #1-1 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND"»
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystenVersion="G. k. 4.r. 9, 2a”>
’ <}~ G.k.4.1r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-6 —>



<l— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-6 —>
originalText>G. k. 4.1. 9. 1{/originalText>
¢l— G.k.4.r.9,1: Pharmaceutical Dose Form (free text) #1-6 —>
{/formCode>
</kind0fProduct>
</instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
¢code code="28" codeSystem="2. 16.840. I, 113883.3.989.2. 1.1, 197 codeSystemVersion="1, 1"
displayName="parentRoute0fAdministration”/>
<value xsi!type="CE” code="G. k. 4.r. 11. 2b" codeSystem="2.16.840. 1, 113883. 3.98%.2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 11, 2a”>
{!— G.k.4.r.11. 2a: Parent Route of Administration TermID Versicn Date / Number #1-6
—
<!— G, k.4.r. LI 2b: Parent Route of Administration TermID #1-6 —>
<originalText>G. k, 4. r. 11, 1{/original Text>
{!— G.k.4.r.11.1: Parent Route of Administration (free text) #1-6 —>
</value>
{/observation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
{!—— G. k. 4.r: Dosage and Relevant Information (repeat as necessary) #1-7 -->
{substanceAdministration classCode="SBADM™ maodCode="EVN™>
{text>G. k. 4. r. 8{/text>
{l— G.k.4.r.8: Dosage Text #1-7 —
CeffectiveTime xsi:type="SXPR_TS">
<comp xsi:type="IVL_TS">
<low value="20090101"/>
(l== G k. 4.r.4: Date and Time of Start of Drug 1-7 —>
<width value="4" wnit="G.k.4.r.6b"/>
¢l G. k. 4.r.6a: Duration of Drug Administration (mumber) #1-7 -
<!— G.k.4.r 6b: Duration of Drug Administration (unit) #1-7 —>
{/comp>
{comp xsi:type="IVL_TS" aperator="A">
<high value="20090101"/>
I— G. k. 4.1r.5: Date and Time of Last Administration #1-7 -=>
{/comp> .
{/effectiveTime>
<routeCode codé="G.k. 4.r.10.2b" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a”™>
l— G, k.4.1.10. 2a: Route of Administration TermID Version Date / Number #1-7 —>
<!— G.k. 4.1.10.2b: Route of Administration TermIP #1-7 —>
<originalText>G. k. 4. r. 10. 1{/originalText)
{I-— G. k. 4.x.10. 1: Route of Administration (free text) #1-7 —
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
{1~ G.k.4.r.1a Dose (number) #1-7 —>
<d— G.k.4.r.1b: Dose (unit) #1-7 —>
<consumable typeCode="CSM™>
¢instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE”">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<l— G.k.4.1.7: Batch / Lot Number #1-7 —>
</productInstancelnstance’
<kind0fPreduct classCode="MMAT" determinerCode="KIND">
{fornCode code="G.k 4.r.9.2b" codeSystem="TBD-DoseForm™
codeSystemVersion="G. k. 4.1.9.2a"> )
<¢!— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-7 —>
{1=- G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-7 —>
{originalText>G, k. 4, r. 9, 1{/originalText>
¢!— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-7 —
{/formCode>
</kind0fProduct>
</instanceOfKind>
</consumable>
{inboundRelationship typeCode="REFR™>



{abservation classCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1. 113883. 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
<value xsi'type="CE” code="G.k.4.r.1l.2b" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 11. 2a”>
<!~ G.k 4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-7
—>
<l— G.k.4.1.11. 2b: Parent Route of Administration TermID #1-7 =-->
<originalText>G. k. 4. r. 11. 1{/original Text>
<!— G.k.4.1.11.1: Parent Route of Administration (free text) #1-7 —>
</value>
{/observaiion?
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="SUMM">
{ohservation classCode="0BS” moodCode="EVN™>

{code code="14" codeSystem="2. 16. 840. 1. 113883, 3.989.2.1. 1. 18" codeSystemVer51on— .17
displayName="cumulativeDoseToReaction™/>
<value xsi:type="PQ" value="10" unit="G.k.5b"/>
<{!-~ G.k.5a: Cumulative Dose te First Reaction (number) #1 —>
<!— G.k.5b: Cumulative Dose to First Reaction (unit) #1 ——>
{/observation®
{/outboundRelaticnship2>
{outboundRelationship? typeCode="PERT">
. <observation classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2. 16.840.1. 113883, 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="gestationPeriod”/>
<value xsi:type="PQ" value="10" unit="G.k.6b"/>
<!— G.k.6a: Gestation Period at Time of Exposure (number) #1 —>
<!— G.k.6b: Gestation Per1od at Time of Exposure (unit) #1 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="31" codeSystem="2. 16. 840. 1. 113883. 3. 989 2.1, 1,197 codeSystemVer51on— .17
displayName="recurranceOfReaction”/>
{value xsi:type="CE” code="G.k 9.i.4" codeSystem="2.16.840. 1. 113883.3.989.2.1. 1. 16"
codeSystenVersion="1. 0" />
{!— 6.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction ¥l —>
CoutboundRelationshipl typeCode="REFR™>
{actReference classCode="0BS” moodCode="EVN™>
{id root="154¢hBB9-958b—45£2-a02f-42d4d6F4657E" />
<{/actReference’
</outboundRelat1onsh1p1>
{/observation>
</outboundRelaticonship2>
{outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="31" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. L. 19 codeSystemVersion="1.1"
displayName="recurrance0fReaction”/>
<value xsiitype="CE” code="G.k.9.i.4" codeSystem="2. 16.840. 1. 113883.3.98%.2.1. 1. 16"
codeSystemVersion="1. 0"/>
{!— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 —->
<outboundRelationshipl typeCode="REFR™>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-cYe8-4e5c-93e9-5h860b3142207 />
</actReference>
</outboundRelationshipl}
{/observation®
{/outboundRelationship2>
<outhoundRelationship2 typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
{code code="9" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
<value xsi:type="CE” code="G.k.10.r" codeSystem="2, 15. 840, 1. 113883.3.989. 2. 1. 1. 17"
codeSystemVersion="1. 0" />
<]— G.k.10.r: Additional Informatien on Drug (coded) (repeat as necessary) #1-1 —
{/observation>



{/outboundRelationship2>
<outboundRelationship2? typeCode="REFR"™>
* ' <abservation classCode="0BS” moodCode="EVN">
{code code="9" codeSystem="2. 16. 840. 1. 113883. 3.989. 2, 1. 1, 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/> :
<value xsi:type="CE" code="G.k.10.r" codeSystem="2. 16. 840, 1. 113883.3.989.2.1,1. 17"
codeSystemVersion="1.0"/>
<I— G.k. 10.xr: Additional Information on Drug {coded) (repeat as necessary) #i-2 ——
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="REFR">
{observation ¢lassCode="0BS" moodCode="EVN"™>
<code code="2" codeSystem="2, 16, 840, 1, 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="additionalInformation”/>
{value xsi:type="ST">G.k. 11<{/value>
{I— G.k.11: Additional Information on Drug (free text) #1 —>
</observation>
{/outboundRelationship2>
<inboundRelationship typeCode="RSON">
<abservation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
<value xsi:type="CE” code="G.k.7.1.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="G.k. 7. r. 2a™>
<!— G.k.7.r.2a: MedDRA Version for Indication #1-1 —>
¢I— G.k.7.r. 2b: Indication (MedDRA code) #1-1 —>
originalText>G. k. 7. r. 1{/original Text>
¢!— G.k.7.r.1: Indication as Reported by the Primary Source #1-1 —>
</value>
{performer typeCode="PRF">
{assignedEntity ¢lassCode="ASSIGNED™>
{code code="3" codeSystem="2.16. 840. 1. 113883. 3.988. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="sourceReporter”/>
{/assignedEntity>
</performer>
{/observation>
{/inboundRelationship>
{inboundRelationship typeCode="RSON™>
{observation classCode="0BS" moodCode="EVN">
<code code="19" codeSysten="2. 16,840, 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
¢value xsi:type="CE” code="G.k.7.r.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="G.k.7.1.2a™> ]
¢!—— G.k.7.r.2a: MedDRA Version for Indication #1-2 —>
<l— .k 7.r.2b: Indication (MedDRA code) H#1-2 ~->
<originalText>G. k. 7.r. 1{/originalText>
¢l=~ 6.k 7.r.1: Indication as Reported by the Primary Source #1-2 ==>
</value>
{performer typeCode="PRF">
{assignedBEntity classCode="ASSIGNED">
<code code="3" codeSysten="2. 16, 840. 1. 113883, 3.989. 2. 1. 1. 21" codeSystemVersion="1,0"
displayName="sourceReporter”/>
</assignedEntity>
{/performer>
{/cbservation> ‘
</inboundRelationship>
{inboundRelationship typeCode="CAUS">
<act classCode="ACT”™ moodCode="EVN™>
{code code="G. k. 8" codeSystem="2. 16. 840. 1. 113863, 3. 989. 2. 1. 1. 15" codeSystemVersion="1.0"/>
<!— G.k.8: Action(s} Taken with Prug #1 —>
<fact>
</inboundRelationship>
{/substanceAdministration>
</component>
{I— G. k Drug(s) Information (repeat as necessary) #2 —>
{component typeCode="COMP*>
<{substanceAdministration classCode="SBABM” moodCode="EVN™>
{id root="68d6f5ce-3b3b-45c7-92dd-60e06730c3a0" />
{consumable typeCode="CSM">



{instanceDfKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
<code code="G.k. 2. 1.2b" codeSystem="TBD-PhPID” codeSystemVersion="G.k 2.1.2a"/>
<l— 6.k.2. 1. 2a: PhPID Version Date / Number #2 —>
<!— G.k. 2. 1.2b: Pharmacentical Product Identifier (PhPID) #2 ——>
<name>G. k. 2, 2</name>
<I— G.k.2.2: Medicinal Product Name as Reported by the Primary Source #2 —>
{asManufacturedProduct elassCode="MANU">
{subject0f typeCode="SB]"™>
<approval classCode="CNTRCT™ moodCode="EVN™>
<id extension="G.k.3.1” reot="2, 16, 840. 1. 113883, 3. 989. 2. 1. 3. 4"/>
— Gk 3.1: Authorisation / Applicaiion Number HZ —>
<holder typeCode="HLD™>
{role classCode="HLD">
<playingOrganization classCode="0RG" determinerCode="INSTANCE”>
{name>G, k. 3. 3¢/name> .
<{1— G.k.3.3: Name of Holder / Applicant H#2 ~->

{/playing0rganization>
{/role>
</holder>
<auther typeCode="AUT">
(territorialAuthority classCode="TERR”™>
{territory classCode="NAT" determinerCode="INSTANCE">
<code cade="G.k.3.2" codeSystem="1.0.3166.1.2.2"/>
<!— G.k.3.2: Country of Authorisation / Application #2 —>
{/territory>
{/territorialAuthority>
{/author>
{pertinentInformation typeCode="PERT">
{policy classCode="POLICY” moodCode="EVN™>
<code code="J2.5.k" codeSystem="2. 16.840.1. 113883, 3.989.5.1.3.2.1. 4"
codeSystemVersion="1. 0" />
- egeje. s k: —RAEESRBEOY A7 ESE 2
</policy>
</pertinentInformation>
{/approval>
</subjectOf> .
{subjectOf typeCode="SB]">
{characteristic classCode="0BS” moodCode="EVN™>
{code code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2. 1. 10"
codeSystemVersion="1, 0" displayName="3FEEMLOWRREL"/>
{value xsi:type="CE" code="J)2.4.k" codeSysten="2. 16, 840. 1. 113883.3.989.5.1.3.2. 1. 3"
codeSystemVersion="1. 0" />
<1-- 828)2. 4. k: HFEESZEOFRES 42 —
{/characteristic>
{/subject0f>
{/asManufacturedProduct>
{ingredient c¢lassCode="ACTI"}
{quantity>
{numerator value="10" wnit="G.k.2.3.r.3b"/>
<l— G.k 2.3.r. 3a: Strength {number) #2-1 —>
<!— G.k.2.3.1.3b: Strength {unit) #2-1 —>
{denominator value="1"/>
</quantity>
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G. k.2, 3.r.2b" codeSysten="TBD-Substance”
codeSystenVersion="G. k. 2. 3. r. 2a”/>
<!-- G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number #2-1
—
¢!— G.k.2.3. 1. 2b Substance / Specified Substance TermID #2-1 —>
<nawe>G. k. 2, 3. v, 1{/hame>
{!— G.k.2.3.r.1: Substance / Specified Substance Name #2-1 ——>
{/ingredientSubstance>
</ingredient>
{ingredient classCede="ACTI™>
{quantity>
{numerator value="10" unit="G.k. 2.3.r.3b"/>
(— 6.k 2.3.1r.3a: Strength (number) #2-2 —>
¢l— G.k. 2.3.1.3b: Strength (unit) #2-2 —>



{denominator value="1"/>
</quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">-
] {code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”
codeSystemVersion="G. k. 2.3.r. 2a"/>
{!— G. k. 2.3.r. 2a: Substance / Specified Substance TermID Version Date/Number §2-2 —
>
<!— 6.k 2.3.1. 2b Substance / Specified Substance TermiD #2-2 —>
<name>G. k. 2. 3. r. 1{/pame>
{!— G.k.2.3,r.1: Substance / Specified Substance Nome #2-2 —>
</ingredientSubstance> '
</ingredient>
</kindOfProduct>
{subject0f typeCode="SB]™>
{productEvent classCode="ACT" moodCode="EVN">
<code code="1" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1, 0"
displayName="retailSupply™/>
{performer typeCode="PRF">
<{assignedEntity classCode="ASSIGNED">
{represented0rganization classCode="0RG™ determinerCode="INSTANCE">
<addr> )
<countryG. k. 2. 4</country>
(1= G.k. 2.4: Identification of the Country Where the Drug Was Obtained #2 —
{/addr>
{/representedOrganization>
</assignedEntity>
{/performer>
</productEvent>
{/subject0f>
<{subject0f typeCode="SB]™>
<observationEvent classCode="0BS” moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1. 10"
codeSystemVersion="1. 0" displayName="—f;HEELOAFEER"/>
{value xsi:type="CE” code="J2.6.k" codeSystem="2. 16.840.1. 113883.3.989.5.1,3.2.1.5"
codeSystemVersion="1.0"/>
<d— 800J2.6.k: —BERMOAFER #2
{/observationEvent>
</subject0f>
</instanceOfKind>
{/consumable>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="6.k.9.1.3. 10"/
{l— G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / BEvent (number} Drug #2, Reaction #1—> .
<I— G.k. 9 1.3. 1b: Time Interval between Beginning of Drug Administration and Start bf -
Reaction / Event {(unit) Drug #2, Reaction #1 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="154ebB889-958b=-4512-a02f-42d4d6£4657E" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k 9.1i.3.2b"/>
¢1-- G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #2, Reaction #1 —>
!~ 6. k. 9.1i.3.2b: Time Interval between Last Dosé of Drug and Start of Reaction / Bvent
(unit) Drug #2, Reaction #1 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="164eb889-958b-45f2-a02f-42d4d6F4657F" />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
{I-- G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #2 —
{I—- 6. k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of .
Reaction / Event (unit) Drug #2, Reaction #2 —>
<actReference classCode="0BS” mcodCode="EVN"}>
<id root="2baa28d6-c9eB-4ebc—-93e9-5b860b314220" />
{/actReference>



{/outboundRelationshipl>
. <outhoundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
{!-- G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number} Drug #2, Reaction #2 —>
¢!-—— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #2 ~-->
{actReference classCode="0BS” mocdCode="EVN™>
{id root="2baa28d6-cYe8-4e6c-93e9-5h860b3142207 />
</actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode-"SA5">
<pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<I-- G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #3 —>
<!— 6.k.9.1.3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #3 —>

{actReference classCode="0BS” moodCode="EVN">
<id root="3a8626cb-9f1b—4ea8~8a0f-e0ff34430adf”/>
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.%.i.3.2b"/> .
<!-- 6.k 9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #3 —>
{l-- 6.k.9.1,3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit} Drug #2, Reaction ¥3 —>
<actReference classCode="0BS™ moodCode="EVN">
<id root="3a8626cb~9f1b—deal8-8alf-e0ff34430adf”/>
{/actReference’
</outboundRelationshipl?>
<outboundRelationshipl typeCode="3A5">
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/> .
<l-- G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {number) Drug #2, Reaction #4 —>
<!-— 6.k.9.1.3.1b! Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #2, Reaction #4 --)
{actReference classGCode="0BS" moodCode="EVN">
<id root="2¢99840f~08b4~499c-80ff-ddB415F4fB8a5"/>
- {/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢!~ G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number} Drug #2, Reaction H4 —>
{!-= G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug ¥2, Reaction #4 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="2¢99840f-08b4-499c-80ff~ddB415f4f8a5" />
</actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
) {l=- 6.k.8.1.3,1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #5 ——>
<!-- 6.%.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #5 —> _
{actReference classCode="0BS" moodCode="EVN">
{id raot="1071064c—cf10-4a3b~83c1-34f9ddb7eabd”/>
</actReference’
{/outbeundRelationshipl>
<outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k 9. 1. 3.2b"/>
<l-- 6.k 9.1.3. 22! Time Interval hetween Last Dose of Drug and Start of Reaction / Event
(number} Drug #2, Reaction #5 —->
<1-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #5 —>
{actReference classCode="0BS” mooadCode="EVN">
<id root="1071064c—cf10-4a3b~83c1-34f9ddbTeabd™ />



{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k. 9.i.3.1b"/>
<)— G.k 9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #6 —
{I— G.k.9.4i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #6 —>-
{actReference classCode="0BS" moodCode="EVN">
<Gd root="1f927283-10b6-4334-0d43-e525640Fb18E" />
{/actReference>
{/outboundRelationshipl> .
{outboundRelationshipl typeCode="SAE™>
{pausefuantity value="10" unit="G.k. 9.i.3.2b"/>
¢]— 6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number} Drug #2, Reaction #6 —>
¢1-- G. k.9 i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction i#6 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640Fbi8F" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
. {pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
¢l— G.k.9.i.3.la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #7 —>
<l— 6.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #7 —>
{actReference classCode="0BS” moodCode="EVN">
{id root="e0342969-38be~423f-b6bb-celdbe279d8e” />
{/actReference’
{/outboundRelationshipl>
{outboundRelationshipl typeCode='SAE'>
{pauseQuantity value="10" unit="G.k. 9. i.3.2b"/>

¢l— G.k.9.i. 3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number} DBrug #2, Reaction #7 —>
¢l— G.k.9.i.3.2b: Time Interval hetween Last Dose of Drug and Start of Reaction / Event

(unit) Drug #2, Reaction #7 —>
{actReference classCode="0BS" moodCode="EVN">
{id root="e0342969-38be-423f-b6bb—celdbc279d8e” />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<1— G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #8 —>
{}— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #8 —>
<actReferance classCode="0BS” moodCode="EVN™>
{id root="al5be052-8070-426d-af04-6863263443e07/>
</actReference>
{/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
¢!-— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #8 —> )
{l-— 6.k 9.1, 3. 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #8 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="al15he032-8070-426d-af04-6863263443e0” />
{/actReference>
</outboundRelationshipl>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0B5” moodCode="EVN">
{code code="6" codeSystem="2.16.840.1.113883.3.989.2. 1. 1.19" codeSystemYersion="1.1"
displayName="blinded”/>
¢value xsi:type="BL" value="true”/>
¢l— 6.k.2.5: Investigational Product Blinded #2 —>
{/observation>



{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
<l~- G.k.4.r : Dosage and Relevant Information (repeat as necessary} #2-1 —>
{substariceAdministration classCode="SBADM” moodCode="EVN™>
{text>G. k. 4. 1. 8¢/text>
¢l— G.k.4.1.8: Dosage Text #2-1 —->
{effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
{!— G. k. 4,1.4: Date and Time of Start of Drug #2-1 —>
<high value="20090101"/>
<{!— G.k.4.1.5: Date and Time of Last Administration #2-1 —>
{jeffectiveTine
{routeCode code="G.k.4,r, 10.2b" codeSystem="2. 16.840. 1, 113883. 3,989, 2. 1. 1. 147
codeSystenVersion="G. k. 4. r. 10. 2a™>
<!~ G.k. 4.1.10. 2a: Route of Administration TermID Version Date / Number f2-1 —>
{l~~ G.k. 4.7.10. 2b: Route of Administration TermID #3~] —>
CoriginalText>G. k. 4, r. 10. I</eriginalText>

{!— G.k.4.7.10. 17 Route of Administration (free text} #2-1 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
¢!— G.k.4.r.1a Dose (number) #2-1 —>
{I~- G.k.4.1. 1b: Dose (unit) #2-1 —>
{constmable typeCode="CSM">
<instanceOfKind ¢lassCode="INST">
<{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r, 7¢/1otNumberText)>
{l-- G.k.4.7.7: Batch / Lot Number #2-1 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemYersion="G. k. 4.r. 9. 2a™>
¢}— G.k.4.1.9.2a: Pharmaceutical Dose Form TermlP Version Date / Number H#2-1 —>
<}-— 6.k 4.7.9.2b: Pharmaceutical Dose Form TermID #2-1 —>
{originalText>G. k. 4.1.9. 1<{/originalText>
{!— G.k.4.r.8.1: Pharmaceutical Dose Form (Free text) #2-1 —>
{/formCode>
</kind0fProduct>
{/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
: <eode code="28" codeSysten="2.16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE" code="G.k.4.r.11. 2b” codeSysten="2. 16. 840. L. 113883. 3.989. 2. 1. 1. 14~
codeSystenmVersion="G.k. 4. r. 11. 2a"™>
<|— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-1
_—>. '
<!-- G. k. 4.r.11. 2b: Parent Route of Administration TermID #2-1 —>
<originalText>G. k. 4, x. 11, 1</originalText> .
<!— G.k.4.r.11. 1: Parent Route of Administration (free text) #2-1 -~
value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship?>
{outboundRelationship2 typeCode="COMP™>
{!-- G.k.4.r: Dosage and Relevant Information (repeat as mecessary) #2-2 ——
<substanceAdministration classCode="SBADH” moodCode="EVN">
{text>G. k. 4. r. 8<{/text>
¢l— G.k.4.1.8: Dosage Text #2-2 —>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
I G.k.4.r.4: Date and Time of Start of Drug f2—2 —
<width value="4" unit="G.k.'4.r.6b"/>
<!— G.k.4.r.6a: Duration of Drug Administration (number} #2-2 —>
<!— G.k.4.1.6b: Duration of Drug Administration (unit) #2-2 -—>
{/effectiveTime>
{routeCode code="G.k.4.r.10.2b" codeSystem="2. 16. 840. 1. 113883, 3,989, 2, 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a">



<I— G k.4, 1.10.2a: Route of Administration TermID Version Date / Number #2-2 —->
¢!— G.k. 4. 1. 10.2b: Route of Administration TermID #2-2 -—>
<originalText>G. k. 4. r. 10. 1{/original Text>
<— 6.k 4,r.10.1: Route of Administration (free text) #2-2 —>
{/routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{1=- G.k.4.r.1a Dose (number) #2-2 —>
<I— G.k.4.1. 1b: Dose (unit) #2-2 ——>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4, r, 7¢/1otNumbexrText>
<{l-- G.k.4.1.7: Batch / Lot Number #2-2 —>
</productInstancelnstance>
<kind0OfProduct classCode="MMAT" determinerCode="XIND">

<formCode code="G. k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k 4.r.9. 2a”>
’ <! G.k.4.1.9.2a’ Pharmaceutical Dose Form TermID Version Date / Number #2-2 —>
{1— G.k.4.1.9, 2b: Pharmaceutical Dose Form TermiD #2-2 —>
{originalText>G. k. 4. 1. 9. 1</originalText>
<!— G.k 4.1.9,1: Pharmaceutical Dose Form (free text) #2-2 —>
{/formCode>
¢/kind0fProduct>
</instance0fKind>
{/consumable’

{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”/>
<value xsi:type="CE” code="G.l. 4.r. 11. 2b" codeSystem="2, 16, 840, 1. 113883. 3. 9689. 2. 1. 1. 14”
codeSystemVersion="6. k. 4.1. 11.2a™>
{I— 6.k 4.r.11. 2a: Parent Route of Administration TermlID Version Date / Number #2-2
—>
{l=- G.k.4.r. 11 2b: Parent Route of Administration TermID #2-2 —>
{originalText>G. k. 4. r. 11, 1</originalText>
<!-- G.k.4.r.11. 1: Parent Route of Administration {free text) #2-2 —>
{/value>
{/observation>
{/inboundRelationship>
{/substanceAdministration
{/outhoundRelationship2>
CoutboundRelationship2 typeCode="COMP">
{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-3 —>
{substanceAdministration classCode="SBADM" moodCode="EVN™>»
{text>G. k. 4. r. 8¢/ text>
{!— G.k.4.1.8: Dosage Text #2-3 —>
<effectiveTime xsi:type="IVL_TS5">
{width value="4" unit="G. k. 4.r.6b6"/">
<l= G.k 4.r.6a: Duration of Drug Administration (number) #2-3 —>
{l— G.k. 4.r.6b: Duration of Drug Administration (unit) #2-3 —>
<high value="20090101"/>
d-- G.k.4.1.5: Date and Time of Last Administration #2-3 -->
{/effectiveTime>
{routeCode code="G.k. 4. r. 10. 2b” codeSystem="2. 16. 840, 1. 113883. 3.989. 2, 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10, 2a">
<l— 6.k 4.1.10. 2a: Route of Administration TermID Version Date / Number #2-3 ——>
<l— G.k.4.1.10. 2b: Route of Administration TermID #2-3 ——>
<originalText>G, k. 4. r. 10. 1<{/originalText>
<!— G.k. 4.r.10. t: Route of Administration (free text) #2-3 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
{l~~ G.k.4. 1. 1a Dose {number) #2-3 —>
<}— G.k. 4.1.1b: Dose (unit) #2-3 --—>
<consumable typeCode="CSM™>
<instanceQfKind classCode="INST">
N {productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</1lotNumberText>
{}=— G.k.4.r.7: Batch / Lot Number #2-3 ——>
{/preductInstancelnstance>



<kindOffroduct classCode="MMAT™ determinerCode="KIND">
{formCode ecode="G, k. 4.r.9.2b" codeSystew="TBD-DoseForn”
codeSystemVersion="G. k. 4.r. 9. 2a™>
¢!— G.k.4.r. 9 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 —>
<4— G.k 4.1.9. 2b: Pharmaceutical Dose Form TermID #2-3 —>
CoriginalText>G. k. 4. r. 9. 1{/originalText>
¢{l== G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-3 —>
{/formCode>
</kind0fProduct>
{/instanceOfKind>
</consumable>
{inboundRelationship typeCode="REFK™>
{observation c¢lassCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
{value xsi:type="CE” code="G.% 4.r.11.2b" codeSystem="2. 16.840.1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.r.11.2a">

¢<!— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-3
-
<l-— 6.l 4.r. 11. 2b: Parent Route of Administration TermlD #2-3 —>
CoriginalText>G. k. 4, r. 11. 1{/originalText>
¢l=- G.k.4.1.11.1: Parent Route of Administration (free text) #2-3 —>
</value>
{/observation>
{/inbotndRelationship>
{/substanceAdministration)
</outboundReiationship2>
<outboundRelationship2 typeCode="COMP">
{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-4 —>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
Stext>G. k. 4. r. 8{/text>
<{!— G.k. 4. 7.8 Dosage Text H2-4 —>
{effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.r.3"/>
{l— G.k.4.1.2: Number of Units in the Interval #2-4 —>
¢l== G.k.4.1.3: Definition of the Time Interval Unit #2-4 —>
</comp>
{comp xsi:type="IVL_TS" operator="A">
<low value="20090101"/>
<l— G.k.4.1.4: Date and Time of Start of Drug #2-4 —>
</comp>
{/effectiveTime>
{routeCode code="G.k.4.r, 10. 2b” codeSystem="2. 16. 840. 1. 113883. 3, 989, 2.1.1. 14"
codeSystemVersion="G. k. 4. r. 10, 2a">
<I— 6.k 4.1. 10, 2a: Route of Administration TermlP Version Pate / Number #2-4 —>
{l— G.k. 4.1.10. 2b: Route of Administration TermID #2-4 —>
CoriginalText>G. k. 4. r. 10. 1¢/originalText>
I~ G.k.4.r.10. 1: Route of Administration (free text) #2-4 —

{/routeCode> .
- <doseQuantity value="10" unit="G.k.4.r.1b"/>
¢l= G.k. 4.1. la Dose (number} H2-4 —> -

<!— G.k. 4.r, 1b: Dose {unit) #2-4 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
{productInstanceInstance classCode="MMAT” determinerCode="INSTANCE™>
<{lotNumberText>G. k. 4. r. 7</lotNumberText>
<{!— 6.k 4.r.7: Batch / Lot Number #2-4 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
* <formCode code="G.k 4.r.9. 2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.1.9.2a"™>
{1— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 —>
¢}— G.k.4.r.9.2b: Pharmaceutical Dose Form TermlID #2-4 -—>

{originalText>G. k. 4. r. 9. 1<{/originalText>
¢!{— G.k.4.r.9. 1: Pharmaceutical Dose Form (free text) #2-4 —>
{/formCode> )
</kind0fProduct>

{/instance0fKind>



</consumable>
{inboundRelationship typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.11.2b" codeSystem="2. 16. 840, 1. 113883. 3.98%. 2. 1. 1. 147
codeSystemVersion="G. k.4.r. 11. 2a"> :
{!— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-4
—
{I— G.k.4.r, 11, 2b: Parent Route of Administration TermID #2-4 —>
SoriginalText>G. k. 4. r. 11, 1{/originalText>
{l== G.k.4.1.11. 1: Parent Route of Administration (free text) #2-4 ——>
</value>
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-5 —»
{substanceAdministration classCode="SBADM" moodCode="EVN™>
<{text>G. k, 4, r, B{/text>
{l— G.k.4.r.8: Dosage Text H2-5 —->
leffectiveTime xsi:type="SXPR_TIS">
<comp xs5i:type="PIVL_TS™>
{period value="10" unit="G.k.4.r.3"/">
{I— G.k 4.7.2: Number of Units in the Interval #2-5 -->
{!— G.k.4.r.3: Definition of the Time Interval Unit #2-5 —
</comp®
<comp xsi:type="IVL_TS” operator="A")
<high value="200901017/>
¢!— G k.4.r.5: Date and Time of Last Administration #2-5 —
{/comp>
{feffectiveTime>
{routeCode code="G.k.4.r.10.2b" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. L. 147
codeSystemVersion="G. k.4.r. 10. 2a™>
‘ <{!— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-5 —
<!— G.k.4.1r.10.2b: Route of Administration TermID #2-5 —>
<originalText>G. k. 4. r. 10. 1</originalText>
<l-- G.k.4.r.10. 1: Route of Administration (free text) #2-5 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
{l— G.k. 4.r.1a Dose (number) #2-5 —>
{!— G.k.4.1.1b: Dose {(unit) #2-5 —>
{consumable typeCode="CSM™>
<instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{l=~ G.k.4.r. 7: Batch / Lot Number #2-5 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G.k.4.r.9.2b" codeSystem="TRD-DoseForm”™
codeSystemVersion="G. k. 4.r. 9. 2a™>
<l— 6.k.4.r. 9. 2a: Pharmaceutical Dose Form TermID Version Date / Number §2-5 —>
¢l— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-5 —>
{originalText>G. k. 4. 1. 9. 1</originalText>
<!— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-5 —>
{/formCode>
</kind0fProduct>
{/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR™>
<abservation classCode="0BS” moodCode="EVN™>
<code code="28" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteCfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.1L 2b" codeSystem="2. 16. 840, 1. 113883. 3.989.2. 1. 1. 14"
codeSystemVersion="C. k. 4. r. 11. 2a™>
¢l—- G.k.4.r.11.2a: Parent Route of Adwinistration TermID Version Date / Number #2-5
-—>
{!-- G. k. 4.r.11. 2b: Parent Route of Administration TermID #2-5 —>



<originalText>G. k. 4 r. 11 1{/original Text>
<!— G.k.4.r.11. 1: Parent Route of Administration (free text) #2-5 —
</valuey
{/observation>
{/inboundRelationship>
</substanceAdministration>
{/outboundRelaticnship2>
{outboundRelationship2 typeCode="COMP">
{l-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) f2-6 ==
{substanceAdninistration eclassCode="SBADM" moodCode="EVN">
(text>G. k. 4. 1. 8{/text>
¢}— G.k.4.r.8: Dosage Text H2-6 —>
{effectiveTime xsi:type="SXPR_TS™>
{eomp xsi:type="PIVL_TS">
{period value="10" unit="G. k. 4.r.3"/>
<|— G.k.4.1.2° Number of Units in the Interval #2-6 —>
¢l— 6.k.4.r.3: Definition of the Time Interval Unit #2-6 —>

</comp>
<comp xsi:type="IVL_TS" operator="A">
<width value="4" unit="G.k 4.1.6b"/>
{}=~ G.k.4.r.6a: Duration of Drug Administration (number) #2-6 —>
<1— G.k.4.r.6b: Duration of Drug Administration (unit)} #2-6 —>
{/comp>
{/effectiveTime>
{routeCode code="G.k.4.r.10.2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVerslon— G. k. 4.1.10.2a">
<!— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-6 —>
<l— G.k.4.r. 10. 2b: Route of Administration TermID #2-6 —>
{originalText>G. k. 4. r. 10, 1{/originalText>
<l— G.k.4.1.10.1: Route of Administration (free text) #2-6 —>
{/routeCoded
{doseQuantity value="10" unit="G.k 4.r. 1b"/>
{I~- G.k.4.r.1a Dose (number) #2-6 —>
<!— G,k 4. 1. 1b: Dose {unit) #2-6 >
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. 1. 7{/lotNumberText>
{1— G.k.4.r.7: Batch / Lot Number #2—6 —>
</preductInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
! {formCode code="G.k.4.r.9.25" codeSystem="TBD-DoseFerm”
codeSystenVersion="G. k. 4.r. 9, 2a">
<!— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6 ——>
<!l— G.k.4.r. 9. 2b: Pharmaceutical Dose Form TermID #2-6 ——>
{eriginalText>G. k. 4.r. 9. 1{/originalText>
<l— G.k.4.1. 9. 1: Pharmaceutical Dose Form {free text) #2-6 —>
¢/formCode>
</kindOfProduct>
</instanceGfKind>
{fconsumable>
- {inboundRelationship typeCode="REFR">»
{observation classCode="0BS” moodCode="EVN">
{cade code="28" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”/>
<value xsi:type="CE” code="G.k. 4.1.11.2b" codeSystem="2. 16. 840. 1. 113883.3.989.2.1. 1, 14"
codeSystemVersion="G. k. 4.r. 11. 2a™>
<l G.k.4.1.11.2a: Parent Route of Administration TermID Version Date / Number #2-6
—> !
<1-- 6.k.4.1.11.2b: Parent Route of Administration TermID #2-6 —>
{originalText>G, k. 4. r. 11, 1<{/originalText>
<{!— G.k.4.r.11.1: Parent Route of Administration (free text) #2-6 —>
{/value>
{/observation>
{/inboundRelationship> .
{/substanceAdministration?
{/outboundRelationship2>
<outboundRelationship? typeCode="COMP™>
{!— G.k.4.1: Dosage and Relevant Information {repeat as necessary) #2-7 —>



{substanceAdministration classCode="SBADM" moodCode="EVN™>
{text>G. k. 4. r. 8</text>
¢t— G,k 4.1, 8: Dosage Text #2-7 —>
{effectiveTime xsi:type="PIVL_TS™>
<period value="10" unit="G.k 4.r.3"/>
<{]— G.k.4.1.2: Number of Units in the Interval H#2-T7 -->
<l— G.k.4.1r.3: Definition of the Time Interval Unit #2-7 —>
{/effectiveTime>
<routeCode. code="G. k. 4. r. 10, 2b” codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 147
codeSystenVersion="G. k. 4. r. 10, 2a™>
<l— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-7 —>
¢l— G.k.4.r. 10. 2b: Route of Administration TermID #2-7 —>
<originalText>G. k. 4. r. 10. }{/originalText>
<I— G.k.4.r. 10.1: Route of Administration (free text) #2-7 —
{/routeCode>
<doseQuantity value="10" unit="G.k. 4. r.1b"/"
{!— G.k.4.r.1a Dose (number) #2-7 -—>
{!— G.k.4.1.1b: Dose {unit) H2-7 —>
{consumable typeCode="CSM">
<instanceQfKind classCode="INST™>
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{!— G.k.4.1.7: Batch / Lot Number #2-7 —>
{/productlnstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
{formCode code="G. k. 4.r.9.2b" codeSysten="TBD-DoseForm”

codeSystenVersion="G. k. 4. r. 9. 2a”™>
¢!— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-7 —>
<{l— G.k.4.r.9.2b: Pharmacecutical Dose Form TermID #2-7 —>
<originalText>G. k. 4. r. 9. 1</originalText>
{!— G.k.4.7r.9.1: Pharmaceutical Dose Form {free text) #2-7 —>
{/formCode>
</kind0fProduct>
</instanceQfKind>
{/consumable>

{inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN™>
{code code="28" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.11.2b" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystenVersion="G. k. 4. r. 11. 2a"> :
<!— G.k. 4.7.11. 2a: Parent Route of Administration TermID Version Date / Number H2-7
—
¢l-— G.k.4.1.11. 2b: Parent Route of Administration TermID #2-7 -->
<originalText>G. k. 4. r. 1. 1</originalText>
{I— G.k.4.r.11.1: Parent Route of Administration (free text) #2-7 —>
{/value>
</observation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship? typeCode="COMP™>
{{—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-8 —
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G k. 4. r. 8</text>
¢{!I-— G.k.4.1.8: Dosage Text #2-8 —>
{effectiveTime xsi:type="IVL_TS">
<{low value="20090101"/>
¢{!— G.k.4.r.4: Date and Time of Start of Drug #2-8 —>
{feffectiveTime>
<routeCode code="G.k. 4.r.10.2b” codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1, 1. 14"
codeSystemVersion="G. k. 4. 1. 10. 2a™>
¢l G.k.4.1r.10.2a: Route of Administration TermID Version Date / Number #2-8 ——>
<!— G, k. 4.1.10.2b: Route of Administration TermID #2-8 —>
<originalText>G. k. 4. r. 10. 1{/originalText>
¢!— G.k.4.7.10.1: Route of Administration (free text) #2-8 —>
{/routeCode> )
<{doseQuantity value="10" unit="G.k.4.r. 1b"/>
{— G.k.4.1. 1a Dose {number) #2-8 —>



<!— &.k. 4. 1. 1b: Dose {unit) fi2-8 —>
{consumable typeCode="CSM™>
{instanceOfKind classCode="INST">
<productinstancelnstance classCode="MMAT" determinerCode="TNSTANCE™>
<lotNiumberText>G. k. 4, r. 7¢/1otNumberText>
<l=- G.k.4.r.7: Batch / Lot Number #2-8 —>
</productinstanceInstance)
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G.k.4.1.9.2b" codeSysten="TBD-DoseForm”

codeSystemVersion="G. k. 4.r. 9. 2a™>
<l— 6.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 ——
{i— G.k. 4.r.9.2b: Pharmaceutical Dose Form TermiD §2-§ —>
{originalText>G. k. 4. r. 9. 1{/original Text>
<{I— G. k. 4.1.9.1: Pharmaceutical Dose Form (free text) #2-8 —>
</formCode>
</kindOfProduct)
{/instance0fKind>
{/consumable>

{inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN"}>
{code code="28" codeSystem="2. 16. 840, 1. 113883. 3,989, 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="parentRouteQfAdministration”/>
<value xsiitype="CE" code="G.k.4.r.11.2b" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 14~
codeSystemVersion="G. k. 4. r. 11. 2a”>
{!— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-8
_—) -
{l~~ G.k.4.r.1%.2b: Parent Route of Administration TermID #2-8 —>
{originalText>G. k. 4. r. 11. 1{/original Text>
<{l— G.k. 4 1.1L. 1: Parent Ronte of Administration {(free text) #2-8 —>
</value>
{/observation®
{/inboundRelationship>
{/substanceAdministration?
{/outboundRelationship2>
<outhoundRelationship2 typeCode="COMP”*>
<}= G.k.4.r: Dosage and Relevant Information (repeat as necessary) §2-9 —>
{substanceddministration classCode="SBADM" moodCode="EVN">
Ctext?G k. 4. r. 8</textd
¢l G. k.4, 1.8 Dosage Text #2-9 —>
{effectiveTime xsi:type="IVL_TS™>
<high value="20090101"/>
<!-- 6.%4.r.5: Date end Time of Last Administration #2-9 —>
{feffectiveTime>
{routeCode code="G.k.4.r.10.2b" codeSystem="2, 16.840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r, 10, 2a”>
<1—- 6.k 4.r10. 2a: Route of Administration TermID Veision Date / Number £#2-9 —>
¢1= 6.k 4.x.10.2b: Route of Administration TermID #2-9 -
<originalText>G. k. 4. r. 10. 1</originalText>
{I— G.k.4.1.10.1: Route of Administration (free text) #2-9 —
{/routeCode>
{doseQuantity value="10" unit="G.k 4.r.1b"/>
{!— G.k.4.r.1a Dose (number) #2-9 —>
¢I— G.k.4.r. 1b: Dose (unit} #2-9 —->
{consumable typeCode="CSM">
<instance0fKind classCode="INST"> )
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText)
{l— G.k.4.1.7: Batch / Lot Mumber #2-9 ~>
{/productInstanceInstance’
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”™
codeSystemVersion="G. k. 4.1.9, 2a™>
<I-- G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-9 —>

<{!— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-9 ——>
SoriginalText>G. k. 4.r. 9. 1{/originalText>
<I~ G.k.4.1r.9.1: Pharmacsutical Dose Form (free text) #2-9 —>
{/formCode>
</kind0fProduct>

</instance0fKind>



</consumable>
{inboundRelaticnship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/> ’
<value xsi:type="CE” code="G.k.4.1.1l.2b" codeSysten="2. 16.840. 1. 113883, 3.989.2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11, 2a”>
¢!— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-9
—>
{l- G.k.4.1.11. 2b: Parent Route of Administration TermID #2-8 ——>
{originalText>G. k. 4. r. 11. 1</original Text>
¢!=- G.k.4.r.11. 1: Parent Route of Administration (free text} #2-9 —>
</value? :
{/ohservation>
R {/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢l-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) H#2-10 —>
{substanceAdministration classCode="SBADM” moodCode="EVN™>
<{text>G. k. 4. r. 8¢/text>
{!-- G.k.4. 1. 8: Dosage Text #2-10 —>
CeffectiveTime xsi:type="IVL_TS™>
{width value="4" unit="G.k.4.r.6b"/>
¢{!~— G.k.4.r. 6a: Duration of Drug Administration (number) #2-10 —->
<!— G.k.4.r, 6b: Duration of Drug Administration (unit) #2-10 —>
effectiveTime>
{routeCode code="G. k. 4.1.10.2b" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4.1.10.2a">
<I— 6.k 4.r.10. 2a: Route of Administration TermID Version Date / Number #2-10 —>
{I— G.k.4.r.10.2b: Route of Administration TermID #2-10 —>
{ariginalText>G. k. 4. r. 10. 1</originalText>
{l=— G.k.4.1.10. 1: Route of Administration (free text) #2-10 —>
{/routeCode>
{doseQuantity value="10" unit="G. k.4.x. 1b"/>
<!-- G.k.4.r.1a Dose {nuwher) #2-10 -—>
<!— G.k. 4. 1. 1b: Dose (unit) #2-10 —>
{consumable typeCode="CSM™>
{instance0fKind classCode="INST">
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7{/lotNumberText>
{!-- G.k. 4.r.7: Batch / Lot Number #2-10 -->
{/preductInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSysten="TBD-DoseForn"
codeSystemVersion="G. k. 4.1. 9. 2a™>
{I— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number H2-10 —>
{!— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-10 —>
CoriginalText>G. k. 4.1. 9. 1<{/original Text>
¢l— G.k.4.r.9. 1: Pharmaceutical Dose Form (free text) #2-10 —>
</formCode>
</kind0fProduct>
{/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR"™>
{observation c¢lassCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1. 1"
displayName="parentRoute0fAdministration”/>
{value xsi:type="CE" code="G.k.4.1.11.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989.2, 1. 1. 14"
codeSystemVersion="G. k. 4.1. 11.2a™> )
¢l— G.k. 4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-10
-
¢l=- G.k. 4.1r.11. 2b: Parent Route of Administration TermID #2-10 —>
<originalText>G. k. 4. x. 11. 1{/originalText>
<!-- G.k.4.7.11. 1: Parent Route of Administration (free text) #2-10 ——>
</value>
{/ocbservation>
{/inboundRelationship>
</substanceAdministration>



v

{/outboundRelationship2>
{outboundRelationship2 typeCode="SUMM™>
{observation classCode="0BS” moodCode="EVN">
{code code="14" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="cumulativeDoseToReaction”/?
{value xsi:typs="PQ~ value— 10* unit="G. k. 5b*/>
¢!— G.k.5a: Cumulative Dose to First Reaction (number) #2 —>
<{I— G.k.5b: Cumulative Dose to First Reaction (unit) #2 -->
{/observation>
{/outhoundRelationship?>
<outboundRelationship2 typeCode="PERT™>
{observation ciassCode="0BS" moodCode="EVN")
{code code="16" codeSystem="2. 16, 840. 1. 113883. 3. 980, 2. 1. 1. 19™ codeSystemVers1on— .17
dlsplayName— gestationPeriod”/>
{value xsi:type="PQ@" value="10" unit="G.k.6b"/> :
{!— G.k.Ba: Gestation Period at Time of Exposure {mumber) #2 —>
{!— G.k.6b: Gestation Period at Time of Exposure {unit) #2 ——>

{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™)>
<code code="31" codeSystem="2.16.840. 1. 113883. 3. 989.2.1. 1, 19" codeSystemVersion="1. 1"
displayName="recurrance0fReaction”/>
{valte xsi!type="CE" code="G,k.9.1i.4" codeSystem="2.16.840.1.113883.3.989.2.1.1.16"
codeSystenVersion="1, 0" />
<!— 6.k 9.1.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #1 —>
<outboundRelationshipl typeCode="REFR”>
{actReference classCode="0BS" moodCode="EVN™>
<id root="154eb889-958b-45F2-a02f—42d4d6£4657E"/>
{/actReference>
{/outboundRelationshipl>
{/observation’
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
{code code="31" codeSysten="2, 16, 840, 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="recurrance(fReaction”/>
{value xsi:type="CE” code="G.k 9.1, 4" codeSystem="2.16.840.1 113883.3.589.2.1.1. 16"
codeSystemVersion="1.0"/>
<!— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #2 —>
{outboundRelationshipl typeCode="REFR"}
<actReference classCode="0BS” moodCode="EYN™>
{id root="2baa28d6-cYe&-4e6c—03e9-5h860b314220" />
{/actReference’
</outboundRelationshipl>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
{value xsi:type="CE” code="G. k. 10.r" codeSystem="2. 16.840.1. 113883.3.989.2.1.1, 17"
codeSystemVersion="1.0"/>
<!— G, k. 10.r: Additional Information on Drug (coded) (repeat as necessary) #2-1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN™>
{code code="9" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
<value xsi:type="CE" code="G.k, 10,1” codeSysten="2. 16.840.1.113583.3.589.2.1.1. 17"
codeSystemVersion="1.07/>
<{I— 6.k 10.r: Additional Information on Drug (coded) (repeat as necessary) #2-2 —->
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16.840. 1. 113883.3.589. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="additional Information”/>



<{value xsi:type="ST">G. k. 11</value>
¢!-— G.k.11: Additional Information on Drug (free text) #2 —>
{/observation>
</outboundRelationship2>
{inboundRelationship typeCode="RSON">
{observation classCode="0B5" moodCode="EVN™>
Lcode code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 13" codeSystemVersion="1.1"
displayName="indication”/>
{value xsi:type="CE" code="G.k.7.r.2b" codeSystem="2. 16. 840, 1. 113883, 6. 163"
codeSystemVersion="G. k. 7.r. 2a">
<!— G.k.7.r.2a: MedDRA Version for Indication #2-1 —
{}— G.k. 7.r.2b: Indication (MedDRA code) #2-1 ——>
{originalText>G. k. 7. r. 1<{/originalText>
{!— G.k.7.1.1: Indication as Reported by the Primary Source #2-1 —>
</value>
{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED™>
{code code="3" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 21" codeSystemVersion="1.¢"
displayName="sourceReporter”/>
{/assignedEntity>
{/performer>
{/observation>
</inboundRelationship>
{inboundRelationship typeCode="RSON">
<observation classCode="CBS" moodCode="EVN">
{code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication"/>
<value xsi:type="CE" code="G.k.7.r.2b" codeSystem="2, 16, 840, 1, 113883, 6, 163"
codeSystemVersion="G. k.-7. . 2a”>
{l— G.k.7.r.2a: MedDRA Version for Indication #2-2 ~=>
<I— G.k.-7.r.2b: Indication (MedDRA code) #2-2 —>
{originalText>G. k. 7. r. 1</originalText>
{l== G.k.7.r.1: Indication as Reported by the Primary Source #2-2 —>
{/valued> ]
{performer typeCode="PRF">
CassignedEntity classCode="ASSIGNED">
<code code="3" codeSystem="2, 16.840. 1, 113883. 3. 989. 2. 1. 1. 21" codeSystemVersion="1. 0"
displayName="sourceReporter”/> ’ '
</assignedEntity>
{/performer>
{/observation>
</inboundRelationship>
{inboundRelationship typeCode="CAUS">
<act classCode="ACT" moodCode="EVN™>
{code code="G, k. 8" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 15" codeSystem¥ersion="1.0"/>
{!— G.k.8: Action{s) Taken with Drug #2 —>
{/act>
{/inboundRelationship>
{/substanceAdministration>
{/component>
{/organizer>
{/subject0f2>
{subject0f2 typeCode="SB]">
<organizer c¢lassCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1. 11”7 codeSystemYersion="1.0"
displayName="7&% OWEE"/>
{component. typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
{code cade="7" codeSystem="2. 16.840. 1. 113883. 3. 989.5.1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="/& HH[BI&" />
{value xsi:type="INT" value="1"/>
I-- @8eJ2.13.r. 1: BRHEE #1 —
</observation>
</component>
{component typeCode="COMP">
<observation classCode="0BS” moadCode="EVN">
<code code="8" codeSystem="2. 16. 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="X1ER" />
{value xsi:type="ED">J2.13.r. 2¢{/value>



<l-— geaJz. 13.r.2: XBESR 1 —
{/observation>
{/component>
{component typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN™>
{code code="9" codeSystem="2. 16.840. 1, 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="BE340" />
<value xsi:type="CE" code="]2.13.r.3" codeSysten="2. 16. 840. I. 113883. 3.989.5,1.3.2. 1. 7"
codeSystemVersion="1.0"/>
<l— 68@J2 13.r.3: MISHE H1 —
</observation>
{/eomponenty
{component typeCode="COMP">
. Cobservation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1, 0"
displayName="#EhOEM OFE" />
{value xsi:type="BL” value="irue”/>

=-88aJz. 5. 1. 4° TEFTOEFRNOFTE # —
</observation>
{/component>
{/organizer>
{/subjectOf2>
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY" moodCode="EVN™>
{code code="1" codeSystem="2. 16. 840, 1. 113883. 3. 989.5.1.3.2. 1. 11" codeSystemVersion="1. 0"
displayName="{58DIFE" />
{component typeCode="COMP™>
<ohservation classCode="0BS” moodCode="EVN">
. <code code="7" codeSystem="2. 16. 840, 1. 113883.3.989.5. 1. 3. 2. 1. 10" codeSystemYersion="1. 0"
displayName="& HEI1¥"/>
<value xsi:type="INT” value="1"/>
<i-- 288J2.13.r. 1: RHEIX 42 —>
{/observation>
{/component? :
{component typeCode="COMP">
{cbservation classCode="0BS” moodCode="EVN">
<code code="B" codeSystem="2. 16.840. 1. 113883, 3. 989, 5, 1. 3. 2. 1. 10" codeSystemVersion="1, 0"
displayName="%}SRE" /> )
<value xsi:type="ED">J2.13.r.2¢/value}
<I-- @8aJz. 13.r. 2: A 42 —
{/observation>
{/component>
{component typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2, 16, 840, 1. 113883. 3, 989, 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0*
displayName="BR3E48" />
{value xsi:type="CE" code="]2.13.1.3" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1.7"
codeSystemVersion="1.07/>
{1 888)2.13.r.3: BARAE 42 —
{/ohservation>
</component>
<component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
<code code="10" codeSystem="2. 16. 840, I, 113883.3.989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1, 0"
displayName=" &P OEHIDOHE"/>
{value xsi:type="BL” value="false”/>
<I— @eeJz. 13.r. 4: REPOEGIOFE #2 —
{/observation>
</component?
{/organizer>
{/subject0f2>
</primaryRole>
{/subjectl>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS” moodCode="EVN™>
{code code="20" codeSystem="2, 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="interventionCharacterization”™/>
{value xsi:type="CE” code="G.k.1” codeSystem="2.16.840.1.113883.3.9589.2.1.1.13"
codeSystemVersion="1. 0"/>



¢l-= G.k. 1. Characterisation of Drug Role Prug #1 ——>
¢subject? typeCode="SUBI™>
{productUseReference classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5-e039-4a7a~2c30~67671b0ef9ed™ />
{/productlseReference>
{/subject2>
{/causalityAssessment>
{/component> .
{component typeCode="COMP™>
{causalityAssessment classCode="0BS” mocdCode="EVN™>
<code code="20" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="interventionCharacterization”/>
{value xsi:type="CE" code="G.k.1” codeSystem="2. 16. 840. 1. 113883.3.988.2.1. 1. 137
codeSystemVersion="1,0"/> .
¢{!— G.k.1: Characterisation of Drug Role Drug #2 —>
{subject2 typeCode="SUB]">
<productlUseReference classCode="SBADM" meodCode="EYN">
{id root="68d6f5ce—3b3b—45c7-92dd-69e06730c3ad” />
. </productUseReference>
{/subject2> .
{/causal ityAssessment>
{/component>
{component typeCode="COMP">
{causalityAssessment classCode="0BS” moocdCode="EVN™>
{code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 197 codeSystenVersion="1.1"
displayName="causality”/>
{value xsi:type="ST">G.k. 9.1, 2.r. 3¢/value>
<J— G.k.9.1i.2.r.3: Result of Assessment Drug #1, Reaction £l, Assessment B —
{methedCoded
<originalText>G. k. 9. i. 2. 1, 2{/originalText>
{I— 6.k.9.1.2.r. 2: Method of Assessment Drug #1, Reaction #1, Assessment #1 —)
</methodCode> : .
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
{code>
<originalText>G. k. 9. i. 2. r. 1</originalText>
<l— 6.k.9.i.2. 1.1 Source of Assessment Drug #1, Reaction #1, Assessment #1 —>
{/code>
{/assignedEntity>
</author>
<subjectl typeCode="SUB]">
<adverseEffectReference classCode="0BS" moocdCode="EVNT>
{id root="154eb889-958b-45{2-a02f~42d4d6f4657F" />
{/adverseEffectReference>
{/subject]l)
{subject2 typeCode="SUB]™»
<{productUseReference classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5~e039-4a7a-9c30-67671b0efled” />
{/productlUseReference?
{/subject2>
{/causalityAssessment>
{/component>
{companent typeCode="COMP">
{causalityAssessment ¢lassCode="0BS” moodCode="E¥YN">
<code code="39" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>

<value xsi‘type="ST">G.k. 9. 1.2 r.3¢/value>
{!1—G.k 9.1, 2.x.3: Result of Assessment Drug #1, Reaction #Z, Assessment #1 -—>
<{methodCode>

{originalText>G. K. 9. 1. 2. 1. 2</originalText>
<I=-6.k.9.1.2.r. 27 Method of Assessment Drug #1, Reaction #2, Assessment i —>
</methodCode>
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
{code> .
<originalText>G. k. 9. i. 2. r. 1</original Text>
I-- G.k.9.i.2. 1. 1: Source of Assessment Drug #1, Reaction #2, Assessment #1 —>
{/code>
{/assignedEntity>



{/author>
<subjectl typeCode="SUB]”>
<adverseEffectReference classCode="0BS” moodCode="EVN™>
<id raot="2baa28d6-c9e8-4e6c-93e9-5b860b314220%/>
{/adverseEffectReference>
{/subjectl>
{subject2 typeCode="SUBJ">
{productUseReference classCode="SBADM" moodCode="EVN™>
{id root="3c91b4d5-e039-4a7a—9c30-67671h0efled” />
{/productlUseReference>
{/sub ject2>
{/causalityissessmeni>
{/component>
{component typeCode="COMP">
{causalityAssessment classCode="0BS" moodCode="EVN"> '
{code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>

{value xsi:type="ST">G.k.9.1,2.7. 3¢/ valued
d--6.%9.i.2.r. 3: Result of Assessment Drug #2, Reaction #2, Assessment #$1 —>
<{methodCode>
<originalText>G. k. 9. £, 2. 1, 2¢/originalText>
<4—G.k.9.1i.2.r.2: Method of Assessment Drug §2, Reaction #2, Assessment #1 —>
{/methodCode>
<author typeCode="AUT™>
{assighedEntity classCode="ASSIGNED™>
{code>
{originalText>G. k. 9. i. 2. r. 1</originalText>
<I—6.k9.i.2.1. 1 Source of Assessment Drug #2, Reaction #2, Assessment #1 —-)
{/eode>
{/assignedEntity>
</author>
{subjectl typeCode="SUBj">
{adverseEffectReference classCode="0B3" moodCode="EVN™>
<id root="2baa28d6~cJe8-debc-93e9-5b860b3142207 /5
{/adverseEffectReference
{/subjectl>
{subject2 typeCode="SUBJ">
{productlseReference classCode="SBADM” woodCode="EVYN™>
<id root="68d6f5ce~3b3b-45cT-82dd-69e06730¢3a0"/>
{/productlUseReference>
<{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP">
{causalityAssessment classCode="0BS™ moodCode="EVN")>
{code code="39" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>
{value xsi:type="ST">G.k.9.1i.2. r. 3¢/value>
<1--6.%.9,i.2.r. 3: Result of Assessment Drug #2, Reaction H2, Assessment #2 —>
<methodCode>
<originalText>G. k.9, 1, 2. r. 2</originalText> ‘
<!—G.k.9.i.2.r. 2: Method of Assessment Drug #2, Reaction #2, Assessment {2 —
</methodCode>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
- {code>
<originalText>G. k. 9. 1. 2. r. 1</originalText>
I—- 6.k 9.i.2.r. 1: Source of Assessment Drug #2, Reaction #2, Assessment #2 ~—>
{/code>
{/assignedEntity>
{/author>
{subjectl typeCode="SUBJ]">
{adverseEffectReference classCode="0BS” moodCode="EVN">
{id root="2baa28d6~c9eB-4e6c-93e9-5b860b314220” />
</adverseEffectReference>
{/subjectl>
{subject? typeCode="SUBJ">
{productlUseReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce-3b3b—45¢7~82dd-6906730c3ad" />



{/productUseReference>
{/subject2>
{/causalityAssessment}
{/component>
{componentl typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment” />
<value xsiitype='ED”>H.2</Value>’
" ¢l— H.2: Reporter's Comments —>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<code cede="3" codeSystem="2, 16,840, 1. 113883. 3. 939, 2. 1. L. 21" codeSystemVersion="1. 0"
displayName="sourceReporter”/>
{/assignedEntity>
{/author>
{/vbservationEvent>
{/componentl>
{component]l typeCode="COMP™>
<observationEvent classCode="0BS" moodCode="EVN">
{code code="15" codeSystem="2.16. 840. 1. 113883. 3.989. 2, 1, 1. 19" codeSystemVersion="1. 1"
displayName="diagnosis™/>
{value xsi:type="CE” code="H.3.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="H. 3.r. 1a"/>
<l— H.3.r.1a: MedDRA Version for Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #1 —>
<]— H.3.1. 1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code) #1 —>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
{code code="1" codeSystem="2.16.840.1.113883.3.989.2. 1. 1. 21" codeSystemVersion="1,0"
displayName="sender”/>
{/assignedEntity>
{/author>
¢/observationEvent>
<{/componentl>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
{code code="15" codeSystem="2, 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="diagnosis”/>
<value xsi:type="CE” code="H.3.r.1b" codeSystem="2. 16. 840. 1. 113883, 6. 163"
codeSystemVersion="H. 3. r. 1a"/> .
<l-- H.3.r. la: MedDRA Version for Sender's Piagnosis / Syndrome and / or Reclassification of Reaction /
Event §2 —>
{l-- H.3.r. 1b: Sender’'s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code} H2 —>
{author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1. 0"
displayName="sender” />
{/assignedEntity>
{/author>
{/ohservationEvent>
{/component1>
{componentl typeCode="COMP™>
{observationEvent ¢lassCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/> .
{value xsi:type="ED">H. 4<{/value}
<!-- H.4: Sender’ s Comments =->
Cauthor typeCode="AUT™)
{assignedEntity classCode="ASSIGNED™>
{code code="1" codeSystem="2. 16. 840. 1, 113883. 3.989. 2. 1. 1. 21" codeSystem¥ersion="1. 0"
displayName="sendar"/>
{/assignedEntity>
</author>
{/cbservatiocnEvent>
{/component1>
{componentl typeCode="COMP™>



{observationEvent classCode="GBS” moodCode="EVN™>
{code code="3"

KETICHTEZIAL RS

<value xsi:type="ED">]J2.7.2¢/value>
I 080J2.7.2: RETIAT DAY+ —
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN™>
{code code="4" codeSystem="2. 16, 840. 1. 113883, 3,980, 5. 1.3.2. 1. 10"

BRAEDBERREE" />

{value xsi:type="ED">JZ.3</vaiue>
<t— eselz. 9: BERVEOMEME —
{/observationEvent>
<{/component1>
{componentl typeCode="COMP">
<observationEvent classCode="0BS" maodCode="EVN™>

codeSystemVersion="1. 0

codeSystem="2, 16. 840. 1. 113883. 3. 980.5.1. 3. 2. 1. 10" codeSystemVersion="1. (" displayName="

r

displayName="

SHORIE/>

<code code="5" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10"

<value xsi:type="ED">J2. 10</value>
<l-- @edJz, 10: & EoRE —
{/observationEvent>
</componentl>

{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN">
{code code="6" codeSystem="2, 16,840.1. 113883, 3.989.5.1.3.2.1.10"

Z OB EEIREE" )

<value xsi:type="ED">]J2. 11</value>
<1— @@eg2. 11: ZohBSEERSE —
{/observationEvent>
{/componentl>
{componentl typeCode="COMP">
{observationEvent ¢lassCode="0BS" moodCode="EVN">
{code code="12" codeSystem="2.16.840. ]. 113883. 3.989.5.1.3.2. 1. 10"

HENBOBEL /)

HwEZ 17,

w527/,

& 3"

&40

{value xsi:type="ED">J2.16</value}
<1-- @gaga. 16: WEAFTOEL —
</observationEvent>
{/compenent1>
{componentl typeCode="COMP">
<observationEvent classCode="0BS" moodCode="EVN™>
<code code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10"

<value xsi:type="ED">J2.19</value>
<I-- eegjz. 19: MWE1 —
{/observationEvent>
{/component}>
<compronentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN">
{code code="14" codeSystem="2. 16. 840, 1, 113883. 3. 889. 5. 1. 3. 2. 1. 10"

<value xsi:type="ED">]J2.20</value’
<l-- geays. 20: HE2 —>
{/observationEvent>
{/conponentl?
{componentl typeCode="COMP">
<observationEvent classCode="085" moodCode="EVN">
{code code="15" codeSystem="2. 16.840. 1. 11388%. 3. 989.5.1.3.2.1. 10"

<value xsi:type="ED">J2.21</valued>
<I-- @B8J2.21: {FES -
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="E¥N">
<code code="16" codeSystem="2, 16, 840. 1. 113883.3.989.5. 1. 3. 2. 1. 10”

{value xsi:type="ED">]2.22<{/value)
<l-- @eayz. 22: HE4 —

codeSystemVersion="1. 0" displayName="

codeSystemVersion="1. 0" displayName="

-

codeSystemVersion="1. 0" displayName="

codeSystemVersion="1. 0" displayName="

-

codeSystemVersion="1, 0" displayName="

d

codeSystemVersion="1. 0" displayName="

codeSystemVersion="1.0" displayName="



{/observationEvent>
{/component1>
{/adverseEventAssessment>
<{/component>
<compenent typeCode="COMP">
<observationEvent c¢lassCode="0BS" moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="additionalDocumentsAvailahle”/>
<value xsi:type="BL” value="true”/>
{l— C.1.6.1: Are Additional Documents Available? --)
{/cbservationEvent>
</component>
<component typeCode="COMP*>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="23" codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="1localCriteriaForExpedited”/> :
<value xsi:type="BL" value="true”/>
¢(!— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>
{/observationEvent>
</companent>
{component typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN™>
{code code="38" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1. 1"
displayName="summaryAndComment”/>
{value xsi:type="ED” language="H.5.r. Ib">H. 5. r. la¢/value>
¢{!— H.5.r, la: Case Summary and Reporter's Comments Text #1 -->
<{!— H.5.r.1b: Case Summary and Reporter's Comments Language i1 —>
<author typeCode="AUT™>
{assignedintity classCode="ASSIGNED™>
<code code="2" codeSystem="2. 16, 840. 1. 113883. 3. 889. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="reporter”/>
{/assignedEntity>
</author>
{/observationEvent>
{/component>
{component typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
{code code="36" codeSystew="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="summaryAndComment”/>
{value xsi:type="ED” language="H.5.r. 1b">H. 5.r. 1a¢/value>
¢l— H.5.r.1a: Case Summary and Reporter's Comments Text H#2 —>
<!-— H.B.r.1b: Case Summary and Reporter’s Comments Language #2 —>
{author typeCode="AUT")
<assighedEntity classCode="ASSIGNED">
o <code code="2" codeSystenm="2. 16, 840. 1. 113883. 3. 980. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="reporter”/>
{/assignedEntity>
{/author>
{/observationBvent>
{/component>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG” moodCode="EVN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 22" codeSystemVersion="1.0"
displayName="initialReport”/>
{subject0f2 typeCode="SUB]™>
{controlActBvent classCode="CACT” moodCode="EVN™>
<author typeCode="AUT"»
<assignedEntity classCode="ASSIGNED">
{code code="C. 1.8.2" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 3" codeSystemVersion="1.0"/>
¢!=- C.1.8.2: First Sender of This Case —>
{/assignedEntity>
{/author> .
{/controlActEvent>
{/subject0f2>
</relatedInvestigation>
{/outboundRelationship>
{outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSIG" moodCode="EVN">
{code nullFlavor="NA"/>



{subject0f2 typeCode="SUBJ">
{controlActEvent classCode—'CACT' moodCode="EVN">
<d extension="C. 1. 10.r" root="2. 16.840.1.113883,.3,989,2.1.3.2"/>
<I— €.1.10.1: Identification Number of the Report Which Is Linked to This Report (repeat as necessary)
#1 —
/controlActEvent>
{/subject0f2>
¢/relatedInvestigation
</outbotndRelationship>
{outboundRelationship typeCode="SPRT">
(relatedInvestigation classCode="INVSTG" moodCode="EVN">
{code nuliFlavor="HA"/>
{subject0f2 typeCode="SUB]">
{controlActEvent classCode="CACT” moodCode="EVN™>
<id extension="C.1.10.r" root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
<l— C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat. as necessary)
#2z —> '

{/controlActEvent>
{/subject0f2>
</relatedInvestigation>
</outboundRelationship>
{outboundRelationship typeCode="SPRT">
{priorityNumber value="17/>
<!— C.2.r.5: Primary Source for Regulatory Purposes #1 —
{relatedInvestigation classCode="INVSTG" moodCode="EVN™>
{code code="2" codeSystew="2. 16.840. 1. 113883. 3. 989. 2, 1. 1. 22" codeSystemVersion="1. 0"
displayName="sourceReport”/>
{subject0f2 typeCode="SUB]">
<controlActEvent classCode="CACT” moodCode="EVN™>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
{addr>
{streetAddressLine>C. 2. 1. 2. 3¢/streetAddressLine>
{J=- C.2.1.2.3: Reporter’s Street #1 —>
city>C, 2.1, 2. 4</city>
<1 C.2.1.2.4: Reporter’s City #1 —>
{state>C. 2.1, 2, 5¢/stated
{}— C.2.1.2.5: Reporter’s State or Province #1 —»
<postalCode>C. 2. r. 2. 6</postalCode>
{!— C.2.r. 2.6: Reporter’s Postcode #1 -
</addry '
{telecom value="tel:C.2.r.2.7"/>
{I— C.2.1.2.7: Reporter’s Telephone #1 —>
{assignedPerson classCode="PSN” determinerCode="INSTANCE™>
<name>
<prefix>C. 2. r. 1, 1</prefix>
¢{!-—-C.2.r.1.1: Reporter's Title Bl —>
<given>C.2.r. 1. 2{/given>
{1-- €. 2.1.1.2: Reporter's Given Name #1 ——>
{given>C.2.r. 1. 3{/given>
<l— C.2.r.1.3: Reporter’'s Middle Name #1 —>
{family>C. 2. 1.1. 4{/Tanily>
¢l— C.2.r.1.4: Reporter's Family Name #1 -->
{/name>
<asQualifiedEntity classCode="QUAL">
{code code="C.2.1.4" codeSystem="2. 16. 840. 1. 113883, 3,980. 2. 1. 1. 6" codeSystemVersion="1.0"/>
¢I-- C.2.r.4: Qualification #1 —>
{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY" determinerCode="INSTANCE">
<code code="C.2.1.3" codeSystem="1.0.3166.1.2.2"/>
<!--C.2.r.3: Reporter's Country Code #1 -~
</location> ’
{/asLocatedEntity>
{/assignedPerson®
<{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<name>C. 2.r. 2. 2{/name>
{!— C.2.1.2.2: Reporter’ s Department #I ~>
<assignedEnt%ty classCode="ASSIGNED™>



<representedOrganization classCode="0RG” determinerCode="INSTANCE™)
<name>C, 2. 1. 2. 1</name>
¢l— C.2.r.2.1: Reporter’ s Organisation #1 -~
{/representedlrganization>
</assignedEntity>
{/representedOrganization>
{/assignedEntity>
</author>
{/controlActEvent>
{/subject0f2>
</relatedInvestigationd
</outboundRelationship>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation e¢lassCode="INVSTG" moodCode="EVN">
<code code="2" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 22" codeSystemVersion="1,0"
displayName="sourceReport”/>
{subject0f2 typeCode="SUB]">
{controlActEvent classCode="CACT” moodCode="EVN™>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
{addr>
{streetAddressLinedC. 2. r. 2. 3¢/streetAddressLine>
{1~= C.2.1.2.3: Reporter's Street #2 —>
city>C. 2. 1. 2. 4</city>
{!-- C.2.r.2.4: Reporter's City #2 —>
{state>C. 2. r. 2. 5{/state>
{1—- C.2.r.2.5: Reporter's State or Province #2 —>
{postalCode>C. 2. 1. 2. 6</postalCode>
¢{— C.2.r.2.6: Reporter's Postcode #2 —>
<{/addr>
{telecom value="tel:C.2.r.2.7"/>
¢! C.2.r.2.7: Reporter’s Telephone #2 —>
<assignedPerson classCode="PSN” determinerCode="INSTANCE™
<name>
{prefix>C. 2. r. 1. 1{/prefix>
<= C.2.r.1.1: Reporter's Title #2 —>
{given>C. 2. r. 1. 2{/given>
<{l— C.2.r.1.2: Reporter's Given Name #2 —
{given>C.2.r. 1. 3</given>
<l— C.2.r.1.3: Reporter’ s Middle Name #2 —> .
{family>C. 2. r. 1. 4{/fanily>
<! C.2.r.1.4: Reporter’ s Family Name #2 —>
{/name>
<asQualifiedEntity classCode="QUAL">
{code code="C.2.r.4" cadeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 6" codeSystenVersion="1.0"/>
{I—C.2.r.4: Qualification #2 —>
</asQualifiedEntity>
{asLocatedintity classCode="LOCE">
<location c¢lassCode="COUNIRY” determinerCode="INSTANCE">
{code code="C.2.r1.3" codeSystem="1.0.3166.1.2.2°/>
¢1-- C.2.v.3: Reporter’s Country Code #2 —>
¢/location>
{/asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<name>C. 2. r. 2. 2{/name>
¢I-- C.2.r.2.2: Reporter’ s Department #2 —>
<assignedBntity classCode="ASSIGNED">
{representeddrganization classCode="0ORG" determinerCode="INSTANCE™>»
<{name>C. 2. r. 2. 1{/nane>
¢<l-- (. 2.r.2.1: Reporter's Organisation #2 —>
{/representedOrganization>
{/assignedEntity>
{/representedOrganization |
{/assignedEntity>
<{/author>
{/controlActEvent>
{/subject0f2>
¢/relatedInvestigation>



{/outboundRelationship»
<subject0f1 typeCode="SUB]">
<controlActEvent classCode="CACT” mbodCode="EVN™>

<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
{code code="C.3.1" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 7" codeSystenVersion="1. 0" />

<1— C.3.1: Sender Type —>

<addr>
{streetAddressLine>C. 3. 4. 1{/streetAddressLine}
¢I--€.3.4.1: Sender’s Strect Address >
<city>C. 3.4, 2{/city>
l~= €. 3.4.2. Sender’ s City —>
{state>C. 3. 4. 3</state>
¢I-- €. 3.4.3: Sender’ s State or Province —>
<{postaiCode>C, 3. 4, 4{/postalCode>
<I-- €. 3.4.4: Sender’ s Postcode —>

{/addr>

<telecom value="tel:C.3.4.6"/>
¢{!— C.3.4.6: Sender’ s Telephone —>
(telecom value="fax:C.3.4.7°/>
(I~ C.3.4.7: Sender’'s Fax -~}
{telecom value="mailto:C. 3.4.8"/>
{I— C.3.4.8: Sender’'s E-mail Address -—>
{assignedPerson classCode="PSN” determinerCode="INSTANCE™>
{name>
{prefix>C, 3, 3, 2¢/prefix>
4— C.3.3.2: Sender's Title ~>
{given>C. 3. 3. 3</given>
<1— €.3.3.3: Sender's Given Name —>
<given>C. 3. 3. 4¢/given>
<!— C.3.3.4: Sender’s Middle Name —>
{famiiy>C. 3. 3. 5</Tanily>
¢!~ (.3.3.5: Sender's Femily Name -->
<{/name>
<{aslLocatedEntity classCode="LOCE">

{location classCode="COUNTRY™ determinerCode="INSTANCE”>

<code code="C.3.4.5” codeSyster="1.0.3166.1.2.2"/>
¢!— C.3.4.5: Sender’s Country Code —>
{/location>
{/aslocatedEntity>
{/assignedPerson>

{represented0rganization classCode="0RG" determinerCode="INSTANCE">

<name>C. 3. 3. 1</name>
<l——C.3.3.1: Sender’s Department —>
{assignedEntity classCode="ASSIGNED">

{representedQrganization classCode="0RG" determinerCodeﬁ”INSTANCE”)

<name>C. 3. 2{/name>
<!-- C.3.2: Sender’s Organisation —>
{/representedOrganization
{/assignedEntity>
{/represented0rganization>

</assignedEntity>

{fauthor>

{primaryInformationRecipient typeCode="PRCP">
<assignedEntity classCode="ASSIGNED">

{assignedPerson classCode="PSN" determinerCode="INSTANCE™>
- {name>
<prefix>J2. 18. 2{/prefix>
<l— @aBJ2. 18.2: ¥ FEE
<Family>J2. 18. 3</family>
(I @8J2.18.3: REE & —>
{given>]2. 18. 4¢/given>
<I-- @@872.18.4: Bi{E4 £ —>
</name>
{/assignedPerson>

{representedOrganization classCode="0RG”" determinerCode="INSTANCE">

<name>J2. 18. 1{/name>
<I-- 88872.18. 1: BIEHE HESE -
{/representedQrganization)



{/assignedEntity>
{/primaryInformationRecipient>
</controlActEvent>
{/subject0f1>
<subjectOfl typeCode="SUBJ™>
<contrelActEvent classCode="CACT” moodCode="EVN™>
{id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9. L r.2" root="2.16. 840. 1. 113883.3.989. 2. 1.3.3"/>
14— C.1.9.1.r. 1: Source{s) of the Case Identifier (repeat as necessary) #1 —>
{d—C1.9.1.r.2 Case Identifier(s) #1 —>
{/controlActEvent>
{/subject0fl>
{subject0fl typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C, 1.9. 1.r. 1" extension="C. 1.9, 1.r.2" root="2.16.840. 1. 113883.3.980.2.1.3.3"/>
{I-—-C.1.9.1.r. 1: Sourca(s) of the Case Identifier (repeat as necessary) #2 —>
(I— C.1.9.1.1r.2 Case Identifier(s) #2 —>
{/controlActEvent>
{/subject0f1>
{subjectOf2 typeCode="SUBJ™>
{investigationCharacteristic classCode="0B5" moodCode="EYN">
{code code="1" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. 23" codeSystemVersion="1, 0"
displayName="ichReportType”/>
Cvalue xsiitype="CE” code="C. 1.3" codeSysten="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 2 codeSystemVersion="1.0"/>
{l— C.1.3 Type of Report —>
{/investigationCharacteristic>
<{/subject0f2>
{subject0f2 typeCode="SUB] >
{investigationCharacteristic classCode="0BS” moodCode="EVN™>
<code code="2" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 23" codeSystemVersion="1.0"
displayName="otherCaselds”/>
<value xsi:type="BL” value="true”/>
{1— C.1.9.1 Other Case Identifiers in Previous Transmissions —>
{/investigationCharacteristic>
¢/subject0f2>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989 2.1. 1. 23" codeSystenVersion="1.0"
displayName="nullificationAmendmentCode”/>
<value xsi:type="CE” code="C, 1. 11,1" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 5" codeSystemVersion="1. 0"/>
<{I— C.1.11.1: Report Nullification / Amendment —>
{/investigationCharacteristic>
{/subject0£2>
{subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode— EVN™>
{code code="4" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 23" codeSystemVersion="1.0"
displayName="nullificationAnendmentReason”/>
{value xsi:type="CE">
- CoriginalText>C. 1. 11. 2¢/originalText>
d—c.1112: Reason for Nullification / Amendment —>
</value>
</investigationCharacteristic>
{/subject0f2>
<{subject0f2 typeCode="SUB]">
{investigationCharacteristic ¢lassCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2, 15.840, 1. 113883. 3. 989.5. 1. 3. 2. 1. 12" codeSystemVersion="1. 0" displayName="3%51
&5 GBERE O
{value xsi:type="CE” code="J2.1a" codeSystem="2.16. 840, 1. 113883. 3. 989.5.1.3.2.1. 1"
codeSystemVersion="1.0"/>
<I-- @eeJz. la: HAIES (HMENME —
</investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUBJ]">
. {investigationCharacteristic classCode="0B5" moodCode="EVN">
{code cade="2" codeSystem="2. 16, 840, 1, 113883. 3. 989. 5. 1. 3. 2. 1. 12" codeSystemVersion="1.0" displayName="38%
‘2Ea s
{value xsi:type="T5" value="20130107"/>
— eag2. 2. 1: BERER
{/investigationCharacteristic>
¢/subject0f2>



{subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="083" moodCode="EVN™>
<code code="3" codeSystem="2.16, 840. 1. 113883, 3. 989. 5. 1. 3, 2. 1. 12" codeSystemVersion="1, 0" displayName="3R4%
BRAETIaAV YL
{value xsi:type="ED">J2.2.2¢/value}
<l-- ege)2.2.2: BEERBRPTE AL D
{/investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUB]™>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code cade="4" codeSystem="2. 16.840. 1. 113883. 3. 889.5. 1.3, 2. 1. 12" codeSystemVersion="1. 0" displayName="PNE%

an o,

BT i
<value xsi:type="CE” code="J2.3" codeSystem="2.16.840.1.113883.3.989.5.1.3.2. 1. 2" codeSystemVersion="1.0"/>
<1— @eajz. 3: EEERE T 5 S —>

{/investigationCharacteristic>
{/subject0f2>

{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="5" codeSystem="2. 16. 840. 1. 113883, 3. 989.5.1.3.2. 1. 12" codeSystemVersion="1. 0" displayName="4}k
*HBHNTZ TN
<value xsiitype="CE” code="F2,8.1" codeSystem="2.16.840. 1. 113883.3,989.5,1,3,2.1.6"
codeSystemVersion="1,0"/>
<l— @@8J2.8.1: WEXMNBATTS —
{/investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="6" codeSystew="2.16.840.1. 113883.3.989.5.1.3.2. 1. 12” codeSystenVersion="1.0" displayName="¢%
FoprTy Noak:: 3: : R pY :
{value xsi:6type="ED">]J2,8.2<{/value>
<1— €88J2.8.2: &S OEEH >
{/investigationCharacteristic>
</subject0f2>
{/investigationEvent>
</subject>
{/controlActProcess>
</PORR_IN0490160V>
<]-- Message #1 —>
{1-- Message #2 ~->
<1-— PORR_IN049016UV —>
<}~ /PORR_INO49016UV —>
{l-- Message #2 —>
{receiver typeCode="RCV™>
{device classCode="DEV" determinerCode="INSTANCE">
{id extension="N.l.4" root="2. 16, 840. 1. 113883, 3, 989, 2. 1. 3. 14" />
<!-- N.1.4: Batch Receiver Identifier —>
" {/device>
{/receiver>
{sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N. 1.3” root="2. 16. 840. 1. 113883. 3. 989. 2. 1. 3. 13" />
{l== N.1.3: Batch Sender Identifier —>
{/device>
</sender>
{/MCCI_IN20G100UV01>
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XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0" [@xsi3scheméLocationfurn1h17'
org2v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr]/controlActProcessl@classCod
e='CACT][@moodCode="EVN"/subjectl@typeCode='"SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/subjectOf2[@typeCode="SUBJ'] [inve
stigationCharacteristic/code[@code='1"l{@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'11[1)/investigationCharacteristicl@classCode="OBS'| [@mood Code="EVN'
I~valuel@xsi-type='CE'l[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.1'/@code

XPath /MCCI_IN200100UV01[@ITS Version="XML._1.0'll@xsi:schemaLocation="urn:hl7-

(codeSystem | org:v3 |

Version) MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcess[@classCod

e='CACT'][@mood Code="EVN'l/subjectl@typeCode="SUBJ'H 11/investigationEvent
[@classCode=INVSTG'1[@moodCode="EVN1/subjectOf2[@type Code="SUBJ 1 [inve
stigationCharacteristic/codel@code="1'l[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.127][1)investigationCharacteristic[@classCode='OBS' [@mood Code="EVN'
I~valuel@xsi:type='"CEl[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1'//@code

SystemVersion

J2.1b #EAEES (BS)

HEBH | ESESHE LEBRER SRR

ERHE F—RIZOWVWTH, BTHE - RETHREOWMICELLT, M +5, £k, B
THLEICOWTE, BERME LEEEERRE T D, TTHRE, RETHET
HBIPIDLTH—HRER. AEELEME T L L, Bl L aRES
OGS >TERRT EHRD,

VAt £ 8N

FFEE BTN

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'] [@xsi:schemalocation="urn:h17-
orgv3

MCCI_IN200100UV01.xsd'l/PORR,_IN049016UV[r)/controlActProcessl@classCod

—;CACT'] [@mood Code="EVN'l/subjectl@typeCode="SUBJ"I[1}/investigationEvent
[@classCode—'INVSTG][@moodCode—'EVN]/1d[@root—'2 16.840.1.113883.3.989.5.
1.3.2.3.V][1}/@extension




J2.2.1

BEREAEA

HEHH

SEBREICOWT, EOBEL 2B T, BE. HAIK 228 40 20 5 1 HH

FCI TR

L<IF3ESHEE2EIB 2B EE 1 BHIIEDIEHEMoA LR D,
BIEE CCYYMMDD F Tit#d 52 L, ‘

7y

CCYYMMDDhhmmss.UUUU[+ | -ZZzz]

FFAE

Fl

XPath .

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'll@xsi:schemaLocation="urn:hl7-
orgiv3d
MCCI_IN200100UV01.xsd'//PORR_IN049016UVIr]/controlActProcess[@classCod
e='CACTl[@moodCode="EVN'l/subjectl@type Code="SUBJ'l[1l/investigationEvent
[@classCode=TNVSTG'[@mood Code=EVN'/subjectOf2[@type Code="SUBJ 1 [inve
stigationCharacteristic/code[@code="2"T[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.12'l[1)/investigationCharacteristic[@classCode="OBS'H@mood Code="EVN
Ivaluel@xsitype="TS')/@value

J2.2.2 #H

HBERIZETS A

HEBHA

[J2.21 |EBER) oW T, UTICRTHEE%E. SABMNERBACE#RT 2,
CHBIZBWT, TCLAFRENORMICHREBAFENRA] & [J2.2.1 HiEiE
BB BELZZ5E

HRAIE 228 KD 20 B 1 BEE L RESHE 2T XIIFE 213 &FE 1 HEICEDHIH
SHIRZER L TW5 2 &%, BERTER N ESFARBEESEE L TWS
Ba

- 30 (I 15) BLIADBERSE THALELTVELES, &1 BEHRET S
WENERIC LY 15 (X 7) BLNOBEORNRTHS Z LM LERES

TR

el

753

10000AN

AFAUE

B BT

XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'][@xsi:schemaLocation="urn:hl7-
org-v3 |

MCCI_IN200100UV01.xsdI/PORR_IN049016UV[rl/control ActProcessl@classCod
e='CACT[@moodCode="EVN'l/subjecti@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'][@mood Code='"EVN'l/subjectOf2[@typeCode='"SUBJ I [inve
stigationCharacteristic/code[@code='3"[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'1{1]/investigationCharacteristicl@classCode="OBS1[@mood Code="EVN'
Ivaluel@xsi:type="ED')/text()

Jd2.3 ENEsR

E757
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BIYERERIRE, BRABEFMSR SEREREICIVT, BIRNFREDES. ]
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FLRUTIE

HYTDHFAOH 1=REERE #H#+od2 L,




Vot £ IN

FFRE 1=RNEFR

XPath MCCI_IN200100UV01[@ITSVersion="XMI,_1.0'][@xsi:schemalocation="urn-hl7-
orgvd
MCCI_IN200100UV01.xsd'//PORR_IN049016UVIrl/controlActProcessl@classCod
e="CACT"][@mood Code="EVN'}/subject[@typeCode="SUBJ'}[1V/investigationEvent
[@classCode="TNVSTG'][@mood Code="EVN'l/subjectOf2[@typeCode="SUBJ'|[inve
stigationCharacteristic/code[@code='4'[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.12'T)[1]/investigationCharacteristicl@classCode="OBS'l [@mood Code="EVN'
Ivaluel@xsi-type="CE'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.2')/@code

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemal.ocation="urn:hl7-

(codeSystem | org:v3 ] ‘

Version) MCCI_IN200100UV01.xsd')/PORR_IN049016UVIrl/controlActProcessl@classCod

e='"CACT'1[@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN/subjectOf2[@typeCode="SUBJ][inve
stlgatlonCharactenstmfcode [@code—'4][@codeSystem-'z 16.840.1.113883.3.989.5.

1.3.2.1.12 ]][1]/1nvestlgatlonCharacterlstlc[@classCode“'OBS'] [@moodCode="EVN'
Ivaluel@xsi:type="CEl[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.2'1/@

codeSystemVersion
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XPath

/MCCI_IN200100UV01[@ITS Version="XML_1.0'[@xsi:schemaLocation="arn:hl7-
orgivd
MCCI_IN200100UV01.xed')/PORR._IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'l/subject[@type Code='"SUBJ"|[1)/investigationEvent
[@classCode="INVSTG'] [@mood Code="EVN'//component[@typeCode='COMP1[adv
erseEventAssessment][1]/adverseEventAssessment{@classCode='INVSTG'][@mo
odCode="EVN'l/subject1[@typeCode="SBJ'|{1)/primaryRole[@classCode=TNVSBJ'
I/subjectOf2l@typeCode='"SBJ][organizer/codel@code='4'l[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.201[1]/organizer[@classCode='CATEGORY'| [@moocdCode="E
VN'l/component[@typeCode='"COMP'] [substanceAdministration/id] [k]/substance A
dministration[@classCode="SBADM1{@mood Code="EVN'l/consumable[@typeCode
=CSM][1)/instanceOfKind[@classCode="TNST')/kindOfProductl@classCode="MM
AT"[@determinerCode="KIND'l/asManufactured Product[@classCode="MANU'l/su
biectOfl@typeCode="SBJ'l[characteristicl[1)/characteristiclcode[@code='1'l[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.101][1][@classCode="OBS'l[@mood Cod
e="EVN'l/valuel@xsi:type="CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3'/@code

XPath
(codeSystem
Version)

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemaLocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV/[r)/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'l/subject@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG') [@mood Code="EVN'l/component[@typeCode='"COMP'I[adv
erseEventAssessmentl[1)/adverseEventAssessmentl@classCode=TNVSTG [@mo
0dCode="EVN'l/subject1[@typeCode='SBJ[1)/primaryRolel@classCode="TNVSBJ'
I/subjectOf2l@typeCode='"SBJ'l{organizer/code[@code="4'H@codeSystem="'2.16.840.
1.113883.3.989.2.1.1.20'1}[1]/organizerl@classCode="CATEGORY'] [@moodCode="E
VN'/component[@type Code="COMP']{substanceAdministration/id][k)/substanceA
dministration[@classCode="SBADM'] [@mood Code="EVN'")/consumable[@typeCode
='CSM'(1}/instanceOfKind{@classCode="TNST'}/kind OfProduct(@classCode="MM
AT'][@determinerCode='"KIND')/asManufacturedProduct(@classCode=MANU")/su
‘bjectOfl@typeCode="SBJl[characteristic][1)/characteristiclcode[@code='11[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10I[1][@classCode="OBS'][@mood Cod
e='EVN'l/valuel@xsi:type='CE'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3'l/@codeSystemVersion
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XPath

/MCCI_IN200100UV01[@ITSVersion=XML,_1.0'l{@xsi‘schemalocation="urn:hl7-
orgva3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{rl/controlActProcess[@classCod
e="CACT'][@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'] [@moo_dCode='EVN‘]/component[@typeCode='COMP'] [adv
erseEventAssessment}[1}/adverseEventAssessment[@classCode=TNVSTG'I [@mo

| 0dCode="EVN')/subject1[@typeCode="SBJ'1[1l/primaryRole[@classCode=TNVSBJ'

l/subjectOf2l@type Code="SBd'l[organizer/codel@code="4' [@codeSystem="'2.16.840.
1.113883.3.989.2.1.1.201[1]/organizer[@classCode='CATEGORY'll@mood Code="E
VN'/component[@typeCode="COMP'][substanceAdministration/id}[kl/substanceA
dministrationi@classCode='SBADM'][@mood Code="EVN'l/consumable[@typeCode
='CSM'}[1)/instanceOfKind[@classCode="TNST/kindOfProduct(@classCode="MM
AT'][@determinerCode="KIND')/asManufacturedProduct{@classCode="MANU"l/su
bjectOfl@typeCode="SBJ'l[approvall[1l/approvall@classCode="CNTRCT'][@mood
Code="EVN"l/pertinentInformationf@typeCode="PERT'][1]/policy[@classCode="PO
LICY'[@mood Code="EVN/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
4'/@code i

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'1[@xsi‘schemal.ocation="urn‘hl7-
orgiva
MCCI_IN200100UV01.xsd'I/PORR_IN049016UV/[r)/controlActProcess[@classCod
e='"CACT'][@mood Code="EVN'}/subject[@type Code="SUBJ'[1}/investigationfivent
[@classCode="TNVSTG'| [@moodCode="EVN')/component[@typeCode='"COMP'][adv
erseEventAssessmentl[1]/adverseEventAssessmentl@classCode="INVSTG ' [@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'l[1)/primaryRolef@classCode="INVSBJ'
J/subjectOf2[@typeCode="SBJ'l{organizer/codel@code="4" [@codeSystem="2.16.840.
1.113883.3.989.2.1.1.201] [1)/organizer[@classCode='CATEGORY'][@nood Code="E
VN'l/componentl@type Code="COMP'][substanceAdministration/id][k)/substanceA
dministration[@classCode='SBADM'T[@mood Code="EVN'|/consumable[@typeCode
='CSM'][1)/instance OfKind[@classCode="INST'l/kindOfProduct[@classCode="MM




AT'l{@determinerCode="KIND'l/asManufacturedProduct[@classCode="MANU")/su
bjectOf[@typeCode="SBJ'l[approvall[1l/approvall@classCode="CNTRCT'] [@mood
Code="EVN'l/pertinentInformation[@type Code="PERT][1]/policyl@classCode="PO
LICY'll@moodCode="EVN'//code[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.
4'1/@codeSystem Version
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XPath "1 MCCI_IN200100UV01[@ITSVersion="¥XML_1.01[@xsi:schemaLocation="urn:hl7-

(value) org:vs -

MCCI_IN200100UV01.xsd')/PORR_IN049016UVIr)/control ActProcess[@classCod
e="CACT'][@moodCode="EVN'l/subject{@type Code="SUBJ'I[1])/investigationEvent
[@classCode="INVSTG'1[@moodCode="EVN'l/component[@typeCode='"COMP'l [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG'|[@mo
0dCode="EVN'/subject1[@typeCode="SBJ[1]/primaryRole[@classCode=INVSBJ'
VsubjectOf2[@typeCode='SBdJ'llorganizer/code [@code="4'[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'1][1]/organizer[@classCode="CATEGORY'l[@moodCode="E
VN'J/componentl@type Code='COMP'][substanceAdministration/id] [k}/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'l/consumable[@typeCode
='C8M'1{1}/instanceOfKind[@classCode="TNST'/subjectOf[@type Code='SBJ'l/obse
rvationEventlcode[@code="21[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10"
1l[1][@classCode="OBS'l[@mood Code="EVN]/valuel@xsi:type='"CE1[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'l/@code




XPath
(null

flavor)

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi:schemalocation="urn:hl7-
org:v3 ‘

MCCI_IN200100UV01.xsd'l/PORR IN049016UV[r]/controlActProcess[@classCod
e='"CACT'l{@moodCode="EVN'l/subjectl@typeCode="SUBJ")[1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component(@typeCode='"COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'][@mo
odCode="EVN'Vsubject1{@typeCode="SBJ'l[1]/primaryRole[@classCode=INVSBJ'
l/subjectOf2[@typeCode="SBJ'][organizer/code[@code="4'1[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'/{1Vorganizerl@classCode="CATEGORY"l[@mood Code="E
VN')/component[@type Code="COMP'}[substanceAdministration/id][1]/substanceA
dministration[@classCode="SBADM']|[@moodCode="EVN'})/consumable[@typeCode
='CSM[1)/instanceOfKind[@classCode=TNST)/subjectOfl@typeCode='SBJ/obse
rvationEventcode[@code="2][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
N[1[@classCode="OBS' ll@moodCode="EVN"/valuel@xsi: type—'CE'] [@codeSystem

='2.16.840.1.113883.3.989.5.1.3.2.1.5'1/@nullFlavor

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITS Version=XML_1.0'l{@xsi:schemaLocation="urn:hl7-
6rg3v3
MCCI_IN200100UV01.xsd/PORR,_IN049016UV[rl/controlActProcess@classCod
e="CACT'][@moodCode="EVN'l/subject(@typeCode='SUBJ'[1]/investigationEvent
[@classCode="INVSTG'}@mood Code="EVN'l/component(@typeCode='COMP'l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='"INVSTG'l[@mo
odCode="EVN"l/subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode="INVSBJ'
I/subjectOf2[@typeCode='SBJ'] [organizer/code[@code="4}[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'][1)/organizer[@classCode="CATEGORY'][@moodCode='E
VN'Veomponent[@typeCode="COMP'][substanceAdministration/id][k}/substanceA
dministration[@classCode='"SBADM'l[@mood Code="EVN'}/consumable[@typeCode
='CSM'][1)/instanceOfKind[@classCode="INST')/subjectOf[@type Code="SBJ')/obse
rvationEventlcode[@code="21[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10’
JI[1])[@classCode="0BS'N{@mood Code="EVN'l/valuel@xsi:type="CE[@codeSystem
='2.16.840.1.113883.3. 989.5.1.3.2.1.5']/@codeSystemVersmn
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'1[@xsi:schemal.ocation="urn:hl7-
orgv3 '
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr}/controlActProcess(@classCod

‘e='CACT'][@moodCode="EVN'l/subject[@type Code='"SUBJ|[1)/investigationEvent

[@classCode="INVSTG'][@mood Code="EVN'//statusCode/@code

J2.7.2 FETRETBEIAY |k
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VAt £ 10000AN

TR B hERE :

XPath /MCCI_IN200100UVO01[@ITSVersion="XML_1.0'1[@xsi:schemal.ocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr}/controlActProcess[@classCod
e='CACT'll@mood Code="EVN'/subject[@type Code="SUBJ'|[1]/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN')/component[@typeCode="COMP'}[adv
erseEventAssessment][1)/adverseEventAssessment@classCode=TINVSTG'][@mo
odCode="EVN"//component1[@typeCode="COMP'l[observationEvent[code[@code="
31[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'l]I[1)/observationEvent[@c
lassCode="0OBS'l[@moodCode="EVN'|/valuel@xsitype="EDl/text()

J2.8.1 BEMNRAT TS

BIEREFIRE SUTRIMEEFIRE 2BV T RIEF R OBMBRE OBEICRREHT
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XPath /MCCI_IN2001000V01{@ITSVersion=XML,_1.01[@xsi:schemal.ocation="urn:hl7-
org-v3 . :
MCCI_IN200100UV01.xsd'V/PORR_IN049016UVIxl/controlActProcessl@classCod
e='CACT'][@mood Code="EVN'l/subject(@typeCode="SUBJ')1)/investigationEvent
[@classCode="INVSTG'] [@mood Code="EVN'l/subjectOf2[@typeCode="SUBJ"I[inve
stigationCharacteristic/code[@code='5'][@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.12'11[1}/investigationCharacteristic[@classCode="OBS'] [@mood Code="EVN'
Jvaluel@xsitype="CE][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6')/@code

XPath MCCI_IN200100UV01[@ITSVersion=XML,_1.0'l[@xsi:schemaLlocation="urn:hl7-

(codeSystem | org:v3 _ '

Version) MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/control Act Processl@classCod

e='"CACT'][@moodCode="EVN'/subjecti@typeCode="SUBJ'l[1])/investigationEvent




[@classCode="INVSTG'][@moodCode="EVN/subjectOf2[@typeCode='SUBJ][inve
stigationCharacteristic/code[@code='5"[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.127] [1]/investigationCharacteristic[@classCode="OBS'[@moodCode="EVN'
Iivalue [@Xsiitype=j'CE'] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6'l/@

codeSystemVersion

J2.8.2 WERSI O

EHHHHA BIVE I IE B30 45 SO0 AR RE E (Pl e Lialf VL BER SIS OBMRE 21T HEICH
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RO R L
T—sE 10000AN
FEE B HERHE _
XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0"[@xsi:schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcess[@classCod
e='CACT'][@mood Code="EVN']/subjecti@typeCode="SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN'l/subjectOf2[@typeCode='"SUBJ'l[inve
stigationCharacteristic/codef@code="6'l[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.121] [1]/investigationCharacteristic[@classCode='0BS'1[@mood Code="EVN'
Ivaluel@xsi:type="EDI/text(

J2.9 RGEDPERAE

HAWH | BRMEEAREOL ST, FM 24 F 3 B 6 BHNTEER 0306 SEA S BHEEIER M

BEEM [ThEENSICRIBEBES A P71 ) O—HBEIZOWT] ORIE
[ERMAIEICRIBRBETA FZ A2 ICE D RENTEHENELZTEHT 5.
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EESE EfEER 2

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'][@xsi:schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'I/PORR,_IN049016UV/rl/controlActProcess[@classCod
e="CACT'][@moodCode="EVN')/subject[@typeCode="SUBJ'|[1)/investigationEvent
[@classCode=INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment|@classCode='"INVSTG'|[@mo

odCOde"'EVN']/compone nt1l@typeCode='"COMP'][observationEventlcode[@code='
4]{@codesystem '2.16.840.1.113883.3.989.5.1.3.2.1.10'111[1]/observationEvent[@c
lassCode="0OBS'] [@moodCode="EVN']/value[@xsi:type="ED'l/text(

J2.10 SHEDHIR

IHE WA

URBREDRIERE! & ORI OVTEHE

A HEEEOTMICE IS LE LS




T 5,

FEHEGFIE L

F—am 10000AN

FFRE H B EHE ~

XPath MCCI_IN200100UV01[@ITSVersion="XML 1.01[@xsi:schemal.ocation="urn:hl7-
org:v3 '

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcessl@classCod
e='"CACT'|[@moodCode="EVN'l/subject[@typeCode="SUBJ'][1]/investigationEvent
[@classCode=TNVSTG'] [@mood Code="EVN'l/component[@type Code="COMP'l [adv
erseEventAssessment][1)/adverseEventAssessment|@classCode=INVSTG'H@mo
0dCode="EVN'/componentl[@typeCode='COMP'} [observationEvent[code[@code="
5M1@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]]1[1)/observationEvent[@c
lassCode="OBS" [@moodCode="EVN'l/value[@xsi‘type="ED'V/text(

211 ZOMBEHRE

HEHMA FDMBE LD ERFRET S,

FLET L

F— s 10000AN

FEE H RtHE

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01l@xsi:schemal.ocation="urn:hl7-
org-v3

MCCI_IN2001000V01.xsd'l/PORR._IN0490168UVIr)/controlActProcess[@classCod
e='"CACT']1[@moodCode="EVN'/subject[@type Code='"SUBJ'I[1]/investigationEvent
[@classCode="INVSTG'l[@mocdCode="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment{@classCode='INVSTG'][@mo

0dCode="EVN'l/component1[@typeCode="COMP'l{observationEvent[code[@code='
6][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.107]1[1)/observationEventl@c
lassCode="0OBS'l[@moodCode="EVN'l/valuel@xsi:type="ED'l/text(

J2.12 BB SLE

HH i BBRHEREICEH LW BB S RS ETT,

R BREHEREZELZRE L TWeWEAIZE, BREEHEFICER LT AEE=—F
FRETLZ L,

F—aR 70AN
B B ECH;

Erar

10




XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0}[@xsi:schemaLocation="urn:hl7-
org-v3 7

MCCI_IN200100UV01.xsd'//PORR_IN049016UVIr)/controlActProcess[@classCod
e='CACT'{@mood Code="EVN')/subjectl@typeCode='SUBJ'|[1)/investigationEvent

| [@classCode="TNVSTG'I[@moodCode="EVN'l/component[@typeCode="COMP'][adv

erseEventAssessment)[1]/adverseEventAssessment{@classCode='INVSTG' [@mo
odCode='"EVN'l/subject1{@typeCode="SBJ'][1}/primaryRole[@classCode="INVSBJ'

| I/subjectOf2[@typeCode="SBJ'l[organizer/code[@code='4' [@codeSystem='2.16.840.

1.113883.3.989.2.1.1.20}[1)/organizer[@classCode='"CATEGORY'l [@mocdCode="E
VN'l/component[@type Code="COMP'l[substanceAdministration/idl/substanceAd
ministration[@classCode='"SBADM'l[@mood Code="EVN'l|consumable/instanceOf
Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/original Te
xt][1]/consumablel@type Code="CSM'1[1])/instance OfKind[@classCode="INST'V/kin
dOfProductl@classCode="MMAT'][@determinerCode="KIND')/asSpecialized Kind[
@classCode="GEN'l[1}/generalizedMaterialKind[@classCode='MAT'] [@determiner
Code="KIND'l/code/originalText/text(

J2.13.r.1 EHEH

H AR BERZ LI, BRFEREDBHEIEREZTERT 5,

R IE BRERAEBREZRH L TORWERIZR, ERe+52 8,

7F—#8 | 2N

FAE FHRL

XPath /MCCI_IN200100UVO01[@ITSVersion="XML,_1.0'{@xsi:schemal.ocation="urn:hl7-
orgv3 '

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIx]/controlActProcessl@classCod
e='"CACT'][@mood Code="EVN')/subject[@typeCode='SUBJ'l[1]/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN"//component[@typeCode="COMP'1[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'[@mo

0dCode="EVN'//subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode=TNVSBJ'
V/subjectOf2l@typeCode="SBJ "] [organizer/codel@code='1[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'l][r)/organizerf@classCode='"CATEGORY' [@mood Code
="EVN'l/component[@typeCode='"COMP'l/observation[@classCode="OBS'[@mood

Code="EVN'][code[@code="7"][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'

Nivaluel@xsitype=TINTl/@value

J2.13.r.2 X&REKH

5 B #tEA BRI LI, MBRREREFCLH SN TV IHRKBEREHT D,
LTI BREFEBHELZEHLTVAHEICE., BHEERT 2B TE D, 2B, BR

FHEIRE &R L OV RV A ICH, IR BB R L OV D RRE I & el

T35k, A—ORBRERHEE TORROREERSL T 5B, L~ TEY

11




S>TRETHZ &,

F—

1000AN

HE

Rzt

XPath

/MCCI_IN200100UV01[@ITSVersion="XML._1.0'1[@xsi:schemal.ocation="urn:hl7-
org-vd
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e="CACTl[@moodCode="EVN'l/subject@typeCode='"SUBJ'[1]/investigationEvent
[@classCode=TNVSTG'][@moodCode="EVNl/componentl@type Code='"COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=INVSTG][@mo
odCode="EVN/subject1[@typeCode='SBJ] [1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@type Code="SBJ'] [organizer/codel@code="11[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'1l[r)/organizer[@classCode="CATEGORY'l [@mood Code
=EVN'l/component[@type Code="COMP')/observation[@classCode="OBS'][@mood
Code="EVN'l[code[@code="8[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
llvaluel@xsi:type="ED"/text(

J2.13.r3 BHZM

H B A

BERHBEEFICEH SN TV IRREEEZTRT,

B wapia

BRAMEBHELZRH L TWIHEITE, RzaBT L LM TES, 2k, Bk
FHEBELZRE L TWaWEEIE, JEs X V@t aa— FMEZBEIRL (REfT5
P

F—5E

IN

HAEE

BHE 5 B

XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemalocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'J/PORR_IN049016UV[r]/controlActProcess[@classCod
e='"CACT'|[@mood Code="EVN/subject[@typeCode='SUBJ'][1]/investigationEvent
[@classCode=INVSTG [ [@mood Code="EVN'l/component[@typeCode='COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'H[@mo
odCode="EVN'l/subject1[@typeCode="SBJ'l[1)/primaryRolel@classCode=TNVSBJ'
VsubjectOf2[@typeCode="SBJl[organizer/code[@code="1[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'1l{x)/organizer[@classCode="CATEGORY') [@mood Code
='EVN'l/component[@typeCode='COMP/observation[@classCode="OBS' [@mood
Code="EVN'[code[@code="9'1[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
l/valuel@xsi‘type='CE[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.71/@cod

e




XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion="XML_1.07{@xsi:schemaLocation="urn:hl7-
org:v3d

MCCI_IN200100UV01.xsd'l/PORR_IN049016 UV x)/controlActProcess[@classCod
e="CACT][@mood Code="EVN'/subjectl@typeCode="SUBJ'[{1}investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'l[adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode="TNVSTG'][@mo
odCode="EVN'l/subject 1[@typeCode="SBJ'l[1]/primaryRole[@classCode=TNVSBJ'
V/subjectOf2[@typeCode="SBJ'[organizer/codel@code="11[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'll[x)/organizer{@classCode="CATEGORY'l[@mood Code
="EVN'l/component{@type Code="COMP'l/observation[@classCode='0BS'l[@maod
Code="EVN'l[code[@code="9'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
Jl/valuel@xsi:type="CETl@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.7'/@cod

eSystemVersion

J2.18.r4 R DIEHI DR I

HE WA

LR EOIRRRS ERETOEREOFELTT,

LTI

a— FE T2 < Boolean THEMENR W DESITMtrue=F | . W2 EE X [false=
O BBIRTBZ L,

Boolean 10A

true=%
false="4E

/MCCI_IN200100UV01[@ITSVersion="XML_1.0[@xsi:schemaLocation="urn:h17-
org-v3 :

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcess(@classCod
e='CACT'l[@mood Code="EVN'l/subjectl@typeCode='SUBJ" [l]linvestigationEvent

| [@classCode="INVSTG'I[@moodCode="EVN'l/component[@type Code='COMP'][adv

erseBventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG'{@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'l[1)/primaryRole[@classCode="INVSBJ'
VsubjectOf2l@typeCode="SBJ"l[organizer/code[@code="11[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'l[r)/organizer[@classCode='"CATEGORY'] [@mood Code
='EVN'l/component[@typeCode='"COMP']/observation[@classCode="OBS'l[@mood
Code="EVN'l[code[@code="101[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1
0'li/valuel@xsi:type="BL)/@value

J2.141 FH0 -

BEAn

IR B

BROGE . AFREOREASNBREFREEN L FRTE RV LOTHEEEIT
KA, EOMDBEIIEI L T 5, E2BIEE D E.i.2.1b BIfEAH /HEESR (MedDRA
=) LEESIT LI, BHEREICRM - BEME 5T 5, (FRIEOH R,
ABHBED 18, ZTOMOIGREIEASRECEL COREFH) © (1) 22H
THIES)

i3




a— i BIBIR L CRET 5 = &,

1IN

1=>3k&H
2=FF4n

/MCCI_IN200100UV01[@ITS Version="XML_1.0"[@xsi:schemaLocation="urn:hl7-
org-v3 '
MCCI_IN200100UV01.xsd'/PORR_IN049016UVirl/controlActProcess[@classCod
e='CACT'[[@moodCode="EVN'l/subject[@typeCode="SUBJ'}[1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component(@typeCode="COMP'][adv
erseEventAssessmentl{1]/adverseEventAssessment[@classCode='INVSTG'][@mo
odCode="EVN')/subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode=TNVSBJ'
V/subjectOf2[@typeCode="SBJ'[observationlid][code[@code="29)[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19T1]il/observation[@classCode="OBS' [@mood Code=
"EVN'Y/outboundRelationship2[@typeCode="PERT'] [observation/code[@code="11'][
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'] [ 1)/observation[@classCode=
'OBS'l[@moodCode="EVN'l/value[@xsi:type='CE'l[@codeSystem="2.16.840.1.11388
3.3.989.5.1.3.2.1.8'/@code

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd')/PORR_IN049016UV][r]/control ActProcess(@classCod
e='CACT"][@moodCode="EVN'l/subj eét[@typeCode='SUBJ N[1)/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessmentl{1]/adverseEventAssessment[@classCode='INVSTG'[@mo
o0dCode="EVN'l/subject1[@typeCode="SBJ'|[1]/primaryRole[@classCode="INVSBJ'
I/subjectOf2[@typeCode="SBdJ1[observationlid][code[@code='29'[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19']1][i}/observation@classCode="OBS'l[@mood Code=
"EVN'l/outboundRelationship 2[@typeCode="PERT'l[observation/code[@code="11'][
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'}/[1]/observation[@classCode=
'OBS'][@mood Code="EVN'l/value[@xsi:type='"CE'l[@codeSystem="2.16.840.1.11388
3.3.989.5.1.3.2.1.8/@codeSystem Version

J2.15.1.

AFE

H H &L

B R O EEEREIC BT, AR CHENENAR STV BEA.
AREERT,

FL T

m—- N GETR 2 — FE@RLUTRET 52 L.
MAREDOHES . BEB/XMFEEOFRIL, RREEFFOELZTLRTL L,
e, NEHBEREOHS. HEZToLEEZRE&EHTLIZ &,

EEREIZENT, HEEORHNS B L - TH—OEER R ENEEE, 1 2O
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L LTHELTELR 2R, TOBICIIAREY 1 BBICEHL., 89 ELER
ALT, ZHBURICZOMOARERLEHT 2 L,

BB, A—OiBEMUE TR Sh-BAIIE., YRARECSWTENSRET S,
OBICIL, BESRE D% ICET T YRS DR EELRH T3 2 L, YHRED
AREBEREHHESIHRVELEFIETE L,

7B, FEOEBENERELRDIEEIE. BELTH L,

T — & B 2A
HFAE IS0 3166-1 77 7-2DE=—F, EU
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemal.ocation="urn:hl7-

orgv3d
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'l/subject[@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG[@mood Code="EVN'lreferencel@typeCode="REFR] [docu
ment/code[@code="21[@codeSystem="'2.16.840.1.113883.3.989.2.1.1.27{x]/docum
ent[@classCode="DOC'l[@moodCode="EVN'l/participation[@type Code="AUTVassi
gnedEntityl@classCode='"ASSIGNED'I/representedOrganization[@classCode="OR
G'll@determiner Code=INSTANCE')/asLocatedEntityl@classCode="LOCE/locatio
n[@classCode="COUNTRY'][@determinerCode=INSTANCE'V/codel@codeSystem=
'1.0.3166.1.2.2'1/@code

J2.16 WMEAFOER

MERERTSEEBEREIZBVT, HIEREIAEICK T 2BEORE (H.1))

HEMHA
. IR LIENEOBEREAHBITRT,
EY ek 2L
Vel i 500AN
FFEE BB
XPath /MCCI_IN200100UV01{@ITS Version="XML_1.0'l[@xsi:schemal.ocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@clagsCod
e="CACT"][@mood Code="EVN'l/subject[@typeCode="SUBJ'I[1)/investigationEvent
[@classCode=INVSTG1[@mood Code='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment{@classCode=TINVSTG'[@mo

0dCode="EVN'l/component1[@typeCode='COMP'l[observationEventlcode[@code="
12'l[@codeSystem="2.16:840.1.113883.3.989.5.1.3.2.1.10'1]l[1)/observationEvent[@
classCode="OBS'|[@mood Code='"EVN'l/valuel@xsi:type="ED'/text()

J2.17r RE/HEOLSE

15 B 7R Hams gt ., BERER P id TIEERRER 5] OlETRY,
so#EtFk 2L
F— & A IN




FAE 1=FRRAR TR
2=3ERRIRAER /BT

XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'[@xsi:schemalocation="urn:hl7-
orgv3 ' ' )
MCCI_IN200100UV01.xsd'/PORR_IN049016UVI[r)/controlActProcess[@classCod
e='CACT"][@moodCode="EVN'l/subjectf@typeCode="SUBJ][1)/investigationEvent
[@classCode=INVSTG'l[@mood Code="EVN')/referencel@type Code=REFR'[docu
ment/codel@code="2"l[@codeSystem='2.16.840.1.113883.3.989.2.1.1.271][x)/docum
ent[@classCode=DOC][@moodCode="EVN'l/title/text(

J2.18.1 ZEHEMESA

H B A ICSR D= EE OMBAETT,

B E ML ITBOE A ER LERBISE S L T 5,

7= 100AN

FEM B B 50k

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0[@xsi‘schemalocation="urn:hl7-
org:v3 |
MCCI_IN200100UV01.xsdl/PORR_IN049016UVI[x)/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'/subject[@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="TNVSTG'] [@moodCodez'EVN']/subjethf 1[@typeCode="SUBJ'Hcont
rolActEvent/primaryInformationRecipient][1]/controlActEvent(@classCode='CAC
T'H@moodCode="EVN'l/primaryInformationRecipientl@typeCode="PRCP")/assign
edEntityl@classCode='"ASSIGNED'/representedOrganizationf@classCode="ORG']
[@determinerCode="INSTANCE/name/text( |

J2.18.2 ZIEEWMAE

HEB A ICSR ODZFEDEEZ 7T,

Fod T HERLRBT S,

F—4&% | 100AN

FFEE B B30k

XPath /MCCI_IN200100UV01 [@ITSVersion="XML,_1.0'l[@xsi:schemalocation="urn:h17-
orgivd

MCCI_IN200100UV01.xsd'//PORR_IN049016UVIrl/controlActProcess@classCod
e='CACT'] [@moodCode="EVN'l/subjectl@typeCode="SUBJ'] [1]/investigationEvent
[@classCode=TNVSTG'l[@moodCode="EVN'}/subjectOf 1 [@typeCode="SUBJI'] [cont
rolActEvent/primaryInformationRecipient][1}/controlActEvent[@classCode="CAC
T [@moodCode=fEVN']/primaryInformationRecipient[@typeCodeZ'PRCP'}/ assign
edEntity[@classCode="ASSIGNEDV/assignedPerson[@classCode="PSN'][@determ
inerCode="INSTANCEI/name/prefix[11/text0

J2.18.3 Z{EFH M
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HEHHA ICSR DEEH DkEEZ T,

L Wk BEOBREROEETEHT 5,

F—aH 100AN

FAE =Rk

XPath /MCCI_INZOO 1000V01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-

’ orgv3 J

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcess{@classCod
e='CACT"] [@ﬁloodCodez‘EVN'}/subject[@typeCode='SUBJ Tl1l/investigationEvent
[@classCode="TNVSTG'][@mood Code="EVN'//subjectOf1[@typeCode="SUBJ 'l [cont
rolActEvent/primaryInformationRecipient][1)/controlActEvent[@classCode="CAC
T'][@mood Code="EVN')/primaryInformationRecipient[@typeCode='"PRCP')/assign
edEntityl@classCode="ASSIGNED')/assignedPersonl@classCode="PSN'l[@determ |
inerCode='"INSTANCE'l/name/family[1]}/text()

J2.18.4 ZiEH4 ,

HAHH | ICSR ORfEHEDLETT,

LT | BEOBEBEROLFTERT 5.

7—4&# | 100AN

FrAfE H o _

XPath /MCCI_IN200100UVO01{@ITSVersion="XML_1.0"][@xsi:schemaLocation="urn:hl7-
orgiv3
MCCI_IN200100UV01.xsd T/PORR_IN049016UV[rl/control ActProcessl@classCod
e='CACT"{[@moodCode="EVN/subjectl@typeCode="SUBJ'1[1)/investigationEvent
[@classCode="TNVSTG'][@mood Code="EVN'l/subjectOf1[@typeCode='SUBJ'l[cont
rolActEvent/primaryInformationRe éipient] [1)/controlActEvent[@classCode="CAC
T'][@mood Code="EVN'l/primaryInformationRecipient[@typeCode="PRCP/assign
edEntityl@classCode='ASSIGNED V/assignedPerson[@classCode="PSN'l[@determ
inerCode="TNSTANCE')/name/given[1}/text()

J2.19 fi% 1 |

HE A FHEHE

FLEUH IS L

7—#% | 10000AN

FEE E¥zzkra

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.07[@xsi:schemaLocation="urn:hl7-
orgiva
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT']l@mood Code="EVN/subjectl@typeCode="SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN'}/component[@typeCode="COMP"][adv
erseEventAssessment][1]l/adverseEventAssessment[@classCode=INVSTG'H[@mo




0dCode="EVN'l/component][@type Code='"COMP'][observationEventlcode[@code="
13[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.107]][1}/observationEvent(@
classCode="OBS"l[@mood Code=EVN'/value[@xsi:type="ED'/text(

J2.20 f#% 2

TH B 71 A FHER

ECHEHIE 7L

T—5 10000AN

FFEE H B

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'l[@xsi:schemal.ocation="urn:hl7-
org:v3 |
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcess[@classCod
e="CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="TNVSTG'l[@moodCode="EVN'l/component[@type Code="COMP Nladv
erseEventAssessment][1]/adverseEventAssessment[@classCode="TNVSTG' [@mo
0dCode="EVN')/component1 [@typeCode=‘COMP‘] [observationEvent[code[@code='
147[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]][1}//observationEvent[@
classCode="OBS'l[@mood Code=EVN'l/value[@xsi:type="EDVtext(

J2.21 #%3 “

LRkl FHEE

FRET IR 7L

T —H A 10000AN

FrEfE A Wik

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'[@xsi:schemalocation="urn:hi7-
orgv3 S -
MCCI_IN200100UV01.xsd'//PORR_IN049016UVirl/controlActProcessl@classCod
e="CACT'][@moodCode="EVNl/subjectl@typeCode="SUBJ'l[1}/investigationEvent
[@classCode="TNVSTG'[@mood Code="EVN/component[@typeCode='"COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG[@mo
0dCode="EVN')/component1[@typeCode="COMP'] [observationEvent[code[@code="
15[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10'111[1]/observationEvent[@
classCode="OBS'l[@moodCode="EVN'l/value[@xsi:type="ED'V/text0

J2.22 &4 '

TH H R A FHER

oHTTE 2L

F—4#% | 10000AN

FAE B hRoHk
/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'}[@xsi:schemalocation="urn:hl7-

XPath

org'v3

18




MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIx)/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'l/subjectl@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG [@moodCode='EVN'l/component[@typeCode='"COMP"] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='TNVSTG'][@mo

0dCode="EVN"/component1[@typeCode="COMP'][observationEvent[code[@code="

161[@codeSystem='2.16.840.1. 113883.3.989.5.1.3.2.1.101]1[1)/observationEvent[@
classCode='"OBS'} [@moodCode=‘EVN']lvalue [@xsi:type="ED'l/text(
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